AIGNEP

(o

\\

,_”






AIGNEP



FKM

p. 14

37

29

P.

26

p.

p. 25




NSF/ANSI51-61-372

p. 23

p.18

p. 17

p. 16

AIGNEP




- AISI301
© - NBR

. -0.99 bar (-0.099 MPa)
: 20 bar (2.0 MPa)

- -20°C
. +80°C

6 11 12 PE

PTFE FEP
*PU 98

- 1SO228-A
- ISO R/262

AIGNEP

*PU

- ISO7.1 BS21 DIN2999

Bl
; 1907/2006 2011/65/CE 97/B3/CE

150 SILICON

REACH + (PED) 14743:2004 FREE
NPT

BSPT BSPP
[ —
v

NPT ISO7 1ISO7 1SO 228

NPTF BSPP BSPT BSP

PT PF

60 55 55 55

B



50000

(JAIGNEP

50000 50010 50020 50030

4-1/8 6-1/2 10-1/2 3-M5 4-M7x1 6-1/4 12-1/4 10-1/4
4-1/4 8-1/8 12-1/4 4-M5 6- M5 8-1/8 12-3/8 10-3/8
5-1/8 8-1/4 12-3/8 4-1/8 6-1/8 8-1/4 12-1/2 10-1/2
5-1/4 8-3/8 12-1/2 14-3/8 12-3/8
6-1/8 8-1/2 14-3/8 14-1/2 12-172
6-1/4 10-1/4 14-1/2 6-M12x1
6-3/8 10-3/8 6-M12x125
6-M12x1.5
8-M12x15
50040 50050 50106
10 3 6 12 4-M5 6-1/8 10-1/4 4-1/8 8-1/8
10 4 8 14 4-1/8 6-1/4 10-3/8 4-1/4 8-1/4
12 5 10 5-M5 8-1/8 12-1/4 6-1/8 8-3/8
14 5-1/8 8-1/4 12-3/8 6-1/4
50111 50116 50121 50126
-
e 7 ‘*
4-1/8 8-1/4 3-M5 8-1/8 12-1/2 10-1/4 4-1/8 6-1/4 10-1/4
4-1/4 8-3/8 4-M5 8-1/4 14-3/8 10-3/8 4-1/4 8-1/8 10-3/8
5-1/8 8-1/2 4-1/8 8-3/8 14-1/2 5-1/8 8-1/4
6-1/8 10-1/4 4-1/4 8-1/2 6-M12x1 6-1/8 8-3/8
6-1/4 10-3/8 5-M5 10-1/4 6-M12x125
8-1/8 10-1/2 5-1/8 10-3/8 6-M12x15
6-M5 10-1/2 8-M12x15
6-1/8 12-1/4
6-1/4 12-3/8
50130 50200 50211 50216
T T T
3 6 4-M>5 8-1/8 12-1/4 4-1/8 8-1/4 12-3/8 3-M5 6-1/4 12-3/8
4 8 4-1/8 8-1/4 12-3/8 4-1/4 8-3/8 12-1/2 4-M5 8-1/8 12-1/2
5 10 5-1/8 10-1/4 5-1/8 8-1/2 14-3/8 4-1/8 8-1/4 14-3/8
6-1/8 10-3/8 6-1/8 10-1/4 14-1/2 4-1/4 8-3/8 14-1/2
6-1/4 10-3/8 5-M5 8-1/2 6-M12x1
8-1/8 10-1/2 5-1/8 10-1/4 6-M12x1.25
6-M5 10-3/8 6-M12x1.5
6-1/8 10-1/2
50223 50226 50230 50310
T T T Y
3-M5 6-1/8 10-3/8 3 6 12 3 5 8
4-M5 6-1/4 10-1/2 4 8 14 4 6 10
4-1/8 8-1/8 12-3/8 5 10
4-1/4 8-1/4 12-1/2
5-M5 8-3/8 6-M12x1
5-1/8 8-1/2 6-M12x1.25
6-M5 10-1/4 6-M12x15




(-JAIGNEP 50000
50500 50510 50550 50560
T T
3-M5 5-1/8 8-1/4 4-M5 5-1/8 6-1/4 4-1/8 6-1/4 4-1/8 6-1/4
3-M6 5-1/4 8-3/8 4-M6 5-1/4 8-1/8 5-1/8 8-1/8 5-1/8 8-1/8
4-M5 6-M5 10-1/4 4-1/8 6-1/8 8-1/4 5-1/4 8-1/4 5-1/4 8-1/4
4-M6 6-M6 10-3/8 6-1/8 6-1/8
4-1/8 6-1/8 12-3/8
5-M5 6-1/4 12-1/2
5-M6 8-1/8 14-1/2
51410 51420 51430 51440
M5 3/8 1/8 1/2 1/8 1/8-1/8
M6 1/2 1/4 M12x1.5 1/4 1/4-1/4
1/8 M12x1.5 3/8 3/8 3/8-3/8
1/4 1/2
50600 50610 50625 50700
4 - M5 6-1/8 10-1/4 3 6 12 4 8 4-3 8-4 10-8
4-1/8 6-1/4 10-3/8 4 8 14 5 10 5-4 8-6 12-8
5-M5 8-1/8 12-1/4 5 10 6 12 6-4 10-4 12-10
5-1/8 8-1/4 12-3/8 6-5 10-6
5-1/4 8-3/8 14-1/2
6-M5 10-1/8
55800 55801 55802 50900
5
,’ﬁ
y |'-
3 8 3 8 3 8 4-1/8
4 10 4 10 4 10 6-1/8
5 12 5 12 5 12 6-1/4
6 6 6 8-1/4
50980 50990 50006
4-(5/32) 10-(3/8) 1/8
5 12-(1/2) 1/4
6-(1/4) 14 3/8
8-(5/16) 1/2




AIGNEP

1907/2006 2011/65/CE 97/23/CE 150 SILICON
REACH + (PED) 14743:2004 FREE
by
E . | i § 6 11 12 PE *PU
¢+ AISI301 " 'PTFE FEP
: *PU 98
- NBR
Bar : %
U . p.18
\\ - -0.99 bar (-0.099 MPa) :
_ © 20 bar (2.0 MPa) P - ISO7.1 BS21 DIN2999
- 1SO228-A
- ISO R/262
: :
m -20 OC ="
i +80°C
55000 55010 50010N 50020N
4-1/8 8-1/8 12-3/8 4-1/8 8-1/8 3-M5 4-M3 6-3/8 12-3/8
4-1/4 8-1/4 12-1/2 6-1/8 8-1/4 4-M5 4-M5 6-1/2 12-1/2
5-1/8 8-3/8 14-3/8 6-1/4 4-M7x1 4-1/8 8-1/8 14-3/8
5-1/4 8-1/2 14-1/2 6-M5 4-1/4 8-1/4 14-1/2
6-1/8 10-1/4 5- M5 8-3/8 6- M12x1
6-1/4 10-3/8 5-1/8 8-1/2  6-M12x1.25
6-3/8 10-1/2 5-1/4 0-1/4 M12x1.5
6-1/2 12-1/4 6- M5 10-3/8  8-MI2x15
5-1/8 0-172
6-1/4 2-1/4




55000

55111

50050N

55040

50030N

(JAIGNEP

SO N O o~y NN © O < O 0 O
R - == a = S ) -
] [ Al ] Co ! Co 0 0o !
NN NS S =d O NN NS oo
LIQLI QY ®© O O LIXIT® IIXQI
P R S F e » [ e i )
\ v v v oS ] C \ L ]
0 00 W WO OO R 0 0 W O O 00O OO
N NN <~ O O [Falce ol Y O & 0 © I © =
T o N ¥ oo . T . T ~
< <1 O O OO e} <~ <0 0 o < WO 0 ®
< ~N (o] m
- - o (o]
n n 10 n n
n wn < wn wn
== o N < NN SO NN 0 O N
X T > & B =S LT
N . | U | o 0 L
== oo = O NN A NN NS S &=
- —_———,— e e, e e - o .
o~ < 0 O
. 0 © 0 O ~ O % © SOTOTON O N o
F88 0O S =B = B ==
S 2R © oo L | 0 | 0 o &S
=== = w0 0O O WO 0 Wwo OO =
; ; = = = == ; <
\O o0 O o N
— — — < 1 O o W 0 F 0 s} ) wn © — <t © ©
X X% IR SIS S>> ) )
O c o T T - - -
=== < 10 O © ) o ) C <~ © o
=== o o o O - 0\ N ' '
=== < © © < ) LN O ©
T T m N - ™M < \© ©
™ < - - (o) (o]
n n in — n
n in n n
N O < N © © o o~ 0O R
- T === T S s ATy
o~ [ ! I o 00 O N
=~ < o
L — \O 00 0 = .Q NN < 0
— = = - < <
<+ © © 0 [Fajceli¥s] <+ O © T OTOQT 0O OO
. - === ! ' P e R ST T T
0 oo o o o < © o ) 0 ! - EXa
- < < © W WO OO 0 o T
== = - o
< 1 O <+ © = © < < 1N 0 O
O - - — M
o~ O - m
- - (o] (o]
n n 0 n = n
n n o n n
O N O AT O NN O NN <~ © 0o o NN
A== B I T - = Nl
O O NN OO O NN wm.\u NN N
IXIXY LIXLIXY ~ 0 O IXIXY
= = =™ — S e M= = =™ = ! T = = =™ —
' o [ o O © ' T
\O 00 00 0 O \O O O \O 0 00 O 0 o O 0 0 W O
N0 T O W N = 0O F VO W < \© © LN O T N W
=S=>=== c=X==2=2== ! ' ] P -
) C T TN . < < o o © ) oo
<+ < < 1n O O =< T <t n O <t <t < VN
- = - N -] N
- - N - - (5]
a N 1 n o wn —
wn wn n < wn

10-1/2

6-M5




(JAIGNEP

55000

55240

55310

55320

10-10 4-4 8-8 10-8 4-4 8-6 10-10 4-1/8 8-1/8 10-3/
10-12 6-6 8-6 12-12 6-4 8-8 12-12 4-1/4 8-1/4 10-1/2
12-12 6-4 10-10 12-8 6-6 10-8 6-1/8 8-3/8 12-3/8
6-1/4 10-1/4 12-1/2
55325 55330 55340 55345
Y Y 5 Y 5 Y 5
4-M5 6-1/4 10-3/8 4-4 4-1/8 4-1/8
4-1/8 8-1/8 10-1/2 4-6 4-1/4 4-1/4
4-1/4 8-1/4 12-3/8 6-6 6-1/8 6-1/8
6-M5 8-3/8 12-1/2 6-8 6-1/4 6-1/4
6-1/8 10-1/4
55350 55360 55365 55500
T3 T T 5
10-6 10-8-1/4 6-4-1/8 8-6-1/8 10-8-1/4 8-1/4
8-4 10-8 10-8-3/8 6-4-1/4 8-6-1/4 10-8-3/8 8-3/8
8-6 8-4-1/8 10-6-1/4 10-3/8
8-4-1/4 10-6-3/8 12-3/8
12-1/2
55510 55520 G 5410 55420
T Y
\# 3
4-M5 5-1/4 8-3/8 M5 1/2
4-1/8 6-1/8 8-1/4 10-3/8 M6 M12x1.5
5-1/8 6-1/4 1/8
1/4
55430 55440 50600
‘;rﬁ’ﬁ S -
/8 1/8-1/8 4 - M5 6-1/8 12
1/4 1/4-1/4 4-1/8 6-1/4 14
3/8 3/8-3/8 5-M5 8-1/8
/2 5-1/8 8-1/4
5-1/4 8-3/8
6-M5 10-1/8
50625 55625 @ :50700N 55700
4 8 4 10 4-3 8-4 10-8 6-4 10-8 14-8
5 10 6 12 5-4 8-6 12-8 8-4 12-6 14-10
6 12 8 14 6-4 10-4 12-10 8-6 12-8 14-12
6-5 10-6 0-6 12-10




55000

(JAIGNEP

55705 55800N 55801 55802
u
4-6 8-10 3 6 3 6 10 3 6 10
6-8 10-12 -/} 8 4 8 12 4} 8 12
50900N 50980 50990 50006
5
\ (-
4-1/8 6-1/4 4-(5/32) 8-(5/16) 2 1/ 3/8
6-1/8 8-1/4 5 10-(3/8) 1/4 1/2
6-(1/4)
56000" .
56010 56020 56040 56050
v v '
4-M5 2-M3 4-M3 6- 4-4 4
4-M7 2-M5 4-M5 6-1 6-6 6
6-M5 3-M3 4-M7 6- 8-6
6-M7 3-M5 4-1/8 6-
56115 56130 56215 56225
T T
III”' !IIII!;EE;!II ! y
| L
2-M3 4-M5 6-1/8 2-M3 2-M3
2-M5 4-1/8 6-1/4 -M5 2-M5
3-M3 4-1/4 -M3 3-M3
3-M5 6-M5 - M5 3-M5
56230 56550 56900 56910
T
&)
‘IIIII'IlllII' * !iiIIIIIII’ llai llﬁi
x
2 4 3-M3 4-M5 4-M5
3 6 3-M5 M5 6-M5
56920 56935 56945 56955

4-M5
6-M5

4-M5
6-Ms

h
4-M5
6-M5

-1/8 4-M5 4-1/8
6-1/8 6-M5 6-1/8

10



AIGNEP

1907/2006 2011/65/CE 97/23/CE 150 SILICON
REACH Y (PED) 14743:2004 FREE
LB
EPDM
. . AISI301 »
© . NBR EPDM P EPDM
- - 0.99 bar (-0.099 MPa) m
i 20 bar (2.0 MPa) ; 6 11 12 PE *PU
" PTFE FEP
*PU 98

m-zooc E.“ P.18
: +80°C .

- ISO7.1 BS21 DIN2999

. EPDM: . - 150228-A
L _40°C . - ISOR/262
i +130°C
57000 57010 57010 57020
R
4(5/32)-1/8 10-1/2 4-M5 4-M5 6-1/2 12-3/8
4(5/32)-1/4 12-1/4 4-M7x1 4-1/8 8-1/8 12-1/2
6-1/8 12-3/8 6-M5 4-1/4 8-1/4 14-3/8
6-1/4 12-1/2 5-M5 8-3/8 14-1/2
6-3/8 14-3/8 5-1/8 8-1/2 6-M12x1
6-1/2 14-1/2 6-M5 10-1/4 6 - M12x1.25
6-1/8 10-3/8 6-M12x1.5
6-1/4 10-1/2 8-M12x1.5
6-3/8 12-1/4

11



{9JAIGNEP 57000
57030 57040 57050 57060 o
4-Ms 6-1/4 10-3/8 4(5/32) 8-6 12-10 4(5/32)- M12x1 8(5/16) - M16x1 4(5/32) - M12x1 10 - M20x1
4-1/8 8-1/8 10-1/2 5 8(5/16) 12 5 - M14x] 10 - M20x1 6- M14x1 12- M22x1
4-1/4 8-1/4 12-3/8 6-4 10-8 14 6-M14x]1 12-M22x1 8(5/16) - M16x1 14- M23x1
5-1/8 8-3/8 12-172 6 10
6-1/8 10-1/4
57100 57106 57111 57116
_le. *
z -
4-Ms 6-1/8 10-1/4 4-1/8 6-1/4  4(532)-1/8  8(5/16)-1/4 10-1/2 4-Ms 8-1/8 12-3/8
4-1/8 6-1/4 10-3/8 4-1/4 8-1/8  4(5/32)-1/4 8(5/16)-3/8 12-3/8 4-1/8 8-1/4 12-1/2
5-Ms 8-1/8 12-1/4 6-1/8 8-1/4 6-1/8  8(5/16)-1/2 12-172 4-1/4 8-3/8 14-3/8
5-1/8 8-1/4 12-3/8 6-1/4 10-1/4 14-3/8 5-Ms 8-1/2 14-1/2
8(5/16)-1/8 10-3/8 14-1/2 5-1/8 10-1/4 6-M12x1
6-Ms5 10-3/8  6-M12x1.25
6-1/8 10-12  6-MIX15
6-1/4 12-1/4  8-MI2X15
57126 57130 57200 57211
T T
i
4-1/8 6-1/4 10-1/4 4(5/32) 10 4-M5 8-1/8 12-1/4 | 4(/32)-1/8  8(5/16)-1/8 10-3/8
4-1/4 8-1/8 10-3/8 5 12 4-1/8 8-1/4 12-3/8 | 4(5/32)-1/4  8(5/16)-1/4 10-1/2
5-1/8 8-1/4 6 14 5-1/8 10-1/4 6-1/8  8(5/16)-3/8 12-3/8
6-1/8 8-3/8 8(5/16) 6-1/8 10-3/8 6-1/4 10-1/4 12-1/2
57216 57223 57226 57230
T T T T
‘.r'*
4-Ms 8-1/8 12-12  4(5/32)-1/8  8(5/16)-1/8 10-3/8 4-Ms 6-1/4 10-1/2 4(5/32) 10
4-1/8 8-1/4 14-3/8 | 4(5/32)-1/4  8(5/16)-1/4 10-1/2 4-1/8 8-1/8 12-3/8 5 12
4-1/4 8-3/8 14-172 6-1/8  8(5/16)-3/8 12-3/8 4-1/4 8-1/4 12-172 6 14
5-M5 8-1/2 6-M12x1 6-1/4 10-1/4 12-1/2 5-M5 8-3/8 6-M12x1 8(5/16)
5-1/8 10-1/4  6-M12x1.25 5-1/8 8-1/2  6-MI12x1.25
6-Ms 10-3/8  6-MI2x15 6-Ms 10-1/4  6-MI2x15
6-1/8 10-1/2 6-1/8 10-3/8
6-1/4 12-3/8
57310 57500 57550
Y -
4(5/32) 8(5/16) 4(5/32) - M5(10/32) 6-1/4 4(5/32)- M5 5-1/8 6-1/4 4-Ms 6-Ms 8-3/8
5 10 4-M6 8(5/16)-1/8 4(5/32)- M6 5-1/4  8(5/16)-1/8 4-1/8 6-1/8 10-1/4
6 4(5/32)-1/8 8(5/16)-1/4 4(5/32)-1/8 6-1/8  8(5/16)-1/4 5-M5 6-1/4 10-3/8
5-M5 8(5/16)-3/8 5-1/8 8-1/8 12-3/8
5-Ms6 10-1/4 5-1/4 8-1/4
5-1/8 10-3/8
5-1/4 12-3/8
6-Ms 12-12
6-Mé 14-1/2
6-1/8

12



(-JAIGNEP 57000
57560 51410 51420 51430
E
4-1/8 6-1/4 M5 3/8 1/8 1/2 1/8
5-1/8 8-1/8 M6 1/2 1/4 M12x1.5 1/4
5-1/4 8-1/4 1/8 M12x1.5 3/8 3/8
6-1/8 1/4 1/2
51440 50600 57610 @ 50625
1/8-1/8 4-M5 6-1/8 10-1/4 4-(5/32) 10 4(5/32) 8-(5/16)
1/4-1/4 4-1/8 6-1/4 10-3/8 5 12 5 10
3/8-3/8 5-M5 8-1/8 12-1/4 6 14 6 12
5-1/8 8-1/4 12-3/8 8-(5/16)
5-1/4 8-3/8 14-1/2
6-M5 10-1/8
57700 57800 55801 55802
ot ~
-
5-4  8(5/16)-4(5/32) 10-8 4 8 4 8 4 8
6-4 8-6 12-8 5 10 5 10 5 10
6-5 10-4 12-10 6 12 6 12 6 12
50980 50990 50006
4-(5/32) 10-(3/8) 1/8
5 12-(1/2) 1/4
6-(1/4) 14 3/8
8-(5/16) 1/2

13



AIGNEP

. AISI301
L. FKM

. -0.99 bar (-0.099 MPa)
: 30 bar (3.0 MPa)

m-‘lsoc
+130°C

L . 1907/2006 2011/65/CE 97/23/CE 150 SILICON

REACH Y + (PED) 14743:2004 FREE

AGHS

m 6 11 12 PE *py

" PTFE FEP
*PU 98

. - 1SO228-A

G

40020V 40030V

4-1/8 8-1/8 10-1/2 4-1/8 8-1/8 10-3/8
4-1/4 8-1/4 12-1/4 4-1/4 8-1/4 10-1/2
6-1/8 8-3/8 12-3/8 6-1/8 8-3/8 12-3/8
6-1/4 8-1/2 12-1/2 6-1/4 10-1/4 12-1
6-3/8 10-1/4 14-3/8

6-1/2 10-3/8 14-1/2

40040V 40050V
| FUAR
4(5/32) 10-8
6-4 10
6 12-10
8-6 12
8(5/16) 14

14



(JJAIGNEP 40000
40060V 40106V 40116V 40130V
.
4-M12K 10-M20X] 4-1/8 6-1/4 4-1/8 8-3/8 12-3/8 4(5/32) 10
6-Mldx1  12-M22x] 4-1/4 8-1/8 4-1/4 8-1/2 12-172 12
8-MI6x1  14-M23x] 6-1/8 8-1/4 6-1/8 10-1/4 14-3/8 8(5/16) 14
6-1/4 10-3/8 14-1/2
8-1/8 10-1/2
8-1/4 12-1/4
40216V 40226V 40230V 40310V
T T T Y
4-1/8 8-1/4 10-172 4-1/8 8-1/4 10-1/2 4(5/32) 10 4(5/32)
4-1/4 8-3/8 12-3/8 4-1/4 8-3/8 12-3/8 6 12 6
6-1/8 8-1/2 12-172 6-1/8 8-1/2 12-172 8(5/16) 14 8(5/16)
6-1/4 10-1/4 14-3/8 6-1/4 10-1/4 10
8-1/8 10-3/8 14-1/2 8-1/8 10-3/8
40550V 50600V CH028 50625
/"
/’(’H
4-M5 6-1/4 10-1/4 4-Ms 8-1/8 10-3/8 12-10 8-83 4 10
4-1/8 8-1/8 10-3/8 4-1/8 8-1/4 12-1/4 8-10 12-12 6 12
6-Ms 8-1/4 12-3/8 6-M5 8-3/8 12-3/8 12-145 8
6-1/8 8-3/8 6-1/8 10-1/8 14-172
6-1/4 10-1/4
40700V 57610 50980
6-4 10-8 4 10 4-(5/32) /)
8-4 12-8 6 12 6-(1/4) 2-0/2)
8-6 12-10 8 14 8-(5/16)
10-4

15



AIGNEP

‘NSF/ANSI 51-61-372

LaP  1907/2006 2011/65/CE 07/23/CE 150 SILICON
© REACHhY " (PED) 14743:2004 FREE
& : b

E . cwsiloL m :
6 11 12 PE

- .PPSU
- -AISI301
' FKM

A *PU
{ PTFE FEP
*PU 98

Bar
\ - -0.99 bar (-0.099 MPa) . - ISO7.1 BS21 DIN2999
= ¢ 20 bar (2.0 MPa) i - 1SO228-A

{ +190°C

59020 59030 59040 59100

4-1/8 4-1/8 4 4-1/8
6-1/8 6-1/8 6 6-1/8
6-1/4 6-1/4 8 6-1/4
8-1/8 8-3/8 8-1/4
8-1/4
59116 59130 59216 59226
T T
QIP QIP QIP QIP
\ 4-1/8 4 4-1/8 4-1/8
6-1/8 6 6-1/8 - 6-1/8
6-1/4 8 6-1/4 6-1/4
6-3/8 8-1/4 8-1/4
8-1/ 8-3/8 8-3/8
8-3/8
59230
T

16



AIGNEP

NSF/ANSI 51

/ ROl
) ; 1907/2006 2011/65/CE 97/23/CE
{ REACHY " (PED)
& : AoHS
150 SILICON NSF/ANSI51
14743:2004 FREE
. -AISI301 " PTFE FEP
H EKM *PU 98

ISO228-A

Bar
SN - 099 bar (0.099 Pa) % -
= i 20 bar (2.0 MPa) .

© +200°C

70020 70040 70116 70216
T
QIP QIP

s/ vt szt Dusszanasr] s a1

4-M5 6-1/4 10-1/4 4 10 4-M5 6-1/4 10-1/4 4-1/8 8-1/8
4-1/8 8-1/8 10-3/8 6 12 4-1/8 8-1/8 10-3/8 1/8 8-1/4
6-1/8 8-1/4 12-3/8 8 6-1/8 8-1/4 12-3/8 6-1/4
70230 50980
T
Q"H

4 1C 4-(5/32) 10-(3/8)

6 12 5 12-(1/2)

8 6-(1/4) 14

8-(5/16)

17



AIGNEP

PUSH-IN FITTINGS, PUSH-ON FITTINGS, QUICK COUPLINGS,
ADAPTERS, BALL VALVE AND FUNCTION FITTINGS

SERIE 60000
STAINLESS STEEL PUSH-IN FITTINGS

¢ Reference Standard

i Application
J i+ Automation with Washing

. . ¢ 1907/2006 2011/65/CE 97/23/CE 150 SILICON

; + Farming, Mining . REACHY ../ (PED) 14743:2004 FREE
¢+ Chemical, Petrolchemical, Pharmaceutical s
¢« Medical, Life&Sciences

« Vacuum
i Component Parts and Materials i Connection Tubes
i« AISI316L Steel Body Plastic tubes:
© + AISI316L Steel Collet PA6, PAT1, PA12, Polyethylene, *Polyurethane, PTFE, FEP.
. AISI 316L Steel C\ampmg washer i *For Polyurethane hoses it is required a minimum hardness of 98 shore.
i+ Food FKM seal
: Pressures Threads
¢ -0.99 bar (-0.099 MPa) % © . Tapered gas in conformity with 1507.1, BS 21, DIN 2999,
i 20 bar (2.0 MPa) ‘. Parallel gas in conformity with ISO 228 Class A.

i« Metric in conformity with ISO R/262.

: Temperatures : Fluids
: o el
jl £ -15°C ( i« Compressed air

i +200°C

© -+ Vacuum
i+ Fluid for food and chemical industry compatible with fitting components.
60000 60020 60040 60050
STRAIGHT MALE ADAPTOR (TAPER) STRAIGHT MALE ADAPTOR (PARALLEL) STRAIGHT CONNECTOR BULKHEAD CONNECTOR
1 1 b1 ' 5
4-1/8 8-1/8 12-3/8 4-Ms 6-1/8 4 4-M12x1
4-1/4 8-1/4 12-1/2 4-1/8 6-1/4 6 6-M14x1
6-1/8 10-1/4 4-1/4 8-1/8 8 8- M16x1
6-1/4 10-3/8 6 - M5 8-1/4 10 10 - M20x1
12 12 - M22x1
60110 60115 60130 60210
ORIENTING ELBOW MALE ADAPTOR (TAPER) ORIENTING ELBOW MALE ADAPTOR ELBOW CONNECTOR ORIENTING TEE MALE ADAPTOR (TAPER)
(PARALLEL) CENTRE LEG

F s B e B o B

4-1/8 8-1/8 10-172 " 10-172 ‘ 4-1/8 8-1/8 10
4-1/4 8-1/4 12-3/8 b 1238 ° 4-1/4 8-1/4 12
6-1/8 10-1/4 12-1/2 4 12-172 8 6-1/8 0-1/4 1
6-1/4 10-3/8 " 10 6-1/4 0-3/8

/8 12

18



(JAIGNEP

60215

ORIENTING TEE MALE ADAPTOR (PARALLEL)

CENTRE LEG

60230
TEE CONNECTOR

W W

10-3/8 4
10-1/2 6
12-3/8 8
12-1/2 10

12

Application

- Diary

- Food & Beverage

. Chemical, Petrolchemical, Pharmaceutical
- Medical, Life&Sciences

- Inkjet, Printing

« Vacuum

i Component Parts and Materials

| . AISI376L Steel Nut
¢ . AISI316L Steel Body
i« Food FKM seal

. Pressures and Temperatures

The working pressures and working temperatures depend on wich
type of tube used, for this reason, the values must be determined
in accordance with the tube's features.

60600

MALE ADAPTOR PARALLEL

£~

G

6-1/8 10-3/8
8-1/4 12-3/8
10-1/4 12-1/2

i Reference Standard

1907/2006
REACH

2011/65/CE 97/23/CE

(PED)

150
14743:2004

SILICON
FREE

Connection Tubes

Plastic tubes:
PA6, PAT1, PA12, Polyethylene, *Polyurethane, PTFE, FEP.

*For Polyurethane hoses it is required a minimum hardness of 98 shore.

Threads

+ "UNIVERSAL SHORT" Tapered thread (See p.18).

« Tapered gas in conformity with ISO7.1, BS 21, DIN 2999.
« Parallel gas in conformity with ISO 228 Class A.

« Metric in conformity with SO R/262.

Fluids

- Compressed air

+ Vacuum

- Water

« Fluid for food and chemical industry compatible
with fitting components.

61005 61040 61050 61100
STRAIGHT MALE ADAPTOR“UNIVERSAL SHORT” ~ STRAIGHT CONNECTOR BULKHEAD CONNECTOR ELBOW MALE ADAPTOR (TAPER)
& A W p W g W
{ |

6/4-1/8 8/6-1/4 6/4 6/4 - M10x1 6/4-1/8 8/6-1/4
6/4-1/4 10/8-1/4 8/6 8/6 - M12x1 6/4-1/4 10/8-1/4
8/6-1/8 10/8-3/8 10/8 8/6-1/8 10/8-3/8

61130 61200 61230 61700

ELBOW CONNECTOR TEE MALE ADAPTOR (TAPER)-CENTRE LEG TEE CONNECTOR NUT

% “

6/4 6/4-1/8 8/6-1/4
8/6 6/4-1/4 10/8-1/4
10/8 8/6-1/8 10/8-3/8

% ﬁ

% %

6/4 6/4-M10x1
8/6 8/6 - M12x1
10/8 10/8 - M14X1

19



Serie INOX

(JAIGNEP

Application

« Diary

+ Food & Beverage
- Medical, Life&Sciences
« Inkjet, Printing

« Vacuum

Bar Pressures

- Chemical, Petrolchemical, Pharmaceutical

- 0.99 bar (-0.099 MPa)
¢ 140 bar (14 MPa)

Temperatures

-110°C
: +300°C

i Reference Standard

1907/2006
REACH

2011/65/CE

Threads

97/23/CE SILICON
(PED) FREE

- Tapered gas in conformity with 1SO7.1, BS 21, DIN 2999.

- Parallel gas in conformity with 1SO 228 Class A.

Fluids

i« Metric in conformity with ISO R/262.

Fluid for food and chemical industry compatible

with fitting components.

62000 62020 62040 62080
NIPPLE (TAPER) REDUCING NIPPLE (TAPER) REDUCER (TAPER) REDUCER (TAPER)
P D G Y e T @ T
1/8 1/2 1/8-1/4 1/4-1/2 1/8-1/4 3/8-1/2 1/4-1/8 1/2-1/4
1/4 3/4 1/8-3/8 3/8-1/2 1/4-3/8 1/2-3/4 3/8-1/8 1/2-3/8
3/8 1/4-3/8 1/2-3/4 1/4-1/2 3/8-1/4 3/4-1/2
62300 62310 62315 62320
SLEEVE REDUCING SLEEVE MALE PLUG (PARALLEL) WITH EXAGON EMBEDDED MALE PLUG (PARALLEL)
. er T Il Il Il
v oW 5 »
1/8 1/2 1/8-1/4 3/8-1/2 M5 3/8 1/8 1/2
1/4 3/4 1/4-3/8 1/2-3/4 1/8 1/2 1/4 3/4
3/8 1/4 3/8
62325 62340 62400 62440
MALE PLUG (TAPER) DIN 906 MALE HOSE ADAPTER (TAPER) FEMALE TEE CENTRE LEG MALE TEE
® U s R S 5
1/8 6-1/8 10-3/8 16-1/2 1/8 1/8
1/4 7-1/8 10-1/2 18-1/2 1/4 1/4
3/8 7-1/4 12-1/4 18-3/4 3/8 3/8
1/2 8-1/4 12-3/8 20-1/2 1/2 1/2
9-1/4 12-1/2 20-3/4
9-3/8 14-3/8
10-1/4 14-1/2
62450 62510 62520 62540
OFF SET MALE TEE FEMALE ELBOW MALE - FEMALE ELBOW SILENCER

W

1/8
1/4
3/8
1/2

1/2

%

1/8
1/4
3/8
1/2

o

W

1/8

3/8
1/2

20



(.j AIGNEP Serie INOX

Application = Reference Standard
« Compressed Air & Tools ®
) ) L) 1907/2006 2011/65/CE 97/23/CE SILICON

+ Pneumatic and Fluidtechnology REACHY b (PED) FREE
. Food & Beverage —
- Life & Sciences

Temperatures

¢« Inert Gases
-15°C
: +200°C

Component Parts and Materials
- AISI 316L Steel body Threads
« AlSI 302 Steel spring - Parallel gas in conformity with 1SO 228 Class A.
« AlSI 420 Steel ball + "UNIVERSAL SHORT" Tapered thread (See p.18).

i« Food FKM seal

Pressures Fluids
—
0 bar (0 MPa) Maximum static pressure (no pulsations): @ - Compressed air
: 16 bar (1.6 MPa) 35 bar (3.5 MPa) - Fluid for food and chemical industry compatible
with all components.
63190 63192 63260 63262
MALE SOCKET “UNIVERSAL SHORT” FEMALE SOCKET MALE PLUG EUROPEAN PROFILE “UNIVERSAL FEMALE PLUG EUROPEAN PROFILE

SHORT”

% _ W % R

e

1/4 1/4 1/4 1/4
3/8 3/8 3/8 3/8
172 12 1/2 1/2

: Application = Reference Standard
- Diary RO
A 1907/2006 2011/65/CE 97/23/CE SILICON
o Food & Beverage REACH V" .f (PED) FREE
i+ Chemical, Petrolchemical, Pharmaceutical s
¢« Medical, Life&Sciences, Inert Gases Fluids

« Compressed air

© . Vacuum ‘
- Vacuum
i Threads - Water
% . Parallel gas in conformity with IS0 228 Class A nor
» Parallel gas In conformity wit ass A « Fluid for food and chemical industry compatible

with fitting components.

66050 66062 66070 66085
QUICK EXHAUST VALVE FEMALE-FEMALE NON RETURN VALVE ORIENTING FLOW REGULATOR FOR CYLINDER ~ UNI-DIRECTIONAL IN-LINE FLOW REGULATOR
W ‘ W W
1/8 1/8 1/8-1/8 1/8
1/4 1/4 1/4-1/4 1/4
3/8 3/8 3/8
12 12 12

21



(.J AIGNEP Serie INOX

i Component Parts and Materials Reference Standard
- Stainless steel AISI316L Body | |
: [P | 1907/2006 2011/65/CE 97/23/CE 150 SILICON

.+ PTFE Seats REACH Y .f (PED) 14743:2004 FREE
i« FKM Seal O-RING ‘ s
. Pressures Fluids
- 0.99 bar (-0.099 MPa) ‘ o
L™ . H

. 40 bar (4.0 MPa) Compressed air

« Vacuum

- Water

- Oils

« Fluid for food and chemical industry compatible

with components.

i Temperatures . Threads
-15°C Minimum temperature % - Tapered gas in conformity with 1SO7.1, BS 21, DIN 2999.

£ +150°C  Maximum temperature in continuos
i +180°C Maximum temperature for short term

66300 66310
FEMALE RP ISO 7 - FEMALE RP 1SO 7 VALVE TAPER MALE R SO 7 - FEMALE RP ISO 7 VALVE

W W

1/8-1/8 1/8-1/8
1/4-1/4 1/4-1/4

22



AIGNEP

METALLIC PUSH-IN FITTINGS FOR INCH TUBE ﬁ
A
i i

i Reference Standard

: Application
J « Robotics

P Automotive e Welding r:z(z—_z.o,off 201.1,:6/5KE 97({)ZESD/)CE 1475?2004 SII!-IIRCE%N
i« Heavy Industry, Railways ‘ s

. Compressed air Circuit

- Cooling water, Vacuum

. Glycol with EPDM

i Component Parts and Materials i Fluids

: b :

e Nickel-plated brass Body G i » Compressed air

i+ Nickel-plated brass Collet © + Vacuum

¢ - Steel AISI 301 Clamping washer ¢« Water

'+ NBR seal (if requested FKM - EPDIM) f . Steam

i Pressures i Connection Tubes

- -0.99 bar (-0.099 MPa) . Plastic tubes:

¢ 20 bar (2.0 MPa) ¢ PA6, PA11,PA12, Polyethylene, *Polyurethane, PTFE, FEP.

i *For Polyurethane hoses it is required a minimum hardness of 98 shore.

i Temperatures i Threads
jl . -20 °C - "UNIVERSAL SHORT" Tapered thread (see p.18).
+80°C : « Parallel gas in conformity with UNF.
. EPDM ¢ FKM
-40°C L -15°C
+130°C i +130°C
89000 89010 89030 89040
STRAIGHT MALE ADAPTOR STRAIGHT MALE ADAPTOR STRAIGHT FEMALE ADAPTOR (NPTF) STRAIGHT CONNECTOR
“UNIVERSAL SHORT” WITH EXAGON EMBEDDED

o

1/8-10/32 1/8-1/8 1/4-1/8 1/8 5/16 (8)
1/8-1/8 1/8-1/4 1/4-1/4 5/32 (4) 3/8-1/4
1/8-1/4 5/32(4)-1/8 /8-1/4 1/4-5/32 3/8-1/2

5/32 (4)-10/32 5/32(4)-1/4 3/8-3/8 1/4 3/8
5/32(4)-1/8 3/16 (5) 1/2
5/32(4)-1/4

1/4-10/32
1/4-1/8
1/4-1/4
1/4-3/8

5/16 (8)-1/8

23



(.J AIGNEP Serie 89000
89050 89106 89111 89116
BULKHEAD CONNECTOR ORIENTING ELBOW FEMALE ADAPTOR (NPTF) ORIENTING ELBOW MALE ADAPTOR ORIENTING ELBOW MALE ADAPTOR
“UNIVERSAL SHORT” (PARALLEL)
1/8 - M10x1 5/16 (8) - M16x1 5/32(4)-1/8 1/4-1/4 1/8-1/8  5/16(8)-1/8 3/8-1/2 1/8-10/32
5/32 (4) - M12x1 3/8 - M20x1 5/32(4)-1/4 3/8-1/8 1/8-1/4  5/16(8)-1/4 1/2-1/4 5/32(4)-10/32
1/4 - M14x1 1/2-M22x1 1/4-1/8 3/8-1/4 5/32(4)-1/8  5/16(8)-3/8 1/2-3/8 1/4-10/32
5/32(4)-1/4  5/16(8)-1/2 1/2-1/2
1/4-1/8 3/8-1/8
1/4-1/4 3/8-1/4
1/4-3/8 3/8-3/8
89130 89211 89216 89223
ELBOW CONNECTOR ORIENTING TEE MALE ADAPTOR ORIENTING TEE MALE ADAPTOR (PARALLEL) ORIENTING TEE MALE ADAPTOR “UNIVERSAL
“UNIVERSAL SHORT" - CENTRE LEG CENTRE LEG SHORT” OFF - SET LEG
R a J
Ei . . gl -
1/8 1/8-1/8 1/4-3/8 3/8-3/8 1/8-10/32 1/8-1/8 5/16(8)-3/8
5/32(4) 1/8-1/4  5/16(8)-1/8 3/8-1/2 5/32(4)-10/32 1/8-1/4 3/8-1/8
1/4 5/32(4)-1/8 5/16 (8)-1/4 1/2-1/4 1/4-10/32 5/32(4)-1/8 3/8-1/4
5/16(8)  5/32(4)-1/4  5/16(8)-3/8 1/2-3/8 5/32(4)-1/4 3/8-3/8
3/8 1/4-1/8 3/8-1/8 1/2-1/2 1/4-1/8 3/8-1/2
172 1/4-1/4 3/8-1/4 1/4-1/4 1/2-1/4
1/4-3/8 1/2-3/8
5/16(8)-1/8 1/2-1/2
5/16 (8)-1/4
89226 89230 89310 89500
ORIENTING TEE MALE ADAPTOR (PARALLEL) TEE CONNECTOR Y CONNECTOR SINGLE BANJO BODY
OFF - SET LEG
- D &
1/8-10/32 1/8 5/16 (8) 1/8 5/16(8) 1/8-1/8 1/4-1/4 3/8-1/4
5/32(4)-10/32 5/32(4) 3/8 5/32(4) 3/8 5/32(4)-10/32 5/16(8)-1/8 3/8-3/8
1/4-10/32 1/4 172 174 5/32(4)-1/8  5/16(8)-1/4 1/2-3/8
1/4-1/8  5/16(8)-3/8 1/2-1/2
88610 89700 50980 50006
POLYAMIDE PLUG REDUCER SECURITY CLIPS THREAD PACKING FOR THE “UNIVERSAL SHORT”
TAPERTHREADS
1/8 5/16-(8) 1/4-1/8 5/32 (4) 1/2-1/4 5/32 (4) 3/8(10) 1/8
5/32-(4) 3/8 1/4-5/32 (4) 3/8-1/4 1/2-3/8 1/4(6) 1/2(12) 1/4
1/4 172 5/16(8)-  3/8-5/16(8) 5/16 (8) 3/8
172

24



AIGNEP

HIGH PRESSURE PUSH-IN FITTINGS

i Application

i« Lubrication systems

A

i Heavy Industry, Railways
i« Vehicles (Truck, Bus, Farming)

. Component Parts and Materials

« Nickel-plated Brass Collet and body
© + HNBR O-RING Seal

. Pressures

.0 bar (0 MPa) Minimum pressure

¢ 150 bar (15 MPa) ~ Maximum pressure with fluids
i % 30 bar (3 MPa) Maximum pressure with air

i Temperatures

jl - -30°C
L +150°C

i Reference Standard

1907/2006 2011/65/CE 97/23/CE SILICON
REACH Y N (PED) FREE
LT

i Connection Tubes

Plastic tubes:
%k PA6, PA11, PA12, Polyethylene, *Polyurethane, PTFE, FEP.

i *For Polyurethane hoses it is required a minimum hardness of 98 shore.

i Threads

i« Tapered gas in conformity with ISO7.1, BS 21, DIN 2999,
i« Metric Tapered in conformity with UNI 7707.

D

¢ Fluids
—T
G el

i« Water
i .« Grease

58000 58040
STRAIGHT MALE ADAPTOR (TAPER) STRAIGHT CONNECTOR

> ..

4 - Méx1 6 - M6x1
4 - M8x1 6 - M8x1
4-M10x1 6-M10x1

4-1/8 6-1/8

TB66
POLYAMIDE SEMIRIGID TUBE

[ ]

- Ext. Int

TB66 00 420 NT 4 2
TB66 00 630 NT 6 3

Table of pressure values expressed Temperatures
in% as a function of temperature. oC

20° 30° 40° 50° 60° 70° 80° 0

100%  83% 2%  64% 58% 5%  47% + 100 °C

58100 58111
ELBOW MALE ADAPTOR (TAPER) ORIENTING ELBOW MALE ADAPTOR (TAPER)

w Mﬁ

4 - Méx1 6 - Méx1 4 - Mé6x1 6 - M6x1
4-M8x1 6 - M8x1 4 - M8x1 6 - M8x1
4-M10x1 6-M10x1 4-M10x1 6 - M10x1
4-1/8 6-1/8 4-1/8 6-1/8

25



*NBRO

AIGNEP

1907/2006
REACH

6
PTFE FEP

*PU

11 12 PE

2011/65/CE 97/23/CE SILICON

(PED) FREE

LELE]

*PU

98

ISO7.1 BS21 DIN2999
1ISO228-A
ISO R/262

1000

1010

1015

1020

4/2.7-1/8 8/6-1/4 10/8-1/2 6/4-1/8 8/6-1/4 12/8-3/8 6/4-1/8 8/6-1/4 12/8-3/8 4/27-1/8 8/6-1/8 10/8-3/8
5/3-1/8 8/6-3/8 12/10-3/8 6/4-1/4 10/6.5-1/4 12/10-3/8 6/4-1/4 10/6.5-1/4 12/10-3/8 5/3-1/8 8/6-1/4 10/8-1/2
6/4-1/8 8/6-1/2 12/10-1/2 8/6-1/8 10/8-1/4 8/6-1/8 10/8-1/4 6/4-1/8 8/6-3/8 12/10-3/8
6/4-1/4 10/8-1/8 15/125-1/2 6/4-1/ 8/6-1/2 12/10-1/2
6/4-3/8 10/8-1/4 6/4-3/8 10/8-1/8 5/125-1/2
8/6-1/8 10/8-3/8 6/4-1/ 10/8-1/4
1021 1025 1026 1027
i
.._."" ._-.'\-""I'
* 1.|-.-"\ A
- : ' 4
* e &
4/2.7 - M5 5/3 - M6 6/4 - M12x1 6/4-1/8 8/6-3/8 10/8-3/8 12/8-3/8 6/4-1/8 8/6-1/4 12/8-3/8
4/2.7 - M6 6/4-M5  6/4-M12x1.25 6/4-1/4 8/6-1/2 10/8-1/2 12/10-3/8 6/4-1/4 10/6.5-1/4 12/10-3/8
5/3-M5 6/4-M6  6/4-M12x1.5 8/6-1/8 10/8-1/8 12/10-3/8 8/6-1/8 10/8-1/4
8/6-1/4 10/8-1/4 12/10-1/2

26



{9JAIGNEP 1000
1028 1029 1030 1035
) i »
G s ’ e
6/4-1/8 Sele s 6/4 - M12¢1 6/4-1/8 8/6-1/4  10/8-3/8 6/4-1/8 8/6-1/4  10/8-3/8
6/4-1/4 8/6-3/8  10/8-12 6/4 -M12¢1.25 6/4-1/4 8/6-3/8  10/8-12 6/4-1/4 86-3/8  10/8-172
6/4-3/8 8/6-1/2 12/10-3/8 6/4-M12x1.5 6/4-3/8 8/6-1/2 12/10-3/8 6/4-3/8 8/6-1/2 12/10-3/8
6/4-12  10/8-1/8  12/10-172 8/6-1/8  10/8-1/4 8/6-1/8  10/8-1/4
86-1/8  10/8-1/4
1040 1050 1100 1101
4/52/; 8/672;2 1;%3 4/2.7 - M6x0.5 10/8x6/4 - M14x1 4/2.7-1/8 8/6-1/4 10/8-1/2 6/4 - M12x1
i e e 5/3- M7x0.75 10/8x8/6 - M14x] 5/3-1/8 8/6-3/8  12/10-3/8 6/4 -M12¢1.25
6/4 10/8-8/6 ’ 6/4x5/3 - M10x1 10/8 - M14x1 6/4-1/8 8/6-1/2 12/10-1/2 6/4-M12x1.5
6/4 - M10x1 12/10 - M16x1 6/4-1/4 10/8-1/8 15/125-1/2
8/646/4 - M12x1 15/12.5 - M20x1 6/4-3/8  10/8-1/4
8/6 - M12x1 8/6-1/8 10/8-3/8
1110 1115 1120 1130
427-1/8 8/6-1/8 427-1/8 8/6-1/8 5/3-1/8 8/6-1/4 427 8/6-6/4 1210
6/4-1/8 8/6-1/4 6/4-1/8 8/6-1/4 6/4-1/8  10/8-1/4 5/3 8/6 15/125
6/4-1/4 10/8-1/4 6/4-1/4 10/8-1/4 6/4-1/4 10/8-3/8 6/4 10/8
8/6-1/8
1200 1210 1215 1220
T T T T
427-1/8 8/6-1/8  10/8-3/8 6/4-1/8 8/6-1/4 6/4-1/8 8/6-1/4 5/3-1/8 8/6-1/4  12/10-3/8
5/3-1/8 8/6-1/4  12/10-3/8 6/4-1/4  10/8-1/4 6/4-1/4  10/8-1/8 6/4-1/8  10/8-1/8  15/125-172
6/4-1/8 10/8-1/8 15/125-1/2 8/6-1/8 8/6-1/8 10/8-1/4 6/4-1/4 10/8-1/4
6/4-1/4  10/8-1/4 8/6-1/8  10/8-3/8
1230 1300 51410 51420
T
427 8/6 12/10 5/3 10/8 Ms 3/8 178 112
53 10/8-6/4 15/125 6/4 12/10 M6 12 174 M12x15
6/4 10/8-8/6 8/6 15/12.5 1/8 M12x1.5 3/8
8/6- 6/4 10/8 1/4

27



{9JAIGNEP 1000
51430 51440 1500 1510
T
o ™ O i‘ 'ﬂm
1/8 1/8-1/8 4/2.7 - M5 6/4-1/8 10/8-1/8 4/2.7 - M5 6/4-3/8 10/8-3/8
1/4 1/4-1/4 4/2.7 - M6 6/4-1/4 10/8-1/4 4/2.7-1/8 8/6-1/8 10/8-1/2
3/8 3/8-3/8 4/2.7-1/8 6/4-3/8 10/8-3/8 5/3-M5 8/6-1/4 12/10-3/8
172 5/3-M5 8/6-1/8 10/8-1/2 5/3-1/8 8/6-3/8 12/10-1/2
5/3-1/8 8/6-1/4 12/10-3/8 6/4 - M5 8/6-1/2 15/125-1/2
6/4 - M5 8/6-3/8 12/10-1/2 6/4-1/8 10/8-1/8
6/4 - M6 8/6-1/2 15/125-1/2 6/4-1/4 10/8-1/4
LG 410 LG 500 1600 1610
66
M5 4/2.7-Ms 6/4-M5 M5 3/8 M3 8 "
M6 4/27 - M6 6/4- M6 1/8 12 M5 14 3/4
5/3-M5 1/4 M12 M6 3/8 1"
1612 1613 1700 1710
NBR NBR
M o
1/8 172 1/8 1/2 4/2.7 - M6x0.5 8/6 - M12x1 6/4 - M10x1 10/8 - M14x1
1/4 3/4 1/4 3/4 5/3 - M7x0.75 10/8 - M14x1 8/6 - M12x1 12/10 - M16x1
3/8 1" 3/8 1" 6/4 - M8x0.75 12/10-M16éx1
6/4-M10x1 15/12.5 - M20x1
1750 8610
4 8
5 10
6 12

28



AIGNEP

FUNCTION FITTINGS

: Application
© . Pneumatic automation
- Automotive process
i+ Food & Beverage
i« Fluidtechnology
« Vacuum

: Pressures

. 1bar (0.1 MPa)
¢ 10 bar (1 MPa)

i Temperatures
- 20°C
: +80°C

¢ Fluids

G

i« Compressed air

ORIENTING FLOW REGULATOR

¢ Reference Standard

1907/2006 2011/65/CE 97/23/CE SILICON
REACH + (PED) FREE

nanE

i Connection Tubes

Plastic tubes:
PA6, PAT1, PA12, Polyethylene, *Polyurethane, PTFE, FEP.

i *For Polyurethane hoses it is required a minimum hardness of 98 shore.

i Threads

+ "UNIVERSAL SHORT" Threads (See p. 18).
i+ Metric in conformity with 1SO R/262.
i« Parallel gas in conformity with ISO 228 Class A.

= . .

g Screwdriver regulation Manual regulation

w

-
50901 50910 50920 50905
ORIENTING FLOW REGULATOR FOR CYLINDER ~ ORIENTING FLOW REGULATOR FOR VALVE ORIENTING BI-DIRECTIONAL FLOW ORIENTING FLOW REGULATOR FOR CYLINDER
“UNIVERSAL SHORT” “UNIVERSAL SHORT” REGULATOR “UNIVERSAL SHORT” “UNIVERSAL SHORT”

o

3-M

5 6-M5
4-M5 6-1/8
4-1/8 6-1/4
5-M5 8-1/8
5-1/8 8-1/4
5-1/4 8-3/8

i

z

(8

3-M5 3-M5 3-M5 12-3/8
4-M5 4-M5 4-M5 12-1/2
4-1/8 4-1/8 4-1/8 14-1/2
5-M5 5-M5 5-M5
5-1/8 5-1/8 5-1/8
5-1/4 5-1/4 5-1/4 0-1/

6-M5 10-3/8

29



(JAIGNEP

Serie Function

50915
ORIENTING FLOW REGULATOR FOR VALVE
“UNIVERSAL SHORT”

50925

ORIENTING BI-DIRECTIONAL FLOW
REGULATOR “UNIVERSAL SHORT”

55900

ORIENTING FLOW REGULATOR FOR CYLINDER
“UNIVERSAL SHORT”

-

55910
ORIENTING FLOW REGULATOR FOR VALVE
“UNIVERSAL SHORT”

-

-

3-M5 6-M5 10-1/4 3-M5 6-M5 10-1/4 4-M5 6-M5 8-3/8 4 - M5 6-M5 8-3/8
4-M5 6-1/8 10-3/8 4 - M5 6-1/8 10-3/8 4-1/8 6-1/8 10-3/8 4-1/8 6-1/8 10-3/8
4-1/8 6-1/4 12-3/8 4-1/8 6-1/4 12-3/8 5-M5 6-1/4 12-3/8 5-M5 6-1/4 12-3/8
5-M5 8-1/8 12-1/2 5-M5 8-1/8 12-1/2 5-1/8 8-1/8 12-1/2 5-1/8 8-1/8 12-1/2
5-1/8 8-1/4 14-1/2 5-1/8 8-1/4 14-1/2 5-1/4 8-1/4 5-1/4 8-1/4

5-1/4 8-3/8 5-1/4 8-3/8

55920 55905 55915 55925

ORIENTING BI-DIRECTIONAL FLOW
REGULATOR “UNIVERSAL SHORT”

.

ORIENTING FLOW REGULATOR FOR CYLINDER
“UNIVERSAL SHORT”

L

ORIENTING FLOW REGULATOR FOR VALVE
“UNIVERSAL SHORT”

L

ORIENTING BI-DIRECTIONAL FLOW
REGULATOR “UNIVERSAL SHORT”

L

- . : .
- - -
4-Ms 6-M5 8-3/8 4-Ms 6-Ms 8-3/8 4-Ms 6-M5 8-3/8 4-M5 6-M5 8-3/8
4-1/8 6-1/8 10-3/8 4-1/8 6-1/8 10-3/8 4-1/8 6-1/8 10-3/8 4-1/8 6-1/8 10-3/8
5- M5 6-1/4 12-3/8 5-Ms 6-1/4 12-3/8 5-M5 6-1/4 12-3/8 5-Ms 6-1/4 12-3/8
5-1/8 8-1/8 12-1/2 5-1/8 8-1/8 12-172 5-1/8 8-1/8 12-1/2 5-1/8 8-1/8 12-12
5-1/4 8-1/4 5-1/4 8-1/4 5-1/4 8-1/4 5-1/4 8-1/4
55902 55912 55922 55906
ORIENTING FLOW REGULATOR FOR CYLINDER  ORIENTING FLOW REGULATOR FOR VALVE ORIENTING BI-DIRECTIONAL FLOW ORIENTING FLOW REGULATOR FOR CYLINDER
(PARALLEL) (PARALLEL) REGULATOR (PARALLEL) (PARALLEL)
- L -
4-1/8 8-1/8 10-3/8 4-1/8 8-1/8 10-3/8 4-1/8 8-1/8 10-3/8 6-1/4 10-3/8
6-1/8 8-1/ 12-3/8 6-1/8 8-1/4 12-3/8 6-1/8 8-1/4 12-3/8 8-1/ 12-3/8
6-1/4 8-3/8 12-1/2 6-1/4 8-3/8 12-172 6-1/4 8-3/8 12-1/2 8-1/4 12-172
8-3/8
55916 55926 56900 56910
ORIENTING FLOW REGULATOR FOR VALVE ORIENTING BI-DIRECTIONAL FLOW ORIENTING FLOW REGULATOR FOR CYLINDER ~ ORIENTING FLOW REGULATOR FOR VALVE
(PARALLEL) REGULATOR (PARALLEL)
> & zh-?r { Ihﬁ I
6-1/4 10-3/8 6-1/4 10-3/8 4-Ms5 4-Ms
8-1/8 12-3/8 8-1/8 12-3/8 6-Ms 6-Ms
8-1/4 12-1/2 8-1/4 12-1/2
8-3/8 8-3/8
56920 56935 56945 56955

ORIENTING BI-DIRECTIONAL FLOW
REGULATOR

g

4-M5
6-M5

ORIENTING FLOW REGULATOR FOR CYLINDER

[©XNE "o}
5y

ORIENTING FLOW REGULATOR FOR VALVE

&

4-M5
6-M5
4-1/8
6-1/8

ORIENTING BI-DIRECTIONAL FLOW
REGULATOR

30



@AlGNEP Serie Function

57901 57910 57920 57905
ORIENTING FLOW REGULATOR FOR CYLINDER ~ ORIENTING FLOW REGULATOR FOR VALVE ORIENTING BI-DIRECTIONAL FLOW ORIENTING FLOW REGULATOR FOR CYLINDER

“UNIVERSAL SHORT” “UNIVERSAL SHORT” REGULATOR “UNIVERSAL SHORT” “UNIVERSAL SHORT”

4-M5 6-1/8 10-3/8 4-M5 6-1/8 10-3/8 4-M5 6-1/8 10-3/8 4-M5 6-1/8 10-3/8
4-1/8 6-1/4 12-3/8 4-1/8 6-1/4 12-3/8 4-1/8 6-1/4 12-3/8 4-1/8 6-1/4 12-3/8
5-M5 8-1/8 12-1/2 5-M5 8-1/8 12-1/2 5-M5 8-1/8 12-1/2 5-M5 8-1/8 12-172
5-1/8 8-1/4 14-1/2 5-1/8 8-1/4 14-1/2 5-1/8 8-1/4 14-1/2 5-1/8 8-1/4 14-1/2
5-1/4 8-3/8 5-1/4 8-3/8 5-1/4 8-3/8 5-1/4 8-3/8
6-M5 10-1/4 6-M5 10-1/4 6-M5 10-1/4 6-M5 10-1/4

57915 57925

ORIENTING FLOW REGULATOR FOR VALVE ORIENTING BI-DIRECTIONAL FLOW

“UNIVERSAL SHORT” REGULATOR“UNIVERSAL SHORT”

-
4-M5 6-1/8 10-3/8 4-M5 6-1/8 10-3/8
4-1/8 6-1/4 12-3/8 4-1/8 6-1/4 12-3/8
5-M5 8-1/8 12-1/2 5-M5 8-1/8 12-1/2
5-1/8 8-1/4 14-1/2 5-1/8 8-1/4 14-1/2
5-1/4 8-3/8 5-1/4 8-3/8
6-M5 10-1/4 6-M5 10-1/4

8900 8910 8920 8905
FLOW REGULATOR FOR CYLINDER FLOW REGULATOR FOR VALVE BI-DIRECTIONAL FLOW REGULATOR FLOW REGULATOR FOR CILINDER

& @ ﬁtz = L @ :ﬁg

1/4 1/4 1/4 1/4
3/8 3/8 3/8 3/8
12 12 12 12
8915 8925 1500 1500
FLOW REGULATOR FOR VALVE BL-DIRECTIONAL FLOW REGULATOR SINGLE BANJO BODY SINGLE BANJO BODY
(ADJUSTABLE RESTRICTOR VALVES M5)
i h e 4/27-M6 427-1/8 8/6-1/4 10/8-1/2
M5 o 6/4- M6 5/3-1/8 8/6-3/8 12/10-3/8
1/8 o 6/4-1/8 8/6-1/2 12/10-1/2
174 e 6/4-1/4 10/8-1/8  15/125-1/2
3/8 0 6/4-3/8 10/8-1/4
172 8/6-1/8 10/8-3/8
50505 50500 57505 57500
SINGLE BANJO BODY SINGLE BANJO BODY SINGLE BANJO BODY SINGLE BANJO BODY
(ADJUSTABLE RESTRICTOR VALVES M5) (ADJUSTABLE RESTRICTOR VALVES M5)
i , 3
3-M6 4-1/8 8-1/8 12-3/8 4(5/32)-M6 4-1/8 8-1/8 12-3/8
4-M6 5-1/8 8-1/4 12-172 5-M6 5-1/8 8-1/4 12-172
5-M6 5-1/4 8-3/8 14-1/2 6-M6 5-1/4 8-3/8 14-1/2
6-M6 6-1/8 10-1/4 6-1/8 10-1/4
6-1/4 10-3/8 6-1/4 10-3/8

31



(QJ AIGNEP Serie Function

89505 6090
SINGLE BANJO BODY FEMALE SINGLE BANJO BODY
(ADJUSTABLE RESTRICTOR VALVES M5)
. }
5/32 (4) - M6 1/8
1/8 - M6 1/4
1/4-M6 3/8

Reference Standard

Component Parts and Materials
« Nickel-Plated Brass Nipple 1907/2006 2011/65/CE o1/23/CE SILICON
- Technopoymeric Body REACH ..f (PED) FREE
LELE]
- NBR O-Ring seal
Temperatures Connection Tubes
jl -20°C Plastic tubes:
: +80°C

PA6, PAT1, PA12, Polyethylene, *Polyurethane, PTFE, FEP.

*For Polyurethane hoses it is required a minimum hardness of 98 shore.

i Pressures Threads
1 bar (0.1 MPa) % + "UNIVERSAL SHORT" Threads (See p. 18).

© 10 bar (1 MPa)

i Fluids
@l | - Compressed air
55940 55945 55950 55955
TUBE IN-LINE NEEDLE VALVE MALE “UNIVERSAL SHORT”-TUBE IN-LINE MALE “UNIVERSAL SHORT”- TUBE IN-LINE TUBE IN-LINE NEEDLE VALVE
(UNIDIRECTIONAL FLOW) FLOW CONTROL (CONTROLLED FLOW OUT) FLOW CONTROL (CONTROLLED FLOW IN) (BIDIRECTIONAL FLOW)
fe— - .‘:
—_ -
4 4-1/8 8-3/8 4-1/8 8-3/8 4
6 6-1/8 10-3/8 6-1/8 10-3/8 6
8 6-1/4 10-1/2 6-1/4 10-1/2 8
10 8-1/4 8-1/4 10
55960
MALE “UNIVERSAL SHORT”- TUBE IN-LINE
FLOW CONTROL (BIDIRECTIONAL FLOW)
4-1/8 8-3/8
6-1/8 10-3/8
6-1/4 10-1/2
8-1/4

32



@AlGNEP Serie Function

i Component Parts and Materials Reference Standard

« Nickel-Plated Brass Nipple ©1907/2006 2011/65/CE o1/23/CE SiLloN
i« Techopoymeric Body | REACHW .,f (PED) FREE
: : nois

i+ NBR O-Ring seal

i Temperatures Connection Tubes
1-20°C Plastic tubes:
©+80°C

PA6, PAT1, PA12, Polyethylene, *Polyurethane, PTFE, FEP.

*For Polyurethane hoses it is required a minimum hardness of 98 shore.

Inlet Pressures (Set the pressure always uphill) Threads
2 bar (0.2 MPa) % « "UNIVERSAL SHORT" Threads (See p. 18).
P

2 8

-]
o
=

=

: 10 bar (1 MPa)
Fluids Regulation Range
- 1+8bar(0.1+ 0.8 MPa)

0

- Compressed air

55970 55975 55980
TUBE IN LINE PRESSURE REGULATOR TUBE - MALE“UNIVERSAL SHORT” IN-LINE MALE “UNIVERSAL SHORT”- TUBE IN-LINE
PRESSURE REGULATOR PRESSURE REGULATOR

6 6-1/8 8-1/4 6-1/8 8-1/4
8 6-1/4 8-3/8 6-1/4 8-3/8

Component Parts and Materials
- Anodized aluminium Body

i+ Brass Nipple
. NBR O-Ring seal

: Pressures . Temperatures
- 1 bar (0,1 MPa) JL - -20°C
¢ 10 bar (1 MPa) © +80°C

8850 8860
UNI DIRECTIONAL FLOW REGULATOR BI-DIRECTIONAL FLOW REGULATOR

M5 M5
1/8 1/8
174 1/4
3/8 " 3/8
1/2 1/2

33



Serie Function

(JAIGNEP

Component Parts and Materials

Threaded

E + Anodised aluminium body

i+ NBRseals
i+ Internal parts in brass

. Pressures

2 bar (0.2 MPa)
: 10 bar (1 MPa)

Temperatures
jl - -10°C
© +60°C

G1/8

B8

6 bar Flow rate (Ap 1 bar)

.

i Nominal orifice

2.5mm

Q)

«

100 NI/min

Fluids

« Compressed air

G

8870
IN-LINE“OR" LOGIC ELEMENT

8872
IN-LINE“AND"” LOGIC ELEMENT

Component Parts and Materials

« Nickel-plated Brass Body
« PAGG Flat Seals
+ NBR Pad

Bar, Pressures

i Reference Standard
| = | :
L] 1907/2006 2011/65/CE 97/23/CE
REACH + (PED)

SILICON
FREE

Threads

- Parallel gas in conformity with ISO 228.

¢+ Metricin conformity with 1SO R/262.

Temperatures
B 0.3 bar (0.03 MPa) JL - -20°C
- ¢ 10 bar (1 MPa) {1 +80°C

i Fluids
e I
@4 - Compressed air

6050 6052
QUICK EXHAUST VALVE PAD FOR QUICK EXHAUST VALVE
MADE IN NBR
M5 1/2 M5
1/8 3/4 1/8
/4 1" 1/4
3/8 3/8

6052

PAD FOR QUICK EXHAUST VALVE
MADE IN POLYURETHANE

6053
CAP SEAL

172 1/8
3/4 1/4
1" 1/2
3/4

O

M5 172
1/8 3/4
1/4 1"
3/8

34



@AlGNEP Serie Function

i Component Parts and Materials ¢ Reference Standard
© . Grey anodized Aluminium Sleeve | |
: A i 1907/2006 2011/65/CE 97/23/CE SILICON

P Chrome-Nickel plated Brass Stem . REACH .’ o e
¢« NBR O-RING Seals ‘ s

| Pressures { Temperatures - Fluids

H e B
¢ 0.3 bar (0.03 MPa) jl £ -20°C G i« Compressed air
¢ 10 bar (1 MPa) i +80°C :

6060
SLIDE VALVE

1/8
1/4
3/8
1/2

Component Parts and Materials = Reference Standard
« Nickel-plated Brass Body ||
H ) i 1907/2006 2011/65/CE 97/23/CE SILICON

i+ NBR O-RING Seals REACH % .f (PED) FREE

Bar Pressures Threads

2 bar (0.2 MPa) Approximate opening pressure:
¢ 8 bar (0.8 MPa) 0.2 bar (0.02 MPa)

Temperatures Fluids
e
jl -20°C ( : - Compressed air
+80°C :

FKM:

- Parallel gas in conformity with ISO 228.

7
i

6062 6063 6064
-15°C -15°C -15°C

+200 °C +200 °C +130°C

6062 6063 6064
FEMALE-FEMALE NON RETURN VALVE MALE-FEMALE NON-RETURN VALVE PUSH-IN CONNECTIONS NON-RETURN VALVE
i M5 i' M5 4
1/8 1/8 6
1/4 1/4 8
3/8 3/8
12 12

35



(.J AIGNEP Serie Function
Component Parts and Materials = Reference Standard
« Nickel-plated Brass Body | |
: L) 1907/2006 2011/65/CE 97/23/CE SILICON
© + NBR O-RING Seals ErAl (PED) S

LELE]
i Pressures i Temperatures - 6 bar Flow rate (Ap 1 bar)
- 0.3 bar (0.03 MPa) jl . -20°C 54 s .
‘10 bar (1 MPa) £ +80°C i
750 NI/min 1420 NI/min
i Size i Nominal orifice i Fluids
b/ i el

ﬁ 1/8-1/4 ¢ 1/8 1/4 G i+ Filtered and lubricated compressed air as well as non lubricated air

: . 055mm  08mm

8880
UNI-DIRECTIONAL BLOCK VALVE

8890

1/8
1/4

BI-DIRECTIONAL BLOCK VALVE

36



AIGNEP

© 1907/2006 2011/65/CE 97/23/CE

1S0 SILICON
REACH Y (PED) 14743:2004 FREE
LB
: . - ISO7.1 BS21 DIN2999
. PTFE e - 1sO228-A
{ NBRO FKM-EPDM-HNBR
Bar :
\ 1 B
QN -0.99 bar (-0.099 MPa) (=
- i 20 bar (2 MPa)
m ) 20 oc
{ +80°C
© FKM : EPDM ‘ HNBR
-15°C i -40°C i -30°C
+130°C f+130°C f +130°C
6300 6310 6320 6330
RP -RP R -RP G -RP R -G
1/8-1/8 1/2-1/2 1/8-1/8 3/8-3/8 3/8-3/8 3/8-3/8
1/4-1/4 3/4-3/4 1/4-1/8 1/2-1/2 1/2-1/2 1/2-1/2
3/8-3/8 1/4-1/4 3/4-3/4 3/4-3/4 3/4-3/4
6340 6350 6400 6410
RP R G -G G -G
6-1/8 10-3/8 15-1/2 1/8-6 3/8-10 3/4-16 1/8-1/8 1/2-1/2 1/8-1/8 3/8-3/8
8-1/8 12-3/8 16-3/4 1/8-8 3/8-12 3/4-18 1/4-1/4 3/4-3/4 1/4-1/8 1/2-1/2
8-1/4 14-1/2 18-3/4 1/4-6 1/2-14 3/8-3/8 1/4-1/4 3/4-3/4
1/4-8 1/2-15

37



(JAIGNEP Ghillux
6420 6430 6440 6450
G -G G G
1/8-1/8 3/8-1/4 12-172 6-1/8 10-3/8 15-1/2 1/8-6 3/8-12 3/4-14 6-6 14-10 16-14
1/8-1/4 3/8-3/8 3/4-1/2 8-1/8 12-3/8 16-3/4 1/8-8 3/8-14 3/4-15 6-8 14-12 16-15
1/4-1/4 1/2-3/8 3/4-3/4 8-1/4 14-1/2 18-3/4 1/4-6 3/8-15 3/4-16 8-8 15-10 18-14
1/4-8 1/2-10 3/4-18 10-8 15-12 18-15
1/4-10 1/2-12 10-10 14-14 18-16
3/8-8 1/2-14 10-12 15-14 18-18
3/8-10 1/2-15 12-12 15-15
6460 X3 6470 X3 649 6500
R G
1/8 /8 1/4-1/4 8-8
1/4 1/4 3/8-3/8
3/8
6540 6560 XX 6570 g 6600 [ no Gas |
R -G R -G
i
1/8-1/8
R EEI
i i i : /8-3/8
8-8 1/8-8 3
86300 86310
NPTF -NPTF NPTF -NPTF
£
1/8-1/8 1/8-1/8
1/4-1/4 1/4-1/4
3/8-3/8 3/8-3/8
1/2-172 1/2-172
AISI 316L
- -0.99 bar (-0.099 MPa) 15°C
i 40 bar (4 MPa) - +150°C
i +180°C
66300 66310
RP -RP R -RP
‘ . J &
1/8-1/8 1/8-1/8
1/4-1/4 1/4-1/4

38



{JAIGNEP Ghilux

6700 6710 6720 6900

1/8-1/8-1/8 1/8-1/8-1/8 1/8-1/8 A= 1/8-1/4-3/8
1/4-1/4-1/4 1/4-1/4-1/4 1/4-1/4 B= 1/2-3/4
3/8-3/8-3/8 3/8-3/8-3/8 3/8-3/8

6910 6915 6920 6680

P “ o - |
: 079 -
’ 070 -

6-1/8 12-3/8 16-3/4
A= 1/8-1/4-3/8 A= 1/8-1/4-3/8 A VB-1/4-3/8 8-1/4 14-12 18-3/4
B 1/2-3/4 B= 1/2-3/4 B V-4 10-3/8 15-1/2
10740 10741 10760 10761
PTFE PTFE
6 12 14 6 12 14
8 15 16 8 15 16

6065 (o ons JITTS (o ans
-G

1/8 1/2 1/8 12
1/4 3/4 1/4 3/4
3/8 3/8

6067 6068 6069

12 1"1/4 1/4 3/4 1172 1/2-172 1"/4-1"/4
3/4 1"/2 3/8 1 2 3/4-3/4  1"1/2-1"172
1 b 12 1"1/4 -1 2-2"




(JAIGNEP Ghilux

6074 3 oo (e |
3 WAYS BALL VALVE“L" FEMALE 3 WAYS BALL VALVE“T” FEMALE
GISO 228 GI1S0 228

174" 1" 174" 1
3/8" 1-1/4" 3/8" 1-1/4
172" 1-1/2" 172" 1-172"
3/4" 2" 3/4" 2"
6035
“Y"FILTER
1/4 1"1/2
3/8 2"
1/2 2"1/2
3/4 3"
1 &
1"1/4
6036 6037 6038
NON RETURN VALVE FINAL VALVE STRECHED NET FILTER
3/8 1"1/4 1/2 1"1/4 1/2 1"1/4
12 1"1/2 3/4 1"1/2 3/4 1"1/2
" 1" 2 1" 2"

3/4 2




AIGNEP

NICKEL-PLATED BRASS ADAPTORS

Application

+ Compressed Air

« Pneumatic Automation
i+ Industrial water circuits
¢« Inert Gases, Fluids, Steam

¢« Vacuum

Component Parts and Materials
+ The main part of these fittings is made in

v
3

brass and undergo to a nickel-plating process.
i .« Different materials will be specified in the General catalogue.

Maximum temperature

+300°C

v
A

¢ Reference Standard

1907/2006 2011/65/CE 97/23/CE 150 SILICON
REACH + (PED) 14743:2004 FREE
RoH3

i Connection Tubes

Tubes and fittings in general.

i Threads
% - Tapered gas in conformity with I1SO7.1, BS 21, DIN 2999.

+ Parallel gas in conformity with ISO 228 Class A.
i« Metric in conformity with ISO R/262.

. . . ¢ Fluids
/N Size Maximum Pressure Advised —
o - Water
: 1/8 150 bar : :
: - Qils
Bar\ 5 4 100 bar - Compressed air
‘\ 3/8 75 bar ¢« Fluids in general for the hydraulic, pneumatic
: 1/2 50 bar and oildynamic plants etc.
3/4 85 bar
1" 80 bar
2000 2010 2020 2030
NIPPLE (TAPER) NIPPLE (PARALLEL) REDUCING NIPPLE (TAPER) REDUCING NIPPLE (PARALLEL)
e R A S
1/8 172 M5 12 1/8-1/4 1/4-3/8 1/2-3/4 M 1/4-1/2
1/4 3/4 1/8 3/4 1/8-3/8 1/4-1/2 3/4-1" 1/ 3/8-1/2
3/8 1 1/4 1" 1/8-1/2 3/8-1/2 1/ 1/2-3/4
3/8 1/
2040 2050 2060 2070
REDUCER (TAPER) REDUCER (PARALLEL) TAPER NIPPLE (3 PIECES) EXTENSION (PARALLEL)
1/8-1/8 1/4-3/8 1/2-1/2 M5-1/8 1/4-1/4 3/8-1/2 3/4 1/8-1/8-1=22
1/8-1/4 1/4-1/2 1/2-3/4 1/8-1/8 1/4-3/8 1/2-1/2 1/8-1/8-1=32
1/8-3/8 3/8-3/8 1/8-1/4 1/4-1/2 1/8-1/8 -1=42
1/4-1/4 3/8-1/2 1/8-3/8 3/8-3/8 1/8-1/8 - =51
1/4-1/4-1=28

41



(.J AIGNEP Serie Adapters
2080 2090 2092 2095
REDUCER (TAPER) REDUCER (PARALLEL) REDUCER (PARALLEL) WITH NBR O-RING REDUCER (PARALLEL)
1/4-1/8 1/2-3/8 1"1/4-1/2 1/8 - M5 3/8-1/4 3/4-3/8 1/8 - M5 3/8-1/4 3/4-1/4 1/4-1/8 3/4-1/2
3/8-1/8 3/4-3/8 1"1/4-3/4 1/4-1/8 1/2-1/4 3/4-1/2 1/4-M5 1/2-1/8 3/4-3/8 3/8-1/4 1"-3/4
1/2-1/8 3/4-1/2 1"1/4-1" 3/8-1/8 1/2-3/8 1/4-1/8 1/2-1/4 3/4-1/2 1/2-3/8
3/8-1/4 1"-1/2 1"1/2-1 1/2-1/8 3/4-1/4 3/8-1/8 1/2-3/8
1/2-1/4 1"-3/4 2"-1
2096 2110 2115 2116
NUT ORIENTING NIPPLE (TAPER) ORIENTING NIPPLE (PARALLEL) MALE ORIENTING NIPPLE WITH OR (PARALLEL)
1/8 1/8 1/8 1/8 1/2
1/4 1/4 1/4 1/4 3/4
3/8 3/8 3/8 3/8 1"
172
3000 3010 3015 3015V
SLEEVE REDUCING SLEEVE MALE PLUG (PARALLEL) WITH EXAGON MALE PLUG (PARALLEL) WITH EXAGON
EMBEDDED AND NBR O-RING EMBEDDED AND FKM O-RING
-
M5 1/2 M5-1/8 1/4-3/8 1/2-1" M5 1/2 3/4 M5 3/8
1/8 3/4 1/8-1/4 1/4-1/2 3/4-1" 1/8 M8x1 1" 1/8 1/2
1/4 1" 1/8-3/8 3/8-1/2 1/4 M10x1 1/4
3/8 1/8-1/2 1/2-3/4 3/8 M12x1,25
3020 3021 3025 3026
MALE PLUG (PARALLEL) MALE PLUG (TAPER) MALE PLUG (TAPER) MALE PLUG (PARALLEL)
’ = & = &
N . e =
M5 1/2 1/8 1/2 1/8 1/8 1/2
1/8 3/4 1/4 3/4 1/4 1/4 3/4
1/4 1" 3/8 1" 3/8 3/8
3/8 172
3030 3040 3044 3045
FEMALE PLUG MALE HOSE ADAPTER (TAPER) MALE HOSE ADAPTER (PARALLEL) WITHO-RING ~ MALE HOSE ADAPTER (PARALLEL)
H - i
- . N
1/8 4-1/8 10-1/8 17-3/8 4.5-M5 9-1/4 14-3/8 4.5-M5 8-1/4 12-3/8
1/4 6-1/8 10-1/4 17-1/2 6-1/4 9-3/8 14-1/2 6-1/8 9-1/8 12-1/2
3/8 6-1/4 10-3/8 18-3/8 7-1/8 10-1/4 13-1/2 6-1/4 9-1/4 17-3/8
1/2 7-1/8 10-1/2 18-1/2 7-1/4 10-3/8 17-3/8 7-1/8 9-3/8 17-1/2
7-1/4 12-1/4 18-3/4 8-1/8 10-1/2 17-1/2 7-1/4 9-1/2
8-1/8 12-3/8 20-3/8 8-1/4 12-1/4 19-3/4 8-1/8 12-1/4
8-1/4 12-1/2 20-1/2 8-3/8 12-3/8 20-3/4
8-3/8 14-3/8 20-3/4 8-1/2 12-1/2 25-1"
9-1/8 14-1/2 25-3/4 9-1/8 13-1/2 27-1
9-1/4 16-3/8 25-1"
9-3/8 16-1/2
9-1/2 16-3/4
3050 3055 3060 1704
FEMALE HOSE ADAPTER MALE HOSE ADAPTER ELBOW BULKHEAD CONNECTOR NUT
6-1/8 8-1/4 10-3/8 6-1/8 7-1/4 M5 3/8 M10x1 M26x1.5
6-1/4 9-1/4 12-3/8 6-1/4 9-1/4 1/8 1/2 M16x1.5 M28x1.5
7-1/8 9-3/8 12-1/2 7-1/8 1/4 3/4 M20x1.5 M33x1.5
7-1/4 10-1/4

42



@ AIGNEP Serie Adapters
4000 4010 4020 4030
FEMALE TEE MALETEE CENTRE LEG FEMALE TEE OFF SET FEMALE TEE
1/8 172 1/8 1/2 1/8 172 1/8 1/2
1/4 3/4 1/4 3/4 1/4 3/4 1/4 3/4
3/8 1" 3/8 1" 3/8 1" 3/8 1"
4040 4050 5000 5010
CENTRE LEG MALE TEE OFF SET MALE TEE MALE ELBOW FEMALE ELBOW
1/8 1/2 M5 1/2 M5 1/2 M5 1/2
1/4 3/4 1/8 3/4 1/8 3/4 1/8 3/4
3/8 1" 1/4 1" 1/4 1" 1/4 1"
3/8 3/8 3/8
5020 5050 6000 6010
MALE-FEMALE ELBOW FEMALE BRACKET FITTING 90° CENTRAL MALEY 90° FEMALE Y 90°
' P g
M5 1/2 1/2 1/8 1/8
1/8 3/4 1/4 1/4
1/4 1" 3/8 3/8
3/8 1/2 1/2
6020 6025 6030 6040
FEMALE EQUAL CROSS MALE-FEMALE EQUAL CROSS MALE EQUAL CROSS ALUMINIUM TEE CROSS
1/8 1/8 1/8 1/8
1/4 1/4 1/4 1/4
3/8 3/8 3/8 3/8
1/2 1/2 1/2 1/2
6047 6048 6070 6080
ALUMINIUM DISTRIBUTION MANIFOLD ALUMINIUM DOUBLE DISTRIBUTION MANIFOLD MALE-FEMALE ELBOW FITTING MALE-FEMALE-FEMALE TEE FITTING
1/4-1/8-1=65 3/8-1/4-1=184 1/4-1/8 - 1=65 3/8-1/4-1=184 1/8-1/8 1/8-1/8
1/4-1/8-1=95 3/8-1/4-1=220 1/4-1/8-1=95 3/8-1/4-1=220 1/4-1/4 1/4-1/4
1/4-1/8-1=125 1/2-3/8-1=90 1/4-1/8-1=125 1/2-3/8-1=90
1/4-1/8-1=155 1/2-3/8-1=130 1/4-1/8-1=155 1/2-3/8-1=130
1/4-1/8-1=185 1/2-3/8-1=170 1/4-1/8-1=185 1/2-3/8-1=170
3/8-1/4-1=76 1/2-3/8-1=210 3/8-1/4-1=76 1/2-3/8-1=210
3/8-1/4-1=112 1/2-3/8- 250 3/8-1/4-1=112 1/2-3/8-1=250
3/8-1/4-1=148 3/8-1/4-1=148
6090 82241 82242 7000
FEMALE SINGLE BANJO BODY ADAPTER FEMALE BSP - MALE NPTF ADAPTER FEMALE NPTF - MALE G THREAD SILENCER
“ S '
1/8 1/8-1/8 1/8-1/8 1/8 1/2
1/4 1/4-1/4 1/4-1/4 1/4 3/4
3/8 3/8-3/8 3/8-3/8 3/8 1"
1/2-1/2

43



(.J AIGNEP Serie Adapters
7010 7020 7030 7040
SILENCER SILENCER WITH WIRE MESH STAINLESS STEEL 304 SILENCER SILENCER
"'ﬁ- 1I"".'ili.
1/8 172 M5 1/2 M5 172 1/8 1/2
1/4 3/4 1/8 3/4 1/8 3/4 1/4 3/4
3/8 1/4 1" 1/4 1" 3/8
3/8 3/8
7050 7060 7070 7080
SILENCER PUSH-ON SILENCER SILENCER MADE IN ACETALIC RESIN SILENCER MADE IN PA66 WITH FELT
WITH PLASTIC SOUNDPROOFING MATERIAL
1/8 4-5/3 1/8 1/2 1/8 1/2
1/4 6-6/4 1/4 3/4 1/4 3/4
3/8 3/8 1" 3/8 1"
1/2
AS7100 7100 7110 7120

POROUS POLYETHYLENE SILENCER FOR PUSH-IN

POROUS POLYETHYLENE SILENCER

POROUS POLYETHYLENE RESTRICTOR SILENCER

PAD SILENCER WITH SLOT FOR SCREWDRIVER

&

4 10 M5 1/2 M5 3/8 1/8 1/2
6 12 1/8 3/4 1/8 1/2 /4 3/4
8 /4 1 1/4 3/8 1
3/8
7130 7140 7150
SILENCER WITH FILTERING PAD - (TAPER) INTEGRAL SILENCER WITH SLOT INTEGRAL SILENCER WITH HEXAGONAL
WITH SLOT FOR SCREWDRIVER FOR SCREWDRIVER WRENCH
1/8 1/2 1/8 172 1/8 172
1/4 3/4 /4 3/4 1/4 3/4
3/8 1" 3/8 1 3/8 1"

44



@AlGNEP Serie Adapters

i Pressures i Temperatures
-0.99 bar (-0.099 MPa) JL £-20°C
¢ 15 bar (1.5 MPa) " +70°C
1810 1830 1831 1832
FITTING FOR HOSES MALE BAYONET FEMALE BAYONET BAYONET WITH REST
C an y
For rubber hoses For braided 1/8 1/8 6 9
14/6-1/4 polyurethane hoses 1/4 1/4 7 10
17/8-1/4 10/6-1/4 3/8 3/8 8 12
19/10-1/4 12/8-1/4
23/13-1/2 15/10-1/4
1833 1840 1841 1850
BAYONET FOR RUBBER HOSE MALE FOR RUBBER HOSE FEMALE FOR RUBBER HOSE MALE WITH MILLED NUT
-
14-6 10/6-1/4 15/10-1/4 17/10-1/4 10/6-1/4 15/10-1/4 17/10-1/4 1/8
17-8 12/8-1/4 17/8-1/4 19/10-1/4 12/8-1/4 17/8-1/4 19/10-1/4 1/4
19-10 14/6-1/4 17/8-3/8 19/10-3/8 14/6-1/4 17/8-3/8 19/10-3/8 3/8
1851 1852 1853 1855
FEMALE WITH MILLED NUT DOUBLE MILLED NUT TEE WITH MILLED NUTS STRAIGHT FITTING WITH BAYONET

CONNECTION + NUT AND SPRING

1/4 1/4 1/4 6/4 10/8
3/8 8/6 12/10
1860 1808 1864
STRAIGHT FITTING WITH BAYONET MILLED NUT TIGHTENING SEAL FOR FITTINGS
CONNECTION + NUT AND SPRING WITH BAYONET CONNECTION
i
\,ﬂi‘hﬂi‘* w
ﬁ"w = °
6/4 10/8 1/4
8/6 12/10
i Pressures i Temperatures
- -0.99 bar (-0.099 MPa) jl £ -10°C
‘10 bar (1 MPa) £ 4+80°C
15000 15040 15130 15230
STRAIGHT HOSE MALE ADAPTOR STRAIGHT HOSE ADAPTOR ELBOW HOSE ADAPTOR TEE HOSE ADAPTOR
2-M5 2-2 4-4 2 2
3-M5 3-2 6-4 3 3
4-M5 3-3 6-6 4 4
6-M5 4-3 6 6

45



AIGNEP

PLASTIC TUBES

El ¢ Reference Standard
3 B

1907/2006 2011/65/CE 97/23/CE SILICON
REACH ../ (PED) FREE
s

Materials Standard colours
« POLYAMIDE
- POLYURETHANE 98 SHORE A [ NT  WHITETRANSLUCENT
- PTFE Il AZ LGHTBLUE
- FEP I BL BLUE
- PVC I NE BLAK
« NBR/PVC
/7] TT  TRANSLUCENT
Gl YELLOW
I GR GREY
I RO =rED
B VvE GREN
TS12
POLYAMIDE TUBE - LENGHT 25 MT
/ ]
O | | | | | | ) N
Ext. Int
7151200427 NT AZ NE G GR RO VE 4 2.7
TS12 00 640 NT AZ NE Gl GR RO VE 6 4
1512 00 860 NT AZ NE Gl GR RO VE 8 6
TB12 TS1201080  NT AZ NE - - - - 10 8
POLYAMIDE TUBE TS1212100 NT AZ NE - - - - 12 10
0 0
O | ] | ] || || || Ext Int Temperatures Table of pressure values expressed
- = o in% as a function of temperature.
81200427 NT NE G GR RO VE 4 27 -40°C s N . R .
- - +100°C 20 40 60 80 100
[B12 00530 NT AZ NE - - - - 5 3 100% 859% 60% 40% 20%
TB12 00 640 NT AZ NE G GR RO VE 6 4
B12 00860 NT AZ NE G GR RO VE 8 6
TB12 01075 NT - NE - - - - 10 75 TB12A m
= A ) . N - PA SELF-EXTINGUISHING TUBE
TB1201 080 NT Az EG G RO VE 10 8
a0 - : »w ] a a
TB1214 120 NT AZ NE - - - - 14 12 Bt Int
TB12 15125 NT \Z NE - - - - 15 125 TBI2A00427  AZ 4 27
TB12A 00 640 A. 6 4
POLYAMIDE TUBE INCHES DIMENSIONS TB12A00860  AZ 8 6
- ) ) TBI2A01080  AZ 10 8
Ext Int TB12A12100  AZ 2 10
TB1231721 E 1/8(3.17) 218 TB12A 15125 AZ 5 25
[B12 63 543 NE 1/4(635) 435
TB1295 271 NE 3/8(9.52) 7.14
B oS Temperatures Table of pressure values expressed
TB1212795 NE 1/2(12.7) 952 -30°C in% as a function of temperature.
+70°C 20° 30° 40° 50° 60°
100%  72%  64%  52%  47%

46



Serie Tubes

(JAIGNEP

TB12X
PA MULTILAYER ANTISTATIC TUBE

n b
TB12X 00 425 NE 4 25
TB12X 00 640 NE 6 4
TB12X 00 860 NE 8 6
TB12X 01080 NE 10 8
TB12X 12100 NE 12 10
Temperatures Table of pressure values expressed
ﬁ i -30°C in% as a function of temperature.
1 +80°C 20° 40° 60° 80°

100% 85% 60% 40%

TB12P [ hew |
PATUBE WITH PU LAYER — FIREPROOF ANTI-SPARK
[ uLoavo
n be
TB12P 00 420 NE 4
TB12P 00 640 NE 6 4
TB12P 00 860 NE 8 6
TB12P 01075 NE 10 75
TB12P 01290 NE 12 9
Temperatures Table of pressure values expressed
ﬁ -40°C in% as a function of temperature.
+80°C 20° 40° 60° 80°
100% 85% 60% 40%

TB66 Chew
POLYAMIDE SEMIRIGID TUBE
[ 0
- Ext. Int.
TB6600420  NT 4 2
TB66 00 630 NT 6 3
Temperatures Table of pressure values expressed
0°C in% as a function of temperature.
: +100°C 20°  30° 40° 50° 60° 70° 80°

100% 83% 72% 64% 58% 52% 47%

TBPU
98 SHORE A POLYURETHANE POLYESTER TUBE
L L I
TBPU 00 425 NT AZ NE - RO T 4 25
TBPU 00 530 NT AZ NE - - - 5 3
TBPU 00 640 NT AZ NE Gl RO T 6 4
TBPU 00 855 NT AZ NE - RO T 8 55
TBPU 00 860 NT AZ NE - RO T 8 6
TBPU 01 080 NT AZ NE - RO T 10 8
TBPU 01290 NT AZ NE - RO I 12 9
TSPU
98 SHORE POLYURETHANE POLYESTER TUBE - LENGHT 25 MT
O = = b i
TSPU 00 425 NT AZ NE 4 25
TSPU 00 640 NT AZ NE 6 4
TSPU 00 855 NT AZ NE 8 55
TSPU 00 860 NT AZ NE 8 6
TSPU 01 080 NT AZ NE 10 8
TSPU 01 290 NT AZ NE 12 9

: Temperatures Table of pressure values expressed
in% as a function of temperature.

jl L -40°C
{ +60°C -20°  0°  20° 30° 40° 50° 60°

185% 140% 100% 85% 70% 60%  50%

TBPO
90 SHORE A POLYURETHANE POLYETHER TUBE
o = = = o=
TBPO 00 425 NT AZ NE Gl GR RO VE 4 25
TBPO 00 640 NT AZ NE Gl GR RO VE 6 4
TBPO 00 855 NT AZ NE Gl GR RO VE 8 55
TBPO 01070 NT AZ NE - GR RO - 10 7
TBPO 01 280 NT AZ NE - GR RO - 12 8
TBPO 14 100 NT AZ NE Gl - RO - 14 10
TSPO
90 SHORE A POLYURETHANE POLYETHER TUBE - LENGHT 25 MT
0O ®m = = = = 0
Xt. Int
TSPO 00 425 NT AZ NE Gl GR RO VE 4 25
TSPO 00 640 NT AZ NE Gl GR RO VE 6 4
TSPO 00 855 NT AZ NE Gl GR RO VE 8 55
TSPO 01 070 NT AZ NE - GR RO - 10 7
TSPO 01 280 NT AZ NE - GR RO - 12 8
TSPO 14 100 NT AZ NE Gl - RO - 14 10

i Temperatures

f e
i +60°C

Table of pressure values expressed
in% as a function of temperature.

20° 30° 40°

100% 60% 40%

47



Serie Tubes

(JAIGNEP

TBFE ;
FEP TUBE Q f
0 b
TBFE 00425 NT 4 25
TBFE 00 640 NT 6 4
TBFE 00 860 NT 8 6
TBFE 01 080 NT 10 8
TBFE 12 100 NT 12 10

TSFE i
FEP TUBE - LENGHT 25 MT Q f
-
TSFE00425  NT 4 25
TSFE00640  NT 6 4
TSFE00860  NT 8 6
TSFE01080  NT 10 8
TSFE12100  NT 12 10

i Temperatures

. -60°C
i +205°C

Al

Table of pressure values expressed
in% as a function of temperature.

20° 50° 100° 150°

100% 80% 45% 20%

TBPF "
PTFE FLEXIBLE TUBE Qf
0 b
TBPF 00 420 NT 4 2
TBPF 00 427 NT 4 27
TBPF 00 530 NT 5 3
TBPF 00 640 NT 6 4
TBPF 00 860 NT 8 6
TBPF 01 080 NT 10 8
TBPF 01210 NT 12 10
: Temperatures Table of pressure values expressed
jl 60 °C in% as a function of temperature.
i +260°C 20° 50° 100° 150° 200°  250°

100% 85%  65%  50%

35%

25%

SS12
POLYAMIDE SPIRAL WITHOUT TANGS

[} 7} [%}
u Ext. Int. Ext.

SS120064030  BL 6 4 63
SS120086030  BL 8 6 87

§5120108030  BL

10 8 106

§5120121030  BL

12 10 135

i Temperatures

1 -40°C
i +70°C

Al

Table of pressure values expressed
in% as a function of temperature.

-20°  0°  20° 30° 40° 50° 60° 70°

180% 140% 100% 90% 80% 70% 60% 50%

SDPU
SPIRAL POLYURETHANE POLYETHER 95 SHORE A WITH TANGS
. @ @
mm
6-4 100 100
8-5.5 120 500
10-6.5 120 500
“ 12-8 120 500
[} [} 0
u Ext. Int. Ext.
SDPU 0064 004 AZ 6 4 32
SDPU 0085 505 AZ 8 55 41
SDPU 0106 505 AZ 10 6.5 60
SDPU 0120 805 AZ 12 8 80
SDPU 0085 075 AZ 8 55 41
SDPU 0106 575 AZ 10 6.5 60
SDPU 0120 875 AZ 12 8 80
: Temperatures Table of pressure values expressed
40 °C in% as a function of temperature.
+ 60 °C -20° 0° 20°  30° 40° 50° 60°

110% 100% 100% 85%  70%

60%

50%

48



(JAIGNEP

Serie Tubes

TBPV
PVCTUBE FOOD GRADE

TBPL
PUSH-LOCK HOSE

0 [} [/} u m = u QJ Int. @Int. @Ext
Ext. Int. inch  mm mm
TBPV 01370 NT 13 7 TBPL1/40RO100 TBPL1/40BL100 TBPL1/40VEI00 TBPLI/4ONETO0 1/4 63 124
TBPV 16 100 NT 16 10 TBPL3/80ORO100 TBPL3/80BL100 TBPL3/80VEI00 TBPL3/SONET00  3/8 96 155
TBPV 23 150 NT 23 15 TBPL1/20RO100 TBPL1/20BL100 TBPL1/20VE100 TBPLI/20ONETOQ0 1/2 127 187
TBPV 26 190 NT 26 19 TBPLS/80R0080  TBPLS5/80BLO80  TBPL5/80VEO80 TBPLS/8ONE0O80  5/8 16 229
TBPV 33 250 NT 33 25 TBPL3/40R0080 TBPL3/40BLO80 TBPL3/40VEO80 TBPL3/4ONEO80 3/4 192 265
i Temperatures
H O O
i-5°C Temperature with compressed air -20°C +110°C
+60°C peak +125°C
. i 0°C +100°C
Temperature with water
peak +110°C
Temperature with hydraulic oil -20°C +70°C
peak +90°C
Temperature with Water Glycol -20°C +70°C
peak +90°C
Pressures Fluids
— )
16 bar (1.6 MPa) @~ - Compressed air
) - Water
+ Hydraulic Oil
- Water Glycol
« Diesel Fuel
« Petrol
NAFE 1740 1750 1752
PTFETAPE FIXED BRACKET TUBE TECHNOPOLYMER PIPE CUTTER METAL CUTTER FOR PLASTIC PIPE
12mmx 0,1 mm x12 Mt 10x4 mm 10x 10 mm 14 mm max 15 mm max
10x6 mm 4x12mm 25 mm max
10x8 mm 4x 14 mm
1753 1755 [ New |
SPARE BLADE 1752 ANTI-SPARK TUBE CUTTER

15 mm max
25 mm max

6-8mm
10-12mm

49



AIGNEP

AUTOMATIC QUICK COUPLINGS

¢ Application El i Reference Standard
: : I o §
: + Compressed Air &Tools - Life & Sciences R 1907/2006  2011/65/CE ST/23/CE SILICON
¢« Pneumatic & Fluidtechnology . Cooling System REACH ¥ ,,/ (PED) FREE
: nins
i+ Food & Beverage - Inert Gases, Vacuum
SERIE 100 UNI ISO 6150 A-6
N\
(DN) 2.5 mm UNIISO 6150 A-6
-
1:1
¢ Pressure Fluids
: —1
: 0 bar Maximum static pressure (no pulsations): ( e - Compressed air
¢ 10 bar 35 bar * For other fluids, consult the technical department Aignep.
i Temperatures ~ K Flow Rate NI/min
L 9no° With FKM O-ring: == !
jl : 20 OC -10°C /B 6 bar 6 bar 6 bar
+80°C +200°C ‘ A1 A05 A 0 (Exhaust Free)
240 190 320
101 102 104 105
MALE SOCKET FEMALE SOCKET COMPRESSION SOCKET SOCKET WITH REST FOR RUBBER HOSE
g " o N "
1/8 4/2,7 4
6/4 6
201 202 204 205
MALE PLUG FEMALE PLUG COMPRESSION PLUG PLUG WITH REST FOR RUBBER HOSE
1/8 4/2,7 4
6/4

50



Serie Quick Couplings

(JAIGNEP

AN

m 5mm

MIGNON

=

1:1

i Pressure ¢ Fluids
: ‘ e
0 bar Maximum static pressure (no pulsations): o4 - Compressed air
¢ 12 bar 35 bar ¢ For other fluids, consult the technical department Aignep.
i Temperatures ") | FlowRate NI/min
C one With FKM O-ring: =
jl 20 OC -10°C \/ 6 bar 6 bar 6 bar
i +80°C +200°C A1 A0.5 A 0 (Exhaust Free)
650 480 1100
111 112 113 114
MALE SOCKET FEMALE SOCKET COMPRESSION SOCKET WITH SPRING COMPRESSION SOCKET
iq' 1/8 w 1/8 6/4 ﬁ i I 6/4
1/4 1/4 8/6 8/6
3/8 3/8
115 116 117 118
SOCKET WITH REST FOR RUBBER HOSE BULKHEAD SOCKET WITH MALE THREADED BULKHEAD SOCKET WITH COMPRESSION BULKHEAD SOCKET WITH COMPRESSION
CONNECTION CONNECTION WITH SPRING CONNECTION
e
Wy 4 1/8 6/4 6/4
6 1/4 8/6 8/6
8 3/8
119 111SW 112SW 211
BULKHEAD SOCKET WITH SPIGOT FOR MALE SOCKET WITHOUT SHUTTER FEMALE SOCKET WITHOUT SHUTTER MALE PLUG
RUBBER HOSE
4 1/8 1/8 E 1/8
6 1/4 1/4 1/4
8 3/8
212 213 214 215
FEMALE PLUG COMPRESSION PLUG WITH SPRING COMPRESSION PLUG PLUG WITH REST FOR RUBBER HOSE
e
! R
\\'ﬁ{""
e 1/8 6/4 6/4 4
1/4 8/6 8/6 6
3/8 8

51



@ AIGNEP Serie Quick Couplings

AN

(DN) 5.5mm UNI ISO 6150 B-12
N——"

1:1
i Pressure ¢ Fluids
: ‘ e
0 bar Maximum static pressure (no pulsations): o4 - Compressed air
¢ 16 bar 35 bar ¢ For other fluids, consult the technical department Aignep.
i Temperatures ") | FlowRate NI/min
PPN With FKM O-ring: ==
jl 20 OC -10°C \J 6 bar 6 bar 6 bar
: +80°C +200°C A1 A05 A 0 (Exhaust Free)
1100 800 1500
121 122 123 124
MALE SOCKET FEMALE SOCKET COMPRESSION SOCKET WITH SPRING COMPRESSION SOCKET
&
1/4 \ 1/4 6/4 @l 6/4
3/8 3/8 8/6 8/6
1/2 12 10/8 10/8
125 126 221 221AC
SOCKET WITH REST FOR RUBBER HOSE SOCKET FOR RUBBER HOSE MALE PLUG STEEL MALE PLUG
-\.“# ’ ,# V3, | %
6 14/6 . 1/4 ’ /4
8 17/8 3/8 3/8
10 19/10 1/2 1/2
12
222 222AC 223 224
FEMALE PLUG STEEL FEMALE PLUG COMPRESSION PLUG WITH SPRING COMPRESSION PLUG
\i*"i.‘ﬂ)
\i\"'\ﬂ“.
1/4 v 1/4 6/4 6/4
3/8 ¥ 3/8 - 8/6 8/6
1/2 12 10/8 10/8
12/10 12/10
225 225AC 227 228
PLUG WITH REST FOR RUBBER HOSE STEEL PLUG WITH REST FOR RUBBER HOSE BAYONET PLUG PLUG WITH GRADUAL EXHAUST
'y» 6 6 ;
8 B 8 15 B 1/4
10 : 10
12 12

52



Serie Quick Couplings

(JAIGNEP

AN

m 5mm

ITALIAN

I

Cr T
1:1
Pressure
0 bar Maximum static pressure (no pulsations):
i 16 bar 35 bar

Fluids

« Compressed air

i For other fluids, consult the technical department Aignep.

Temperatures . Flow Rate NI/min
_ o With FKM O-ring: ==
jl 20 OC -10°C , 6 bar 6 bar 6 bar
i +80°C +200°C A1 A0S A 0 (Exhaust Free)
1100 800 1500
121 122 123 124
MALE SOCKET FEMALE SOCKET COMPRESSION SOCKET WITH SPRING COMPRESSION SOCKET
y o . o
3/8 3/8 8/6 8/6
1/2 1/2 10/8 10/8
125 126 251 251AC
SOCKET WITH REST FOR RUBBER HOSE SOCKET FOR RUBBER HOSE MALE PLUG STEEL MALE PLUG
P - _3
6 14/6 i 1/4 1/4
8 17/8 - 3/8 3/8
10 19/10 1/2 12
12
252 252AC 253 254
FEMALE PLUG STEEL FEMALE PLUG COMPRESSION PLUG WITH SPRING COMPRESSION PLUG
X 1/4 ” 1/4 6/4 6/4
- 3/8 3/8 8/6 8/6
1/2 12 10/8 10/8
12/10 12/10
255 255AC 256 257
PLUG WITH REST FOR RUBBER HOSE STEEL PLUG WITH REST FOR RUBBER HOSE PLUG FOR RUBBER HOSE BAYONET PLUG
)ﬁy . 'yy 6 '9’ 14/6 w 15
8 8 17/8
10 10 19/10
12 12
258
PLUG WITH GRADUAL EXHAUST
" 1/4

53



(oj AIGNEP Serie Quick Couplings

£\

(DN) 9mm UNIISO 6150 B-15
N—

—

1:1
i Pressure ¢ Fluids
: ‘ e
0 bar Maximum static pressure (no pulsations): o - Compressed air
¢ 16 bar 35 bar ¢ For other fluids, consult the technical department Aignep.
i Temperatures "  FlowRate NI/min
i one With FKM O-ring: =c |
jl 20 OC -10°C \J 6 bar 6 bar 6 bar
: +80°C +200°C A1 A05 A 0 (Exhaust Free)
: 2500 2050 3300
131 132 133 134
MALE SOCKET FEMALE SOCKET COMPRESSION SOCKET WITH SPRING COMPRESSION SOCKET
= 4
3/8 3/8 10/8 10/8
172 12 12/10 12/10
135 231 232 233
SOCKET WITH REST FOR RUBBER HOSE MALE PLUG FEMALE PLUG COMPRESSION PLUG WITH SPRING
@M
_ 8 o 3/8 3/8 x 10/8
10 1/2 1/2 12/10
12
234 235 237
COMPRESSION PLUG PLUG WITH REST FOR RUBBER HOSE BAYONET PLUG
10/8 y 8 w 15
12/10 10
12

54



Serie Quick Couplings

(JAIGNEP

AN

m 5.5 mm

UNI'ISO 6150 C-10

C T T
1:1
i Pressure ¢ Fluids
: ‘ e
0 bar Maximum static pressure (no pulsations): o4 - Compressed air
¢ 25 bar 35 bar ¢ For other fluids, consult the technical department Aignep.
i Temperatures ") | FlowRate NI/min
PPN With FKM O-ring: ==
jl 20 OC -10°C \/ 6 bar 6 bar 6 bar
i +80°C +200°C A1 A0.5 A 0 (Exhaust Free)
1160 900 1550
141 142 143 144
MALE SOCKET FEMALE SOCKET COMPRESSION SOCKET WITH SPRING COMPRESSION SOCKET
o
w 1/4 w 1/4 6/4 Iv 6/4
3/8 3/8 8/6 8/6
1/2 1/2 10/8 10/8
145 241 241AC 242
SOCKET WITH REST FOR RUBBER HOSE MALE PLUG STEEL MALE PLUG FEMALE PLUG
‘* 2 174 }'* 1/4 VH ’ l I 1/4
10 3/8 3/8
12 172 1/2
242AC 243 244 245
STEEL FEMALE PLUG COMPRESSION PLUG WITH SPRING COMPRESSION PLUG PLUG WITH REST FOR RUBBER HOSE
. e
1 \\\“\‘“\ i -
1/4 6/4 6/4 e 6
8/6 8/6 8
10/8 10/8 10
12
247 248
BAYONET PLUG PLUG WITH GRADUAL EXHAUST

"e” 1/4

55



Serie Quick Couplings

(JAIGNEP

AN

(DN) 7.5-7.8 mm

L]

EUROPEAN

S

Pressure Fluids
( :
0 bar Maximum static pressure (no pulsations): — - Compressed air
16 bar 35 bar ¢ For other fluids, consult the technical department Aignep.
Temperatures . Flow Rate NI/min
20 ° With FKM O-ring: ==
jl 20 OC -10°C \J DN 6 bar 6 bar 6 bar
i +80°C +200°C A1 A0S5 A 0 (Exhaust Free)
7.5 1750 1100 2400
78 1900 1300 2450
161 162 163 164
MALE SOCKET FEMALE SOCKET COMPRESSION SOCKET WITH SPRING COMPRESSION SOCKET
- --‘ Ty M - ‘
1/4 1/4 6/4 6/4
3/8 3/8 8/6 8/6
172 1/2 10/8 10/8
12/10 12/10
165 166 261 261AC
SOCKET WITH REST FOR RUBBER HOSE SOCKET FOR RUBBER HOSE MALE PLUG STEEL MALE PLUG
3 6 14/6 1/4 ] 1/4
8 17/8 3/8 3/8
10 19/10 12 1/2
12
262 262AC 263 264
FEMALE PLUG STEEL FEMALE PLUG COMPRESSION PLUG WITH SPRING COMPRESSION PLUG
w g
A
J 1/4 1/4 M 6/4 J 6/4
3/8 3/8 8/6 8/6
172 1/2 10/8 10/8
12/10 12/10
265 265AC 266 267
PLUG WITH REST FOR RUBBER HOSE STEEL PLUG WITH REST FOR RUBBER HOSE PLUG FOR RUBBER HOSE BAYONET PLUG
- 6 6 14/6 15
8 8 17/8
10 10 19/10
12 12
268
PLUG WITH GRADUAL EXHAUST

56



Serie Quick Couplings

(JAIGNEP

AN

m 5.5 mm

SWISS

1:1

i Pressure i Fluids
: ‘ e
0 bar Maximum static pressure (no pulsations): o4 - Compressed air
¢ 16 bar 35 bar ¢ For other fluids, consult the technical department Aignep.
i Temperatures ") | FlowRate NI/min
PPN With FKM O-ring: ==
jl 20 OC -10°C \J 6 bar 6 bar 6 bar
i +80°C +200°C A1 A0.5 A 0 (Exhaust Free)
1300 1000 1650
171 172 271 271AC
MALE SOCKET FEMALE SOCKET MALE PLUG STEEL MALE PLUG
1/4 1/4 1/4 1/4
3/8 3/8 3/8 3/8
1/2 1/2 1/2 1/2
272 272AC 273 274
FEMALE PLUG STEEL FEMALE PLUG COMPRESSION PLUG WITH SPRING COMPRESSION PLUG
i
6/4 6/4
: 1/4 5
“i 3;8 "i 174 8/6 8/6
" 3/8 10/8 10/8
172 12/10 12/10
275 275AC 277 278
PLUG WITH REST FOR RUBBER HOSE STEEL PLUG WITH REST FOR RUBBER HOSE BAYONET PLUG PLUG WITH GRADUAL EXHAUST
6 6 15 1/4
8 8
10 10
12 12

57



Serie Quick Couplings

(JAIGNEP

N\
(DN) 5mm MIGNON
—O—+—O— S —
1:1
i Pressure . Fluids
: ‘ e
0 bar Maximum static pressure (no pulsations): @4 | - Compressed air
i 12 bar 35 bar ¢ For other fluids, consult the technical department Aignep.
i Temperatures "W  FlowRate NI/min
Cone With FKM O-ring: =c |
jl 20 oc -10°C \J 6 bar 6 bar 6 bar
: +80°C +200°C A1 A05 A 0 (Exhaust Free)
285 240 445
181 182 183 184
MALE SOCKET FOR SHUTTER PLUG FEMALE SOCKET FOR SHUTTER PLUG COMPRESSION SOCKET WITH NUT COMPRESSION SOCKET FOR SHUTTER PLUG

\

AND SPRING FOR SHUTTER PLUG

0
ol
6/4 6/4
8/6 8/6

1/8
1/4 /4
3/8 3/8
185 281 282 283
SOCKET WITH REST FOR RUBBER HOSE FOR MALE SHUTTER PLUG FEMALE SHUTTER PLUG COMPRESSION SHUTTER PLUG WITH NUT
SHUTTER PLUG AND SPRING
: ‘” e
4 o 1/8 R ) 1/8 ¥ 6/4
6 1/4 1/4 8/6
8 3/8 3/8
284 285

COMPRESSION SHUTTER PLUG

tﬁ 6/4

8/6

SHUTTER PLUG WITH REST FOR RUBBER HOSE

~

58



Serie Quick Couplings

(JAIGNEP

One socket for 4 different plugs

A

PROFIL
SWISS

SERIE 270
DN 5.5 mm

=

PROFIL
EUROPEAN

SERIE 260

DN 7.5-7.8 mm

-

PROFIL
ITALIAN

SERIE 250
DN 5 mm

—

PROFIL
UNI'ISO 6150 B-12

SERIE 220
DN 5.5 mm

[ T [ e
11 111 [ S
11 1:1
Pressure Fluids
0 bar Maximum static pressure (no pulsations): —— « Compressed air
¢ 16 bar 35 bar ¢ For other fluids, consult the technical department Aignep.
Temperatures T~ Flow Rate NI/min
_90° With FKM O-ring: ==
jl 20 oc -10°C \/ B 6 bar 6 bar 6 bar
:+80°C +200°C Al A05 A 0 (Exhaust Free)
220 900 700 1450
250 800 700 1300
260 1350 1000 2150
260 1510 1200 2250
270 1100 750 1600
191 192 193 194
MALE SOCKET FEMALE SOCKET COMPRESSION SOCKET WITH SPRING COMPRESSION SOCKET
14 1/4 6/4 10/8 v 6/4 10/8
) 38 \ 38 [} 8/6 12/10 \ 8/6 12/10
12 12 10/6.5
195 196
SOCKET WITH REST FOR RUBBER HOSE SOCKET FOR RUBBER HOSE
6
8 .ﬁ 14/6
10 17/8
1 19/10
AISI 316L
i Pressure ¢ Fluids
: e~
. Obar Maximum static pressure (no pulsations): ( @ | - Compressed air
¢ 16 bar 35 bar * For other fluids, consult the technical department Aignep.
i Temperatures
A e
i +200°C

63190
MALE SOCKET “UNIVERSAL SHORT”

W

63192
FEMALE SOCKET

W

1/4
3/8

172

1/4
3/8
1/2

63260
MALE PLUG EUROPEAN PROFILE “UNIVERSAL

SHORT”
%

1/4
3/8
1/2

63262
FEMALE PLUG EUROPEAN PROFILE

o W

1/4

3/8
1/2

59



Serie Quick Couplings

(JAIGNEP

(DN) 7.5mm

O

JAPANESE

Pressure

0 bar Maximum static pressure (no pulsations):
i 25 bar 35 bar

Fluids

« Compressed air

11
¢ For other fluids, consult the technical department Aignep.
i Temperatures - Flow Rate NI/min
{900 With FKM O-ring: ==
jl 20 OC -10°C \J 6 bar 6 bar 6 bar
i +80°C +200°C A1 A0S5 A 0 (Exhaust Free)
1350 1050 2050
401 402 405 501AC
MALE SOCKET FEMALE SOCKET SOCKET WITH REST FOR RUBBER HOSE STEEL MALE PLUG
e — o —
; ] 1/4
1/4 1/4 8 3/8
3/8 38 10 172
1/2 12 12
502AC 505AC
STEEL FEMALE PLUG STEEL PLUG WITH REST FOR RUBBER HOSE
/4
3/8 8
1/2 10
12
— Pressure
m 2,7 mm 0 bar Maximum static pressure (no pulsations):
= 12 bar 35 bar
_Q)_,+ ‘” Fluids
- Compressed air
| Temperatures i For other fluids, consult the technical department Aignep.
jl -20°C Y\%EEKM O-ring: - Flow Rate NI/min
i +80°C +200°C ==
\J 6 bar 6 bar 6 bar
A1 A 0.5 A 0 (Exhaust Free)
235 175 295
701 702 704 801
MALE SOCKET FEMALE SOCKET COMPRESSION SOCKET MALE PLUG
M5 M5 4/2,7 M5
1/8 1/8 6/4 1/8
802 804
FEMALE PLUG COMPRESSION PLUG
M5 4/2,7
1/8 6/4

60



(JAIGNEP

Serie Quick Couplings

m 12 mm

UNI'ISO 6150-B17

i Pressure
0 bar Maximum static pressure (no pulsations):
i 16 bar 35 bar

Fluids

© + Compressed air
¢ For other fluids, consult the technical department Aignep.

CYr 11
1:1
i Temperatures ) FlowRate NI/min
Cone With FKM O-ring: ==
jl 20 OC -10°C \J 6 bar 6 bar 6 bar
i +80°C +200°C A1 A0S A 0 (Exhaust Free)
4200 3200 4750
71 712 811 812
MALE SOCKET FEMALE SOCKET MALE PLUG FEMALE PLUG
1/2 1/2 1/2 1/2
3/4 3/4 3/4 3/4

One socket for 2 different plugs

UNI'ISO 6150 B-15

EUROPEAN DN 10

—

DN 9 mm %‘ DN 10 mm
1:1
1:1
Pressure Fluids
0 bar Maximum static pressure (no pulsations): — - Compressed air
¢ 16 bar 35 bar ¢ For other fluids, consult the technical department Aignep.
Temperatures T Flow Rate NI/min
_90 ° With FKM O-ring: ==
ﬁ 20°C -10°C \J DN 6 bar 6 bar 6 bar
: +80°C +200°C A1 A0S A 0 (Exhaust Free)
9 3150 2500 3650
10 3300 2600 3800
721 722 821 822
MALE SOCKET FEMALE SOCKET MALE PLUG FEMALE PLUG
3/8 3/8 3/8 3/8
1/2 1/2 1/2 1/2

61



Serie Quick Couplings

(JAIGNEP

T Flow Rate NI/min i Reference Standard
;z 6 bar 6 bar 6 bar V
Plug 1907/2006 2011/65/CE 97/23/CE SILICON 150
A1 A0.5 A 0 (Exhaust Free) REACH Y (PED) FREE it
220 AC 950 700 1400 neuz
250 AC 850 700 1170
260 AC 1300 1050 1830 SUVA APPROVED
270 AC 1000 750 1350
Temperatures { Pressure { Fluids
i ‘ e
ﬂ -20°C -0.99 bar ('0.099 MPa) — . Compressed air
+80°C ¢ 15 bar (1.5 MPa) :
N SERIE 620 UNIISO 6150-B12
(DN) 5.5mm UNI ISO 6150-B12
7
1:1
621 622 624 625
MALE SOCKET FEMALE SOCKET COMPRESSION SOCKET SOCKET WITH REST FOR RUBBER HOSE
1/4 1/4 6/4 10/8 6
3/8 3/8 8/6 12/8 8
1/2 172 10/6.5 12/10 10
12
221AC 222AC 225AC
STEEL MALE PLUG STEEL FEMALE PLUG STEEL PLUG WITH REST FOR RUBBER HOSE
M 1/4 " ' 1/4 6
3/8 3/8 g
1/2 1/2 10
12
N SERIE 650 ITALIAN
(DN) 5mm ITALIAN
i =
1:1 ~
651 652 654 655
MALE SOCKET FEMALE SOCKET COMPRESSION SOCKET SOCKET WITH REST FOR RUBBER HOSE
1/4 1/4 6/4 10/8 6
3/8 3/8 8/6 12/8 8
1/2 1/2 10/6.5 12/10 10
12
251AC 252AC 255AC
STEEL MALE PLUG STEEL FEMALE PLUG STEEL PLUG WITH REST FOR RUBBER HOSE
. 6
g 1/4 1/4 8
3/8 3/8 10
1/2 1/2 12

62



Serie Quick Couplings

(JAIGNEP

m 7.8 mm

O

EUROPEAN [ 1

[ ——

SERIE 660 EUROPEAN

1:1
661 662 664 665
MALE SOCKET FEMALE SOCKET COMPRESSION SOCKET SOCKET WITH REST FOR RUBBER HOSE
L
/4 1/4 6/4 6
3/8 3/8 8/6 8
12 172 10/6.5 10
10/8 12
12/8
12/10
261AC 262AC 265AC
STEEL MALE PLUG STEEL FEMALE PLUG STEEL PLUG WITH REST FOR RUBBER HOSE
‘J‘x 1/4 m 1/4 6
3/8 3/8 8
12 12 10
12
SERIE 670 SWISS
RN
(DN) 5.5mm SWiss
N
CY T
1:1
671 672 674 675
MALE SOCKET FEMALE SOCKET COMPRESSION SOCKET SOCKET WITH REST FOR RUBBER HOSE
1/4 1/4 6/4 6
3/8 3/8 8/6 8
1/2 1/2 10/6.5 10
10/8 12
12/8
1210
271AC 272AC 275AC 628
STEEL MALE PLUG STEEL FEMALE PLUG STEEL PLUG WITH REST FOR RUBBER HOSE EPDM SOCKET PROTECTION
1/4 174 @)")» 6 - ;
38 e 8 0
12 172 10 I
12

63



@ AIGNEP Serie Quick Couplings

Bar Pressure Fluids
\ - 15 bar (1.5 MPa) ( L - Water

: + Cooling water

f. il
i Temperatures
f.15°C With identification ring
 1200°C art. 513-523:
i +110°C
SERIE 410 - 510 FRENCH PROFILE - DN8
412 415 416 418
FEMALE PLUG STRAIGHT PLUG WITH REST FOR RUBBERHOSE ~ PLUG WITH REST FORRUBBERHOSETO 135°  PLUG WITH REST FOR RUBBER HOSE TO 90°
w 1/4 3/8 ﬁ I 8 ﬁ 8
) 12 10 o 10
1 12
511 512 514 513
MALE SOCKET EXTENDED MALE SOCKET MALE SOCKET TAPER IDENTIFICATION RING
1/8 1/8-1=50  1/4-1=150 18 o O e I
1/4 1/8-1=100  1/4-1=200 1/4
3/8 1/8-1=150 3/8-1=50 3/8 ol
1/8-1=200  3/8-L=100
1/4-1=50  3/8-1=150
1/4-1=100  3/8-1=200
SERIE 420-520 FRENCH PROFILE - DN12
422 425 521 522
FEMALE PLUG STRAIGHT PLUG WITH REST FOR RUBBER HOSE ~ MALE SOCKET MALE SOCKET TAPER
: r 1/2 13 3/8 3/8
16 12 12
523
IDENTIFICATION RING
o O G |
ol

64



@ AIGNEP Serie Quick Couplings

. Pressure © Fluids

15 bar (1.5 MPa) @ - Water

- Cooling water
Lol

| Temperatures

jl L-15°C
| +200°C

SERIE 430 INTERNATIONAL PROFILE - DN 6

£\
(DN) 6mm — >—'+ INTERNATIONAL

Jo

N——"
431 432 435 436
MALE PARALLEL SOCKET FEMALE SOCKET STRAIGHT SOCKET WITH REST FOR STRAIGHT SOCKET WITH 90° REST FOR

RUBBER HOSE RUBBER HOSE

X

&

1/4 1/4 6 6
9 9
431SW 432SW 435SW 436SW
MALE PARALLEL SOCKET WITHOUT SHUTTER FEMALE SOCKET WITHOUT SHUTTER STRAIGHT SOCKET WITH REST FOR RUBBER STRAIGHT SOCKET WITH 90° REST FOR
HOSE WITHOUT SHUTTER RUBBER HOSE WITHOUT SHUTTER
1/4 1/4 6 6
9 9
531 532 534 535
MALE PLUG (TAPER) FEMALE PLUG MALE SHUTTER PLUG (TAPER) STRAIGHT PLUG WITH REST FOR RUBBER HOSE
1/8 1/8 1/4 9
1/4 1/4 3/8

3/8 3/8 Use only with: 431 - 432 - 435 - 436

65



Serie Quick Couplings

(JAIGNEP

SERIE 440

INTERNATIONAL PROFILE - DN9

N
(DN) 9mm —O—+—<— INTERNATIONAL
N—
1:1
a1 442 445 446
MALE PARALLEL SOCKET FEMALE SOCKET STRAIGHT SOCKET WITH REST FOR STRAIGHT SOCKET WITH 90° REST FOR
RUBBER HOSE RUBBER HOSE
| i
3/8 1/4 1l 11
13 13
441SW 4425W 4455W 446SW
MALE PARALLEL SOCKET WITHOUT SHUTTER FEMALE SOCKET WITHOUT SHUTTER STRAIGHT SOCKET WITH REST FOR RUBBER STRAIGHT SOCKET WITH 90° REST FOR
HOSE WITHOUT SHUTTER RUBBER HOSE WITHOUT SHUTTER
r
3/8 1/4 1 11
13 13
541 542 544 545
MALE PLUG (TAPER) FEMALE PLUG MALE SHUTTER PLUG (TAPER) STRAIGHT PLUG WITH REST FOR RUBBER HOSE
1/4 1/4 3/8 13
3/8 3/8 1/2
1/2 1/2 Use only with: 441 - 442 - 445 - 446

66



(JAIGNEP

Serie Quick Couplings

i Pressure { Temperatures ¢ Fluids
: —t
: 15 bar (1.5 MPa) jl i -15°C (: i« Water
: i +200°C .+ Cooling water
el
SERIE 460 EUROPEAN PROFILE - DN6
N\
(DN) 6mm —O—+—<— EUROPEAN
—
1:1
261 162 465 466
MALE PARALLEL SOCKET FEMALE SOCKET STRAIGHT SOCKET WITH REST FOR STRAIGHT SOCKET WITH 90° REST FOR
RUBBER HOSE RUBBER HOSE
1/4 1/4 6 6
9 9
461SW 4625W 465SW 466SW
MALE PARALLEL SOCKET WITHOUT SHUTTER FEMALE SOCKET WITHOUT SHUTTER STRAIGHT SOCKET WITH REST FOR RUBBER STRAIGHT SOCKET WITH 90° REST FOR
HOSE WITHOUT SHUTTER RUBBER HOSE WITHOUT SHUTTER
l 1/4 1/4 6
9 9
561 562 564 565

MALE PLUG (PARALLEL)

| =
1/8

1/4
3/8

FEMALE PLUG

£\
(DN) 9 mm —O——<—

MALE SHUTTER PLUG (PARALLEL) STRAIGHT PLUG WITH REST FOR RUBBER HOSE

/8 w 1/4 9

/4 3/8
3/8 | Use only with: 461 - 462 - 465 - 466

SERIE 470 EUROPEAN PROFILE - DN9

o %
1:1

an 472
MALE PARALLEL SOCKET FEMALE SOCKET

475 476
STRAIGHT SOCKET WITH REST FOR STRAIGHT SOCKET WITH 90° REST FOR
RUBBER HOSE RUBBER HOSE
1/4 = " il
13 13

67



(JAIGNEP

Serie Quick Couplings

471SW 472SW 475SW 476SW
MALE PARALLEL SOCKET WITHOUT SHUTTER FEMALE SOCKET WITHOUT SHUTTER STRAIGHT SOCKET WITH REST FOR RUBBER STRAIGHT SOCKET WITH 90° REST FOR
HOSE WITHOUT SHUTTER RUBBER HOSE WITHOUT SHUTTER
3/8 1/4 1 1
13 13
571 572 574 575
MALE PLUG (PARALLEL) FEMALE PLUG MALE SHUTTER PLUG (PARALLEL) STRAIGHT PLUG WITH REST FOR RUBBER HOSE
G1/4 G1/4 G1/4 13
G3/8 G3/8 G3/8
G1/2 G1/2 G1/2

Use only with: 471 - 472 - 475 - 476

Pressure i Fluids ¢ Reference Standard
— H
10 bar (1 MPa) G"‘ ¢« Compressed air
1907/2006 2011/65/CE 97/23/CE SILICON
REACHY' (PED) FREE
LB
Temperatures
Iy
i +80°C
321 322 325 326
BLOW GUN FEMALE CONNECTION BLOW GUN WITH PROTECTIVE AIR-SCREEN BLOW GUN - PUSH-ON CONNECTION BLOW GUN WITH PROTECTIVE AIR SCREEN
FEMALE CONNECTION WITH SPRING PUSH-ON CONNECTION WITH SPRING
/ ‘ T g
N ‘fi ‘p‘f
=90 =90 =90 -8/6 L=200-10/8 [=90-8/6 =200-10/8
=200 =200 L=90-10/8 =200-8/6 L=90-10/8 L=200-8/6
=290 =290 L=200-8/6  L=200-10/8 L=200-8/6  L=200-10/8
310 311 312
STRAIGHT NOZZLE (SPARE PART) ELBOW NOZZLE (SPARE PART) VENTURI'S EFFECT NOZZLE (SPARE PART)
L=100 =90
=210 L=200 L=55-D=17
=300 =290
340 3 342 343
BLOWGUN WITH @ 6 MM BENT PIPE FEMALE BLOWGUN WITH @ 6 MM BENT PIPE WITH BLOWGUN WITH @ 6 MM STAINLESS BENT BLOWGUN WITH @ 8 MM BENT PIPE - 3,5 BAR
POLYMER THREAD METAL BUSHING PIPE SUPER SILENT
=215 =217 =215 =217

68



AIGNEP

COMPRESSION FITTINGS, DOUBLE CONE
FITTINGS AND UNIVERSAL FITTINGS

Application i Reference Standard

+ Heavy Pneumatic Automation

1907/2006 2011/65/CE 97/23/CE SILICON

REACHY' " (PED) FREE
« Industrial cooling : s

+ Automotive

i« Inert Gases, Steam
+ Vacuum

- Nickel-plated Brass Nut (Serie 9000 - 10000) Tubes made in copper, steel, iron, aluminium, brass, PA.
- Annealed Brass Olive ¢ Serie 10000 PA tubes with support bush (art. 10770).
i+ Nickel-plated Brass Body (Serie 13000)

Temperatures i Threads

E i Component Parts and Materials i Connection Tubes

: Fluids
P I
G i - Water

+300°C . - Parallel gas in conformity with ISO 228 Class A.

£+ Metric in conformity with 1SO R/262.

- Qils
+ Compressed air
¢+ Fluids in general for the hydraulic, pneumatic
and oildynamic plants etc.

-60 °C - Tapered gas in conformity with ISO7.1, BS 21, DIN 2999.

SERIE 9000 COMPRESSION FITTINGS

9200 9220 9230 9260
TEE CONNECTOR TEE MALE ADAPTOR - CENTRE LEG TEE MALE ADAPTOR OFF SET LEG ELBOW CONNECTOR
> . : ;
v ‘® \ \ o L '
4 10 15 4-1/8 14-1/2 4-1/8 8-3/8 14-1/2 4 0 15
6 12 16 6-1/8 15-1/2 6-1/8 10-1/4 15 2 6 2 16
8 14 18 6-1/4 16-1/2 6-1/4 10-3/8 16-1/2 8 4 18
8-1/8 18-1/2 8-1/8 12-3/8 18-1/2
8-1/4 8-1/4 12-1/2
9280 9460 9480 9500
ELBOW MALE ADAPTOR STRAIGHT CONNECTOR STRAIGHT MALE ADAPTOR STRAIGHT FEMALE ADAPTOR
14-1 4 10 15 4-1/8 8-3/8 14-1/2 8- 14-1/2
15 6 12 16 6-1/8 10-1/4 15-1/2 10- 15-1/2
16 8 14 18 6-1/4 10-3/8 16-1/2 10- 16-1/2
18-1 8-1/8 12-3/8 18-1/2 12- 18-1/2
8-1/4 12-1/2 2-

69



(JAIGNEP

Serie Compression Fittings

9550 9680 9740 10770
SINGLE BANJO BODY NUT OLIVE INTERNAL SUPPORT BUSH
; “ o
—
s -
4-1/8 8-1/8 10-1/4 4LL 0L 5L 4LL 0L 5L 4/27-27 12/10-10 18/16-16
6-1/8 8-1/4 10-3/8 6LL 2L 165 6LL 12L 165 6/4-4 14/12-12 22/18-18
6-1/4 8-3/8 12-3/8 8LL 14S 18L 8LL 145 18L 8/6-6 15/125-125
10/8-8 16/13-13
12/9-9 18/15-15
10200 10220 10230 10240
TEE CONNECTOR TEE MALE ADAPTOR CENTRE LEG TEE MALE ADAPTOR OFF SET LEG TEE FEMALE CENTRE LEG
-
=
4 12 18 4-1/8 10-3/8 15-1/2 4-1/8 8-1/4 12-3/8 4-1/8 10-3/8 15-1/2
6 14 22 6-1/8 10-1/2 16-1/2 6-1/8 8-3/8 12-1/2 6-1/8 10-1/2 16-1/2
8 15 6-1/4 12-1/4 18-1/2 6-1/4 10-1/4 14-1/2 6-1/4 12-1/4 18-1/2
10 16 8-1/8 12-3/8 18-3/4 8-1/8 10-3/8 8-1/8 12-3/8 18-3/4
8-1/4 12-1/2 22-3/4 8-1/4 12-1/2
8-3/8 14-3/8 10-1/4 14-1/2
10-1/4 14-1/2
10260 10280 10290 10460
ELBOW CONNECTOR ELBOW MALE ADAPTOR ELBOW FEMALE ADAPTOR STRAIGHT CONNECTOR
4 12 18 4-1/8 10-3/8 15-1/2 4-1/8 10-1/4 14-1/2 4 12 18
6 14 22 6-1/8 10-1/2 16-1/2 6-1/8 10-3/8 15-1/2 6 14 22
8 15 6-1/4 12-1/4 18-1/2 6-1/4 10-1/2 16-1/2 8 15
10 16 8-1/8 12-3/8 18-3/4 8-1/8 12-1/4 18-1/2 10 16
8-1/4 12-1/2 22-3/4 8-1/4 12-3/8 18-3/4
8-3/8 14-3/8 8-3/8 12-1/2
10-1/4 14-1/2
10465 10480 10485 10500
STRAIGHT CONNECTOR STRAIGHT MALE ADAPTOR (TAPER) STRAIGHT MALE ADAPTOR (PARALLEL) STRAIGHT FEMALE ADAPTOR
4 10 4-1/8 10-1/4 15-1/2 4-1/8 8-1/4 14-3/8 4-1/8 10-1/4 14-1/2
6 12 4-1/4 10-3/8 16-1/2 6-1/8 8-3/8 14-1/2 4-1/4 10-3/8 15-1/2
8 14 6-1/8 10-1/2 16-3/4 6-1/4 10-1/4 22-3/4 6-1/8 10-1/2 16-1/2
6-1/4 12-1/4 18-1/2 8-1/8 10-3/8 22-1" 6-1/4 12-1/4 16-3/4
6-3/8 12-3/8 18-3/4 8-1/8 12-3/8 18-1/2
8-1/8 12-1/2 22-1/2 8-1/4 12-1/2 18-3/4
8-1/4 14-3/8 22-3/4 8-3/8 14-3/8 22-3/4
8-3/8 14-1/2
10510 13530 13540 10550
EQUAL CROSS ORIENTING MALE ADAPTOR PARALLEL SLEEVE HOSE ADAPTER FOR CAOUTCHOUC TUBES STRAIGHT MALE ADAPTOR WITH OR (PARALLEL)

10 6-1/8 8-1/4 10-3/8 6-7-9 10-7-9 12-13-155 4-1/8 8-1/4 14-1/4
12 6-1/4 8 -3/8 14-3/8 8-7-9 10-10-12 14-13-155 6-1/8 8-3/8 14-3/8
14 8-1/8 10-1/4 14-1/2 8-10-12 12-10-12 6-1/4 10-1/4 14-1/2

8-1/8 10-3/8 22-3/4

70



(JAIGNEP

Serie Compression Fittings

10680 10740 10760 10770
NUT BRASS OLIVE PTFE OLIVE INTERNAL SUPPORT BUSH
W = -
4 12 18 4 12 18 4 12 18 4/27-2.7 12/10-10 18/16-16
6 14 22 6 14 22 6 14 22 6/4-4 14/12-12 22/18-18
8 15 8 15 8 15 8/6-6 15/125-125
10 16 10 16 10 16 10/8-8 16/13-13
12/9-9 18/15-15
13780 1612 1613
PLUG FOR UNIVERSAL FITTINGS STEEL AND NBR BIMATERIAL WASHER STEEL AND NBR CENTERING BIMATERIAL WASHER
4 12 18 1/8 12 1/8 1/2
6 14 2 1/4 3/4 1/4 3/4
8 15 3/8 1" 3/8 1"
10 16
13200 13220 13230 13240
TEE CONNECTOR TEE MALE ADAPTOR CENTRE LEG TEE MALE ADAPTOR OFF SET LEG TEE FEMALE CENTRE LEG
\ ‘e v .
4 12 18 4-1/8 10-3/8 15-1/2 4-1/8 8-1/4 12-3/8 4-1/8 10-3/8 15-1/2
6 14 22 6-1/8 10-1/2 16-1/2 6-1/8 8-3/8 12-1/2 6-1/8 10-1/2 16-1/2
8 15 6-1/4 12-1/4 18-1/2 6-1/4 10-1/4 14-1/2 6-1/4 12-1/4 18-1/2
10 16 8-1/8 12-3/8 18-3/4 8-1/8 10-3/8 8-1/8 12-3/8 18-3/4
8-1/4 12-1/2 22-3/4 8-1/4 12-1/2
8-3/8 14-3/8 10-1/4 14-1/2
10-1/4 14-1/2
13260 13280 13290 13300
ELBOW CONNECTOR ELBOW MALE ADAPTOR ELBOW FEMALE ADAPTOR ORIENTING ELBOW MALE ADAPTOR
4 12 18 4-1/8 10-3/8 15-1/2 4-1/8 10-1/4 14-1/2 4-1/8 8-3/8 18-1/2
6 14 22 6-1/8 10-1/2 16-1/2 6-1/8 10-3/8 15-1/2 4-1/4 10-1/4 18-3/4
8 15 6-1/4 12-1/4 18-1/2 6-1/4 10-1/2 16-1/2 6-1/8 10-3/8 22-3/4
10 16 8-1/8 12-3/8 18-3/4 8-1/8 12-1/4 18-1/2 6-1/4 10-1/2 22-1"
8-1/4 12-1/2 22-3/4 8-1/4 12-3/8 18-3/4 8-1/8 14-3/8
8-3/8 14-3/8 8-3/8 12-1/2 8-1/4 14-1/2
10-1/4 14-1/2
13460 13465 13480 13483
STRAIGHT CONNECTOR BULKHEAD CONNECTOR STRAIGHT MALE ADAPTOR (TAPER) STRAIGHT MALE ADAPTOR WITH OR
(PARALLEL)
4 12 18 4 10 4-1/8 10-1/4 15-1/2 4-1/8 10-3/8 15-1/2
6 14 22 6 12 4-1/4 10-3/8 16-1/2 6-1/8 12-1/4 16-3/8
8 15 8 14 6-1/8 10-1/2 16-3/4 6-1/4 12-3/8 16-1/2
10 16 6-1/4 12-1/4 18-1/2 8-1/8 12-1/2 18-1/2
6-3/8 12-3/8 18-3/4 8-1/4 14-3/8 18-3/4
8-1/8 12-1/2 22-1/2 8-3/8 14-1/2 22-3/4
8-1/4 14-3/8 22-3/4 10-1/4 15-3/8 22-1"
8-3/8 14-1/2

71



(JAIGNEP

Serie Compression Fittings

13485
STRAIGHT MALE ADAPTOR (PARALLEL)

13500
STRAIGHT FEMALE ADAPTOR

\

13510
EQUAL CROSS

13530
ORIENTING MALE ADAPTOR PARALLEL

4-1/8 8-1/4 14-3/8 4-1/8 10-1/4 14-1/2 4 10 6-1/8 8-1/4 10-3/8
6-1/8 8-3/8 14-1/2 4-1/4 10-3/8 15-1/2 6 12 6-1/4 8 -3/8 14-3/8
6-1/4 10-1/4 22-3/4 6-1/8 10-1/2 16-1/2 8 14 8-1/8 10-1/4 14-1/2
8-1/8 10-3/8 22-1" 6-1/4 12-1/4 16-3/4
8-1/8 12-3/8 18-1/2
8-1/4 12-1/2 18-3/4
8-3/8 14-3/8 22-3/4
13540 13550 135508l 1357081
SLEEVE HOSE ADAPTER FOR CAOUTCHOUC SINGLE BANJO BODY WITH STEM SINGLE BANJO BODY WITH STEM AND DOUBLE BANJO BODY WITH STEM AND
TUBES BIMATERIAL WASHER (1613) BIMATERIAL WASHER (1619)
6-7-9 10-7-9 12-13-155 4-1/8 8-1/4 14-1/4 4-1/8 10-1/4 14-1/2 4-1/8 10-1/4 14-1/2
8-7-9 10-10-12 14-13-155 6-1/8 8-3/8 14-3/8 6-1/8 10-3/8 15-3/8 6-1/8 10-3/8 15-3/8
8-10-12 12-10-12 6-1/4 10-1/4 14-1/2 6-1/4 12-1/4 15-1/2 6-1/4 12-1/4 15-1/2
8-1/8 10-3/8 22-3/4 8-1/8 12-3/8 16-1/2 8-1/8 12-3/8 16-1/2
8-1/4 14-1/4 18-1/2 8-1/4 14-1/4 18-1/2
8-3/8 14-3/8 22-3/4 8-3/8 14-3/8 22-3/4
13600 13680 13740 13780
REDUCTION NUT BRASS OLIVE PLUG FOR UNIVERSAL FITTINGS
r—
Y o
E‘ = -
o 8
L
4-6 10-12 4 12 18 4 12 18 4 12 18
6-8 12-14 6 14 22 6 14 22 6 14 22
8-10 8 15 8 15 8 15
10 16 10 16 10 16
10770 1612 1613
INTERNAL SUPPORT BUSH STEEL AND NBR BIMATERIAL WASHER STEEL AND NBR CENTERING BIMATERIAL
WASHER
4/2.7-27 12/10-10 18/16- 16 1/8 1/2 1/8 1/2
6/4-4 14/12-12 22/18-18 1/4 3/4 174 3/4
8/6-6 15/125-125 3/8 1" 3/8 1"
10/8-8 16/13-13
12/9-9 18/15-15
HOSE ADAPTER FOR LOCKING HOSE SELF
13800 13810 13820
FEMALE HOSE ADAPTER FOR LOCKING HOSE MALE HOSE ADAPTER FOR LOCKING HOSE NIPPLE
SELF SELF
10x1-6-1/4 20x1.5-14-1/2 G1/8-1/4 G1/2-1/2 10x1-6-1/8 16x15-10-1/2
12X1-8-1/4 24x1.5-18-1/2 G1/4-1/4 G1/2-5/8 10x1-6-1/4 20x1,5-14-3/8
16x1.5-10-1/4 24x15-18-5/8 G1/4-3/8 G3/4-5/8 10x1-6-3/8 20x15-14-1/2
16x1.5-10-3/8 30x1.5-22-3/4 G3/8-3/8 G3/4-3/4 12x1-8-1/8 24x15-18-1/2
20x1.5-14-3/8 G3/8-1/2 12x1-8-1/4 24x1,5-18-3/4
12x1-8-3/8 30x1,5-22-3/4
16x1,5-10-1/4 30x1,5-22-1/2
16x1,5-10-3/8

72



AIGNEP

MANUAL, PNEUMATIC AND SOLENOID PILOT VALVE

SERIE 01V MANUAL, PNEUMATIC, SOLENOID PILOT AND ASSISTED VALVES

Application
J + Pneumatic Automation, Robotics, Handling

+ Automotive Process
- Textile, Packaging, Heavy Duty
- Food Process

+ Atex Zone
Component Parts and Materials p Reference Standard
¢+ Anodised and painted aluminium body ©|
; ) L : 1907/2006 2011/65/CE 97/23/CE ATEX
L. Nickel-plated spool C REACHY _./ (PED) 04/9)CE
© « NBRseals —
Solenoid Pilot Valve
1/8 1/4 1/2
THREADED 1/8 1/4 1/2
- ﬁ h) E::V 6 bar FLOW RATE 740 1200 5000
= .;? 'l 1 W@ with Ap 1 bar NI/min NI/min NI/min
L] e
. - Bar Monostable 2 +10 bar
=t \\ OPERATING PRESSURE
o Bistable 1+ 10 bar
- min -10°C
_ = jL TEMPERATURE
. == i max +60 °C
- }_,_ - Y
5 T g ¢
24V DC- 12V DC- 24V AC
e SOLENOID VOLTAGE 110V AC - 220V AC
|
L
e
i — @ MINIMUM POWER 2W-3VA
=il ‘
P
MANUAL CONTROL BISTABLE
TORQUE OF TIGHTENING
THE NUT SOLENOID 0.6Nm
Serie Actuation Reactuation Ways Function Size
Y e S S IR I
01V s (o 3 N C 0 2
S=Solenoid 0= Monostable 3=3/2 NO = Normally open 02=1/8
spring return 5=5/2 NC = Normally closed 03=1/4
1= Bistable 7=53 cC= Normally closed 05=1/2

0OC = Normally exhausted
PC= Normally pressurized
00 = Function not privided

73



Serie Valves

(JAIGNEP

Solenoid Assisted

1/8 1/4
THREADED 1/8 1/4
A® 6 bar FLOW RATE 740 1200
Wa  with Ap 1 bar NI/min NI/min
Bal
OPERATING PRESSURE Vacuum + 10 bar
Monostable 2+ 10 bar
PRESSURE DRIVE
Bistable 1+ 10 bar
min -10°C
TEMPERATURE
max +60 °C
24V DC-12V DC - 24V AC
SOLENOID VOLTAGE 110V AC - 220V AC
MINIMUM POWER 2W-3VA
MANUAL CONTROL BISTABLE
TORQUE OF TIGHTENING
THE NUT SOLENOID 0.6 Nm
Serie Actuation Reactuation Ways Function Size
A = Solenoid 0 = Monostable 3=3/2 NO = Normally open 02=1/8
Assisted spring return 5=5/2 NC = Normally closed 03=1/4
1 = Bistable 7=5/3 CC= Normally closed
0OC = Normally exhausted
PC= Normally pressurized
00 = Function not privided
Pneumatic Valve
1/8 1/4 1/2
THREADED 1/8 1/4 12
AW 6 bar FLOW RATE 740 1200 5000
Wy with Ap 1 bar NI/min NI/min NI/min
:E]
OPERATING PRESSURE 010 bar
Ba Monostable 2+ 10 bar
\ PRESSURE DRIVE
- Bistable 1+ 10 bar
min -10°C
jl TEMPERATURE
max +60 °C
Serie Actuation Reactuation Ways Function Size
P =Pneumatic 0= Monostable 3=3/2 NO = Normally open 02=1/8
spring return 5=5/2 NC = Normally closed 03=1/4
1=Bistable 7=5/3 cC= Normally closed 05=1/2

0OC = Normally exhausted
PC= Normally pressurized
00=Function not privided

74



(JAIGNEP

Serie Valves

Manual Valve

1/8 1/4
THREADED 1/8 1/4
AW 6 bar FLOW RATE 740 1200
Wa  with Ap 1 bar NI/min NI/min
OPERATING PRESSURE Vacuum + 10 bar
min -10°C
jL TEMPERATURE
max +60 °C
PANEL MOUNT M 16x1
90° LEVER
PULLER
Serie Actuation Reactuation Ways Function Size
T="Puller 0 = Monostable 3=3/2 NO = Normally open 02=1/8
L = 90° Lever spring return 5=5/2 NC = Normally closed 03=1/4
1= Bistable 7=5/3 CC= Normally closed
2= Stat‘al.e in3 OC = Normally exhausted
positions PC = Normally pressurized
00 = Function not privided
Mechanically Actuated Valve
1/8
E x THREADED 1/8
AW 6 bar FLOW RATE 740
Way  with Ap 1 bar NI/min
Bar
\ OPERATING PRESSURE 2+10bar
‘ DRIVING FORCE 58N
min -10°C
. jl TEMPERATURE
‘ max +60 °C
L]
SERVO-PILOTED .
TAPPET VALVES
L]
SERVO-PILOTED
WHISKER VALVES
Serie Actuation Reactuation Ways Function Size
V = Servo-piloted 0 = Monostable 3=3/2 NC = Normally closed 02=1/8
tappet spring return 5=5/2 00=Function not privided
N = Servo-piloted
Whisker

75



@AlGNEP Serie Valves

SERIE 01V MULTIPLE BASES

The bases are supplied with screws and O-Ring for attachment of the valves.

Manifold Plates 1/8 Manifold Plates 1/4

Code Ways Size Code Ways Size
01vB0 00002 2 1/8 01V B0 10002 2 1/4
01V B0 00003 3 1/8 01V B0 10003 3 1/4
01V B0 00004 4 1/8 01V B0 100 04 4 1/4
01vB0 00005 5 1/8 01VBO 10005 5 1/4
01V B0 00006 6 1/8 01V B0 10006 6 1/4
01VB0 00007 7 1/8 01V B0 10007 7 1/4
01vB0 00008 8 1/8 01V B0 10008 8 1/4
01V B0 00009 9 1/8 01V B0 10009 9 1/4
01VB0000 10 10 1/8 01VBO 10010 10 1/4

SERIE 01V MODULAR BASES

All the accessories are supplied with screws and seals to secure the correct assembly.

Front terminal-based integrated Rear terminal-based integrated

Code Size Code Size
01V B1 00000 1/8 01V B2 00000 1/8
01V B1 00001 1/4 01VB200001 1/4
Modular base Intermediate power

Code Size Code Size
01V B300000 1/8 01V B4 00000 1/8
01VB300001 1/4 01VB400001 1/4
Plug for 3 way valve connection Ig\termediate steps for modular Cover plate Omega bar bracket
ase
Code Size Code Size Code Size Code Size
01V B6 000 00 1/8 01V B80 0000 1/8  01VB800001 1/8 01V B7 00000 1/8-1/4
01VB6 00001 174 01VB800001T /4 01VB900001 1/4

76



Serie Valves

(JAIGNEP

Component Parts and Materials Reference Standard

+ Anodised aluminium body

) ) 1907/2006 2011/65/CE 97/23/CE
- Stainless Steel Spring { REACHY (PED)
- NBR seals 5 s
M5
THREADED M5
AW 6 bar FLOW RATE 100
Way  with Ap 1 bar NI/min
Bar,
\; OPERATING PRESSURE 2+10bar
DRIVING FORCE 6N
min -10°C
JL TEMPERATURE
max +60 °C
Serie Actuation Reactuation Ways Function Size
G = Tappet 0 = Monostable 3=3/2 NO = Normally open B5=M5
R = Short Roller spring return NC = Normally closed
U = Uni-directional Roller
E = Panel Mounting
Taper Microvalve
Component Parts and Materials Reference Standard
+ Anodised aluminium body
) ) 1907/2006 2011/65/CE 97/23/CE
- Stainless Steel Spring | REACHY' (PED)
- NBR seals 5 s
g "
THREADED 1/8
6 bar FLOW RATE 350
with Ap 1 bar NI/min
OPERATING PRESSURE 2+ 10 bar
min -10°C
TEMPERATURE
max +60 °C
Serie Actuation Reactuation Ways Function Size
G = Tappet 0 = Monostable 3=3/2 NC = Normally closed 02=1/8
R = Short Roller spring return 5=5/2 00=Function not privided
H = Lever
Z =Long Roller

77



@AlGNEP Serie Valves

02VDO3NCB5 02VGO3NCB5
Microvalve for panel Tappet microvalve

mounting actuator

Interface for connection button Protected push button Axial mono-stable mushroom
a ‘ ‘ ®
Code Code Code Colours Code Colours Code Colours
04V 06 000 02 04V 0600001 04V 0100001 [N NI 04V 01 P00 VE | 04V 02 00N 01 |
Double Single 04V 01 P 00Gl 04V 0200R 01 ||
04V 01 P00AZ |
Turn to unlock mushroom Key selector Short lever selector Long lever selector
Code Code Colours Code Colours Code Colours
04V 0200R 02 04V 03 00001 B 04/0400N01 mm  04V0500NO1 .
04V 03 000 02 B 04/0400N02 B 04V0500N02 .
04V 03 000 03 B 04/0400N03 Bl 04V0500N03 .
04V 04 0 ON 04 - 04V 05 0 ON 04 -

78



(JAIGNEP

Serie Valves

Component Parts and Materials

Reference Standard

- Anodised aluminium bod ®
kel oloted ‘ y A 1907/2006 2011/65/CE 97/23/CE VDMIASZ ; 65;19/\7(;:IA o
+ Nickel-plated spoo
p p REACHY v (PED) (18 mm)
- NBR seals
Solenoid pilot valve 18 mm VDMA
AW 6 bar FLOW RATE 550
Wa  with Ap 1 bar NI/min
Monostable 2.5+ 10bar
OPERATING PRESSURE
Bistable 1+ 10 bar
min -10°C
jl TEMPERATURE
max +60 °C
SOLENOID VOLTAGE 24V DC + 24V AC
L)
MINIMUM POWER 2W-3VA
| MANUAL CONTROL MONOSTABLE
TRA =13ms
Monostable
RESPONSE TIME TRR = 26ms
Bistable TRA=TRR = 24ms
TRA = Response time with energised coil
TRR = Response time with deenergised coil
Serie Actuation Reactuation Ways Function Size
S=Solenoid 0= Monostable 3=3/2 CC= Normally closed 00 = 24V DC
spring return 5=5/2 0C = Normally exhausted 01 = 24V AC
1 =Bistable 7=53 00=Function not privided
Pneumatic valve 18 mm VDMA
AW 6 bar FLOW RATE 550
Wa  with Ap 1 bar NI/min
Bar
\\‘; PRESSURE DRIVE 0+ 10 bar
Bar Monostable 2+ 10 bar
\ OPERATING PRESSURE
o Bistable 1+ 10bar
min -10°C
jl TEMPERATURE
max +60 °C
TRA =12ms
Monostable
RESPONSE TIME TRR = 24ms
Bistable TRA=TRR =21ms
TRA = Response time with energised coil
TRR = Response time with deenergised coil
Serie Actuation Reactuation Ways Function Size
P =Pneumatic 0= Monostable 5=5/2 CC = Normally closed
spring return 7=5/3 0C = Normally exhausted

1 = Bistable

00 = Function not privided

79



(JAIGNEP

Serie Valves

SERIE 05V MULTIPLE BASES

All the bases are supplied with screws and seals to secure the correct assembly.

Front terminal-based integrated Rear terminal-based integrated

Modular base Intermediate power

Code Code Code Code
05V B1 00000 05V B2 00000 05V B3 00000 05V B4 000 00
Intermediate plug Gasket for intermediate plug Cover plate Individual base

Code
05V B8 00000

Code
05V B7 00000

Code Code
05V B900000 05V B5 00000

Codes:

06V 0000001
06V 0000002
06V 0000003
06V 0000004

Ways

5/2
5/2
5/2
5/2

Reactuation

Monostable pedal valve with protection cover

Monostable pedal valve with protection cover and safety feature
Bistable pedal valve with protection cover

Bistable with protection cover and safety lock

1/4
THREADED 1/4
Monostable 2.5+ 10 bar
OPERATING PRESSURE
Bistable 1+ 10 bar
m TEMPERATURE +60 °C
PROTECTION TECHNOPOLYMER

80



Serie Valves

(JAIGNEP

Solenoid with manual override

Component Parts and Materials Reference Standard

+ Anodised aluminium body
+ NBR seals

REACH

THREADED

1907/2006 2011/65/CE

97/23/CE ATEX

(PED) 94/9/CE

1/8 - automatic @ 4

A® 6 bar FLOW RATE 30
Way  with Ap 1 bar NI/min
OPERATING PRESSURE 0+ 10 bar
min -10°C
A TEMPERATURE
max +60 °C
SOLENOID VOLTAGE DY D T A
MINIMUM POWER 3W-5VA
MANUAL CONTROL BISTABLE
TORQUE OF TIGHTENING
THE NUT SOLENOID 06 Nm
Serie Actuation Reactuation Ways Function Size
S = Solenoid 0 = Monostable 3=3/2 NO = Normally open 02=1/8
with manual spring return NC= Normally closed X1=04
override

SERIE 07V SOLENOID VALVES ON MANIFOLD

3/2 NC Solenoid valves on manifold with manual override

Codes: Ways Size
07V B0 00002 2 1/8
07VB0 00003 3 1/8
07V B0 00004 4 1/8
07V B0 00005 5 1/8
07V B0 000 06 6 1/8
07V B0 00007 7 1/8
07V B0 00008 8 1/8
07V B0 00009 9 1/8
1

07VB0000 10

o

81



(JAIGNEP

Serie Valves

Miniature solenoid valves 10 mm

Reference Standard

1907/2006 2011/65/CE o7/23/CE
REACH Y " (PED)

LELE]

MAX PRESSURE Vacuum + 7 bar m LIFE EXPECTANCY 50 milion cycles
min -5°C
jl TEMPERATURE -@- SOLENOID VOLTAGE 12V DC + 24V DC
max +50 °C
A® 6 bar FLOW RATE 14 VOLTAGE o o
Ev:' with Ap 1 bar NI/min TOLLERANCE 5% +10%
E::, 2
o= EXHAUST FLOW Nl/min POWER 13W
energized 8ms
¢ ORIFICE SIZE 0.7 mm @ RESPONSE TIME

de-energized 10 ms

MAX NUMBER OF CLASS OF o
CYCLES PER MINUTE 2700 PROTECTION F(155°0)

Serie Actuation Reactuation Ways Function Orifice size Voltage
1=10mm 1= line connector + led 3=3/2 NO = Normally open 0=07mm 0=12VDC
2= 90° connector + led NC = Normally closed 1=24VDC
3= Cable (300 mm)
Miniature solenoid valves 15 mm
= Reference Standard
-@ 1907/2006 2011/65/CE
IP50 97/23/CE
- REACH Y o (PED) IS0 15218

naHE

NO 0+ 7 bar
MAX PRESSURE -@- SOLENOID VOLTAGE 12V DC + 24V DC
NC 010 bar
min -5°C
VOLTAGE
TEMPERATURE -5% +10%
'J;'\‘ — 4+50°C TOLLERANCE

E;: 6 bar FLOW RATE 30 _@_

\J with Ap 1 bar NI/min . RO 23W
ORIFICE SIZE 1.1 mm RESPONSE TIME 10+12ms
E LIFE EXPECTANCY 50 milion cycles A, F(155°0)

Serie Actuation Reactuation Ways Function Orifice size Voltage
0= For terminals 3=3/2 NO = Normally open 1=11mm 0=12VDC
DIN 43650C NC = Normally closed 1=24VDC

82



Serie Valves

(JAIGNEP

SERIE 07V MULTIPLE BASES AND ACCESSORIES

Individuals and multiples bases

Miniature solenoid valves 10 mm

Code Ways
07V 1B00001 1
07V 1B 00002 2
07V 1B 000 06 6
07V 1B 00008 8

Miniature solenoid valves 15 mm

Code Ways
07V2B00001 1
07V2B 00002 2
07V 2B 000 06 6
07V 2B 00008 8

Closing plate

r

Miniature solenoid valves 10 mm

Code
07V B1 90000

Miniature solenoid valves 15 mm

Code
07V 2890000

Connector with PVC cable

Miniature solenoid valves 10 mm

Code

CON 2102400
CON 2102401

Connector 15 mm

] TRANSPARENT W BAK

Miniature solenoid valves 15 mm

Characteristics Code

0+24v CON 1100001
0+24v CON 1202400

Characteristics

STANDARD A 2 POLI (2 PIN)

LED +VDR O - 24V

Component Parts and Materials

+ Anodised and painted aluminium body

« Chemical nickel-plated spool

« NBR seals

Reference Standard

1907/2006 2011/65/CE
REACH

ATEX VDI/VDE

94/9/CE 3845

Solenoid pilot valve

Serie

Actuation Reactuation
S =Solenoid 0 = Monostable

spring return
1= Bistable

1/4
AW 6 bar FLOW RATE 1200
W with Ap 1 bar NI/min
Bar Monostable 2+ 10 bar
\\ OPERATING PRESSURE
o Bistable 1+ 10bar
min -10°C
jl TEMPERATURE
max +60 °C
24V DC- 12V DC- 24V AC
SOLENOID VOLTAGE 110V AC - 220V AC
MINIMUM POWER 2W-3VA
Py
MANUAL CONTROL BISTABLE
TORQUE OF TIGHTENING
THE NUT SOLENOID 06 Nm
Ways Function Size
4=4/2 NC = Normally closed 03=1/4
5=5/2 00 = Function not privided

83



(JAIGNEP

Serie Valves

Pneumatic valve

Serie

Actuation Reactuation

P 0

P =Pneumatic o= Monostable
spring return

1= Bistable

1/4
THREADED 1/4
A® 6 bar FLOW RATE 1200
Wa  with Ap 1 bar NI/min
Bar
\\“' OPERATING PRESSURE 010 bar
il Monostable 2+ 10 bar
\ PRESSURE DRIVE
o Bistable 110 bar
min -10°C
jl TEMPERATURE
max +60 °C
Ways Function Size
4=4/2 NC = Normally closed 03=1/4
5=5/2 00 = Function not privided

Component Parts and Materials

- Anodised and painted aluminium body

- NBR seals

Serie

12v1
12v2
12v3

Actuation Reactuation

L=Lever 1 = Bistable
2=Stablein3
positions

Reference Standard

1907/2006 2011/65/CE
REACH

OPERATING PRESSURE 0+ 10 bar
min -5°C
jl TEMPERATURE
max +60 °C
cC 4/3 Position - Close Center
RESPONSE TIME ocC 4/3 Position - Exhaust Center
NO 4/2
Ways Function Size
4=4/2 NO = Normally open 02=1/8
6=4/3 CC= Normally closed 03=1/4
0C = Normally exhausted 04=3/8
05=1/2
07=3/4

84



gAlGNEP Serie Valves

Solenoid SOLOT 22 mm Solenoid SOLUT 22 mm [ New ] Solenoid SOLX2 30 mm [ New ]
UL1446 CAN/CSA C22.2 ATEX 112G EXDMD IICT5 GB

® &

Code Voltage Power Code Voltage Power Code Voltage Power
SOLO1012C 1000 12V DC 3W SOLUT 012 C 1000 12V DC 3W SOLX2 012 C 1000 12V DC 3w
SOLO1 024 C 1000 24V DC 3w SOLUT 024 C 3000 24V DC W SOLX2 024 C 1000 24V DC 3w
SOLOT 024 C 3000 24V DC 2W SOLUT 024 A 2 000 24V AC 5VA SOLX2 024 A 2000 24V AC 4,8VA
SOLO1 024 A 2 000 24V AC 5VA SOLUT 110 A 2 000 110V AC 5VA SOLX2 110 A 2000 110V AC 4,8VA
SOLOT 110 A 2 000 110V AC 5VA SOLU1T 220 A 2 000 220V AC 5VA SOLX2 220 A 2 000 220V AC 4,8VA
SOLO1 220 A 2 000 220V AC 5VA
Connector 22 mm CONUT 22 mm [ New | Connector 15mm

EN 175301-803 A/ISO 4400

UL/CSA APPROVED

®

Code Color Characteristics Code Color Characteristics Code Color Characteristics
CONO1 00001 - STANDARD A 2 POLI (2 PIN) CONUT 00001 ] STANDARD A 2 POLI (2 PIN) CON1100001 - STANDARD A 2 POLI (2 PIN)
CONO02 024 00 | LED +VDRO - 24V CON12024 00 | LED +VDR O - 24V

CON02 11000 [ LED + VDR 110V

CON02 25000 ] LED + VDR 220V

85



AIGNEP

PNEUMATIC ACTUATORS

i Application ¢ Fluids
H bl
- Pneumatic Automation, Robotics, Handling — i Filtered and lubricated compressed air

- Automotive Process i aswell as non lubricated air.

- Textile, Packaging, Heavy Duty
- Food Process
+ Atex Zone

CARTRIDGE CYLINDERS

i Reference Standard

1907/2006 2011/65/CE 97/23/CE SILICON ATEX
REACH Y " (PED) FREE 94/9/CE
s
i Pressures

. 2bar (0.2 MPa)
. 7 bar (0.7 MPa)

i Temperatures
jL . 0°C(-20 °C with dry air)
i +80°C

Serie @ mm Stroke

C A F 0 6 0010

A CA Single acting no-threaded piston rod 06 0005
. . . 10 0010
A CAF Single acting threaded piston rod 16 0015
Strokes (mm)
@ (mm)
5 10 15
6 A A A
10 A A A
16 A A A

86



(JAIGNEP

Serie

Serie Actuators
Reference Standard
1907/2006 2011/65/CE 97/23/CE SILICON ATEX
REACH Y (PED) FREE 94/9/CE
LETE
Pressures

1 bar (0.1 MPa)
i 10 bar (1 MPa)

Temperatures

i +80°C

Stroke

0 °C (-20 °C with dry air)

Special version

A MB  Single-Acting Magnetic 008 0010 0150 VS Rod Seals in FKM
B MD Single-Acting Magnetic. g}g gggg g;gg vV Sealsin FKM
Spring Thrust 016 0080 0250
® MF  Double Acting Magnetic 020 0100 0320
O MFN Double Acting Magnetic Head Cut, 025 0125
Feed At90° Intermediate or higher strokes are
O MFX Double Acting Magnetic HAead Cut, available upon request.
Feed On Axis
4 MH Double Acting Cushioned Magnetic
O MJ  Double Acting Magnetic & (mm) Strokes (mm)
With Double Rod End 10 25 50 80 100 125 160 200 250 320
¢ ML Double Acting Cushioned Magnetic 8 Ae Ae Ae ° ° °
With Double Rod End
10 Ae Ae Ae °
12 Ae Ae Ae ° ° ° ° ° °
16 Ameo Ame+o Ameso [ X2} eé0 [ X2} 040 [ X2} 040
20 Ameo Ame¢o Ameso [ X2} e40 [ X2} 040 [ X2} 040 e40
25 AmeO Ame¢o Ameso [ XXe) e¢0 [ XXe) 040 [ XXe) [ X 2e] X3}
ACCESSORIES
MRL MFL MPD MCC
PISTON ROD LOCK FLANGE FOOT CLEVIS BRACKET
Code () Code (4] Code (4] Code 4]
MRL 020 20 MFL 008 8-10 MPD 008 8-10 MCC 008 8-10
MRL 025 25 MFL 012 12-16 MPD 012 12-16 MCCO012 12-16
MFL 020 20-25 MPD 020 20-25 MCC 020 20-25
DA FC TF
YOKE WITH LOCABLE PIN ROD ENDS SELF-LUBRIFICATING
NUT FOR COVERS NUT FOR RODS
Code %} Code 4] Code 9] Code 4]
0DA00 00 51 D5 ZI M12x1.25 0DA00 0051 B1 ZI M4 FC 008 M4 TF 008 M4x0,7
0DA00 0051 E32I M16x1.5 0DA00 00 51 88 ZI M6 FC 012 M6 TFO12 M6x1
0DA00 00 51 F6 I M22x1.5 0DA00 00 51 C3 ZI M8x1.25 FC 020 Mg TF 020 M8x1.25
0DA00 0051 C9 7l M10x1.25 FC 025 M10x1.25 TF025 M10x1,25

87



foj AIGNEP Serie Actuators

Reference Standard

1907/2006  2071/65/CE ST/23/CE SILICON e
REACH Y + (PED) FREE 94/9/CE
LELE]
Pressures

2 bar (0.2 MPa)
i 10 bar (1 MPa)

Temperatures

jl 0 °C (-20 °C with dry air)
i +80°C

Serie 2 mm Stroke Special version

MF I 0025

® MFI Inox Double Acting Magnetic 016 0010 VS Rod Seals in FKM

020 0025 Vv Sealsin FKM
025 0050

0080

0100

0125

0150

0160

0200

0250

0320

Intermediate or higher strokes are
available upon request.

Strokes (mm)

@ (mm)
10 25 50 80 100 125 160 200 250 320

16 ° ° ° ° ° ° ° ° ° °

20 ° ° ° ° [ ° [ ° ° °

25 [ ° ° [ [ ° [ ° ° °

ACCESSORIES
MFLI MPDI MCCI
FLANGE FOOT CLEVIS BRACKET
rfl/lj
i .;_r— Y
-
Code (9] Code (4] Code (4]
MFLI 016 16 MPDI 016 16 MCCI 016 16
MFLI 020 20-25 MPDI 020 20-25 MCCI 020 20-25
DA
NUT FOR COVERS NUT FOR RODS
Code 9] Code ()
0DAO00 00 43 E3 00 M16x1.5 0DAO00 00 43 B8 00 M6
0DA00 0043 F6 00 M22x1.5 0DA00 0043 C3 00 M8x1.25
0DA00 0043 C9 00 M10x1.25

88



@ AIGNEP Serie Actuators
Reference Standard
1907/2006 2011/65/CE 97/23/CE SILICON ATEX
REACH Y (PED) FREE 94/9/CE
LETE
Pressures
1 bar (0.1 MPa)
¢ 10 bar (1 MPa)
Temperatures
0 °C (-20 °C with dry air)
: +80°C
Serie @ mm Stroke
A AB Single-Acting Magnetic 032 0010 0160
. . . . 040 0025 0200
A AD Single-Acting Magnetic - Spring Thrust 050 0050 0250
® AF  Double Acting Magnetic 063 0080 0320
#AH  Double Acting Cushioned Magnetic 0100 0400
. . 0125 0500
®AJ)  Double Acting Magnetic 0150
With Double Rod End
¢ AL unble Acting Cushioned Magnetic Intermediate or higher strokes are
With Double Rod End available upon request.
Strokes (mm)
@ (mm)
10 25 50 80 100 125 160 200 250 320 400 500
32 Ae Ao Ao ‘e ) ‘e ‘e ‘0 ‘e ‘0 ‘0 40
40 Ae Ao Ao ‘0 ‘0 ‘e ‘e ‘0 () ‘0 ‘e 0
50 Ae Ao Ao ‘e ‘0 ‘0 ‘e ‘0 ‘0 ‘e ‘0 ‘0
63 Ae Ao Ao ‘e () ‘0 ‘e L) ‘e ‘e () ‘e
ACCESSORIES
ACC APD AGT APE
CLEVIS BRACKET FOOT FLANGE NUT PIVOT
3 &
...-
“p
Code () Code (4] Code (4] Code @
ACC032 32 APD 032 32 AGT 032 M30x1.5 APE 032 32
ACC 040 40 APD 040 40 AGT 040 M38x1.5 APE 040 40
ACC 050 50 APD 050 50 AGT 050 M45x1.5 APE 050 50
ACC 063 63 APD 063 63 APE 063 63
DA FC TF
NUT FOR RODS YOKE WITH LOCABLE PIN ROD ENDS SELF-LUBRIFICATING
Code 9] Code (4] Code (4]
0DA00 0051 C9ZI M10x1.25 FC025 MTOx1.25 TF 025 M10x1.25
0DA00 0051 D5 ZI M12x1.25 FC 040 M12x1.25 TF 040 M12x1.25
0DA0000 51 E3 ZI M16x15 FC050 M16x1.5 TF 050 M16x1.5

89



(JAIGNEP

Serie Actuators

Serie

Version

8

Reference Standard

1907/2006
REACH

2011/65/CE 97/23/CE

(PED)

SILICON
FREE

ATEX
94/9/CE

Pressures
1 bar (0.1 MPa)

¢ 10 bar (1 MPa)

Temperatures
0 °C (-20 °C with dry air)

i +80°C

Stroke

A QB Single-Acting Magnetic = Standard female rod 012 0005 0050
. : . . _ 016 0010 0060
A QD Single-Acting Magnetic - Spring Thrust M = Male rod (NO QFA) 020 0015 0080
®QF Double Acting Magnetic 025 0020 0100
®QJ Double Acting Magnetic 032 0025 0125
With Double Rod End 040 0030 0150
4 QFA Double Acting Magnetic Antirotation ggg 0040 0200
080 Intermediate or higher strokes are
100 available upon request.
Strokes (mm)
@ (mm)
5 10 15 20 25 30 40 50 60 80 100 125 150 200
12 Aoo Aeoo (X3 o ¢ o o
16 Aeoo Aeoo Aeoo Ao Aeoo (X3 [X)
20 Aoo Ao Aoo Aeoo Aoo (X4 (X4 (X4
25 Aeoo Aeoo Aeoo Aeoo Aeoo [ XJ (X3 (X3
32 Aeoo Aeoo Aeoo Aeoo Aeoo [ XJ (X3 [ X2 (X3 [ X2 . . .
40 Aeoo Aeoo Aeoo Aeoo Aeoo ¢ (X3 [ X3 (X3 ¢ ] ° .
50 Ao Aeoo Ao Aeoo Ao (X3 [ X3 (X3 (X3 (X3 ° ° ° °
63 Aeoo Aeoo Aeoo Aeoo Aeoo [ XJ (X3 [ XJ (X4 [ XJ ] . ° .
80 Aeoo Aeoo Aeoo Aeoo Aeoo [ XJ (X3 [ X2 (X3 [ X2 ] . ° .
100 Aeoo Aeoo Aeoo Aeoo Aeoo [ X3 (X3 [ X2 (X3 ¢ . . . .
ACCESSORIES
QFL QFL QcCP QCP
FLANGE FLANGE LOW-RISE PEDESTAL LOW-RISE PEDESTAL
qf‘ff"/A A+
A
Steel Steel Steel e Steel
Code (4] Code (4] Code (%] Code 4]
QFLO012 12-16 QFL032 32 QCP 012 12-16 QCP 040 40
QFL 020 20 QFL 040 40 QCP 020 20 QCP 050 50
QFL 025 25 QFL 050 50 QCP 025 25 QCP 063 63
QFL 063 63 QCP 032 32 QCP 080 80
QFL 080 80 QCP 100 100
QFL 100 100

90



(JAIGNEP

Serie Actuators

QM
MALE HINGE WITH SELF-LUBRICATING BUSHES

QCF
FEMALE HINGE WITH SELF-LUBRICATING BUSHES

VAS
SQUARE JOINT

VPE
PIN WITH SEEGER

Aluminium Aluminium Aluminium e o o Steel @
Inoxm Inox m
Code 4] Code @ Code e Codem (4] Code @ Codem @
QCM 012 12-16 QCF 032 32 VAS032  VASI032 32 VPE032  VPEIO32 EY)
QCM 020 20 QCF 040 40 VAS040  VASI 040 40 VPEO40  VPEI040 40
QCM 025 25 QCr 050 50 VAS050  VASI 050 50 VPEOS0  VPEIOSO 50
QCF 063 63 VAS063  VASI 063 63 | VPEOS3  VPEI0G3 63
™ 8% s i VAS080  VASI080 80 | VPEOSD  VPEI08O 80
MALE ROD ENDS VAS 100 VASI 100 100 VPE 100 VPEI100 100
=
Steel
Code 4]
T™M 020 M5x0.8
TM 032 Mé6x1
TM 050 M8x1.25
TM 080 M10x1.5
TM 100 M12x1.75
Reference Standard
1907/2006 2011/65/CE 97/23/CE SILICON ATEX
REACH + (PED) FREE 94/9/CE
LB
Pressures
1 bar (0.1 MPa)
¢ 10 bar (1 MPa)
Temperatures
ﬂ\ 0 °C (-20 °C with dry air)
i +80°C
Serie Version @ mm Stroke
A BB Single-Acting Magnetic = Standard female rod 012 0005 0030
: ) ) ) _ 016 0010 0040
A BD Single-Acting Magnetic - Spring Thrust M = Male rod (NO QFA) 020 0015 0050
®BF  Double Acting Magnetic 025 0020 0075
®BJ Double Acting Magnetic 032 0025 0100
With Double Rod End 040
. A 050
®BFA Double Acting Magnetic Antirotation 063 Intermediate or higher strokes are
080 available upon request.
100
Strokes (mm)
@ (mm)
5 10 15 20 25 30 40 50 75 100
12 oA oA oA oA oA L] L]
16 oA oA oA oA oA . °
20 oA oA oA oA oA . ° °
25 oA oA oA oA oA ° ° °
32 oA oA oA oA oA oA oA oA . °
40 oA oA oA oA oA oA oA oA ° °
50 oA oA oA oA oA oA oA oA L] °
63 oA oA oA oA oA oA oA oA . °
80 oA oA oA oA oA oA oA oA . °
100 oA oA oA oA oA oA oA oA . °

91



Serie Actuators

(JAIGNEP

ACCESSORIES

QFL VFL Qcp vCP
FLANGE FLANGE LOW-RISE PEDESTAL LOW-RISE PEDESTAL
=P { = N P &
* : : A L7
[ a ’_ " Steel _ M 3 Steel ® b d Steel Steel @
L L = Inoxm T Inox m
Code @ Codee Codem (4] Code (4] Code @ Codem @
QFL012 12-16 VFL032 VFLI 032 32 QCP 012 12-16 VCP 032 VCPI032 32
QFL 020 20 VFL 040 VFLI 040 40 QCP 020 20 VCP 040 VCPI 040 40
QFL 025 25 VFL 050 VFLI 050 50 QCP 025 25 VCP 050 VCPI050 50
VFL 063 VFLI 063 63 VCP 063 VCPI 063 63
VFL 080 VFLI080 80 VCP 080 VCPI 080 80
VFL 100 VFLI 100 100 VCP 100 VCPI100 100
VFL 125 - 125
VFL 160 - 160
VFL 200 - 200
VFL 250 - 250
VFL 320 - 320
QCM VM VCF VAS
MALE HINGE WITH SELF-LUBRICATING BUSHES ~ MALE CLEVIS BRACKET FEMALE HINGE WITH SELF-LUBRICATING BUSHES SQUARE JOINT
Aluminium e
Aluminium Inox m Aluminium e Aluminium e
Inoxm Inoxm
Iron
Code 9] Code e Codem Code (4] Code e Codem (4] Code @ Codem (%]
QCM 012 12-16 VCM 032 VCMI032  VCMZ032NE 32 VCF 032 VCFI 032 32 VAS 032 VASI 032 32
QCM 020 20 VCM 040 VCMI040  VCMZ040NE 40 VCF 040 VCFI 040 40 VAS 040 VASI 040 40
QCM 025 25 VCM 050  VCMI050  VCMZO50NE 50 VCF 050 VCFI 050 50 VAS 050 VASI 050 50
VCM 063 VCMI063 VCMZO063NE 63 VCF 063 VCFI 063 63 VAS 063 VASI 063 63
VCM 080  VCMI080 VCMZO80ONE 80 VCF 080 VCFI 080 80 VAS 080 VASI 080 80
VCM 100  VCMI100 VCMZ100NE 100  VCF 100 VCFI 100 100 VAS 100 VASI 100 100
VPE ™
PIN WITH SEEGER MALE ROD ENDS
o c Steel ® Steel
Inox m
Code ® Codem %) Code (9]
VPE 032 VPEI032 32 T™ 020 M5x0.8
VPE 040 VPEI 040 40 T™M 032 M6x1
VPE 050 VPEI050 50 TM 050 M8x1.25
VPE 063 VPEI 063 63 T™ 080 M10x1.5
VPE 080 VPEI 080 80 TM 100 M12x1.75
VPE 100 VPEI100 100

92



(JAIGNEP

Serie

A XB Single-Acting Magnetic
®XH Double acting cushioned magnetic

® XL Double Acting cushioned magnetic
with double rod end

@ (mm)

Serie Actuators
Reference Standard
(2072005 2011/65/CE 97/23/CE SILICON ATEX
REACH Y (PED) FREE 94/9/CE
LETE
Pressures

1 bar (0.1 MPa)
i 10 bar (1 MPa)

Temperatures

i +80°C

Stroke

0 0 2 5

0025 0320
0050 0350
0075 0400
0080 0450
0100 0500
0125 0600
0150 0700
0160 0800
0200 0900
0250 1000
0300

Intermediate or higher strokes are
available upon request.
Maximum stroke 2700 mm.

Strokes (mm)

0 °C (-20 °C with dry air)

Special version

VS Only Rod Seals in FKM
S Stainless steel rod

All FKM seals

Metal Scraper

o < &K

25 50 75 80 100 250 300 320 350 400 450 600 700 800 900 1000
32 Ae Ae Ae Ao Ao ] . . . . . . ] . . ° ° ° °
40 Ae Ae Ao Ao Ao ] . ° . . . . . . ° . ° ° °
50 Ae Ae Ao Ao Ao ] . ° . . . ° . . ° . ° . °
63 Ae Ae Ao Ao Ao . . . . . . . . . ° . ° ° °
80 Ae Ae Ae Ao Ao . . . . . . ° ° . ° ° ° ° °
100 Ae Ao Ae Ae Ao ° ° ° ° ° ° ° ° ° ° ° ° ° °
125 ° ° ° ° ° ° ° ° ° ° ° ° o o ° o ° o o
XHB XHT

CYLINDERS X SERIE ISO 15552 WITH PISTON ROD LOCK

TANDEM CYLINDERS X SERIE ISO 15552

93



foj AIGNEP Serie Actuators

Reference Standard

(2072005 2011/65/CE 97/23/CE SILICON ATEX
REACH Y + (PED) FREE 94/9/CE
LELE]
Pressures

1 bar (0.1 MPa)
10 bar (1 MPa)

?32+125

Aluminum jacket called “G"with longitudinal slots for the insertion of the retractable sensor.

Temperatures

jl 0 °C (-20 °C with dry air)
:+80°C

@ 32+320

1Shirt aluminum rods with rounded profile.

Serie @ mm Stroke Mounting type Special version
®EH Double acting cushioned magnetic 032 0025 0320 G Anodized aluminium tube Mickey- VS Only Rod Seals in FKM
®EL Double Acting cushioned magnetic 040 0050 0350 mouse profile with slots (32+125) IS Stainless steel rod

with double rod end 050 0075 0400 T Anodized aluminium tube round V. All FKM seals
063 0080 0450 profile with tie rods (32+320)
080 0100 0500 R Metal Scraper
100 0125 0600 (160-200-250)
125 0150 0700
160 0160 0800
200 0200 0900
250 0250 1000
320 0300

Intermediate or higher strokes are
available upon request.
Maximum stroke 2700 mm.

Strokes (mm)

ol 250 300

w
N
(=]
w
w1
o
N
o
o
S
[
o
v
o
o
o
=3
o
~
o
o
=3
1=
o

900 1000

N
w
w1
o
~
v
©
o
-
o
o
-
N
(]
-
[
o
-
=)
o
N
o
o

32
40
50
63
80
100
125
160
200
250
320

94



@ AIGNEP Serie Actuators

Reference Standard

1907/2006 2011/65/CE 97/23/CE SILICON
REACH Y + (PED) FREE
LETE]
Pressures

1 bar (0.1 MPa)
¢ 10 bar (1 MPa)

Temperatures
JL 0 + 80°C (-20 °C with dry air)
£ 0+ 150 °C (-20 °C with high temperature seal)

Serie 2 mm Stroke Special version
A VHI  Double acting cushioned magnetic 032 0025 0320 VS Only Rod Seals in FKM
A VLI Double Acting cushioned magnetic with 040 0050 0350 V. All FKM seals
double rod end 050 0075 0400
063 0080 0450
080 0100 0500
100 0125 0600
0150 0700
0160 0800
0200 0900
0250 1000
0300

Intermediate or higher strokes are
available upon request.
Maximum stroke 2700 mm.

@ (mm) Strokes (mm)

25 50 75 80 100 125 150 160 200 250 300 320 350 400 450 500 600 700 800 900 1000
32 A A A A A A A A A A A A A A A A A A A A A
40 A A A A A A A A A A A A A A A A A A A A A
50 A A A A A A A A A A A A A A A A A A A A A
63 A A A A A A A A A A A A A A A A A A A A A
80 A A A A A A A A A A A A A A A A A A A A A
100 A A A A A A A A A A A A A A A A A A A A A

Reference Standard

1907/2006 2011/65/CE 97/23/CE SILICON ATEX
REACH " ' (PED) FREE 94/9/CE
LETE]
Pressures

1 bar (0.1 MPa)
¢ 10 bar (1 MPa)

Temperatures
0 °C (-20 °C with dry air)
: +80°C

95



Serie Actuators

(JAIGNEP

Serie @ mm Stroke Mounting type Special version
A NHA Double Acting Cushioned Magnetic 032 0025 0200 G Anodized aluminium tube IS Stainless steel rod
. 040 0050 0250 Mickey-mouse profile
Ania E’&'ﬁ&gg:ﬁ ;:;:’c'e rod 050 0080 0320 with slots
063 0100 0350
A NQA Double Acting cushioned magnetic 080 0125 0400
with double rod end 100 0160
Intermediate or higher strokes are
available upon request.
Strokes (mm)
@ (mm)
25 50 80 100 125 160 200 250 320 350 400 500
32 A A A A A A A A A
40 A A A A A A A A A A
50 A A A A A A A A A A
63 A A A A A A A A A A A
80 A A A A A A A A A A A A
100 A A A A A A A A A A A A
Reference Standard
1907/2006 2011/65/CE 97/23/CE SILICON ATEX
REACH (PED) FREE 94/9/CE
LELE]
Pressures
1 bar (0.1 MPa)
i 10 bar (1 MPa)
Temperatures
0 °C (-20 °C with dry air)
:+80°C
Serie Version 2 mm Stroke
A WB-WBM Single-Acting Magnetic = Standard female rod 020 0005 0060
. : : ; _ 025 0010 0080
A WD-WDM Single-Acting Magnetic, Spring Thrust M = Male rod (NO WFA) 032 0015 0100
® WF-WFM  Double Acting Magnetic 040 0020 0125
®WJ-WIM  Double Acting Magnetic 050 0025 0150
With Double Rod End 063 0030 0160
. . . . 080 0040 0200
#WFA Double Acting Magnetic Antirotation 100 0050
Intermediate or higher strokes are
available upon request.
Maximum stroke 2700 mm.
Strokes (mm)
@ (mm)
5 10 15 20 25 30 40 50 60 80 100 125 150 200
20 Aot Aot Aot Aot Aot o off [}::
25 Aot Aot Aot Aot Aot o o (33
32 Aot Aot Aot Aot Aot o o o o o ° ° °
40 Aot Aeoi# Ao Ao# Aot oft oft ot ot ot ° ° °
50 Aot Aot Aot Aot Ao# o ot o ot o ° ° ° °
63 Aot Y }:: Aot Aot Aot oft off ot off oft ° ° ° °
80 Aot ' :: Aot Aot Aot oft off ot off oft . . . .
100 Aot Aot Aot Aot Aot o o o o o ° ° ° °

96



@ AIGNEP Serie Actuators

Reference Standard

1907/2006  2071/65/CE ST/23/CE SILICON e
REACH Y + (PED) FREE 94/9/CE
LELE]
Pressures

1 bar (0.1 MPa)
¢ 10 bar (1 MPa)

Temperatures

jl\ 0 °C (-20 °C with dry air)
i +80°C

Serie Version @ mm Stroke Mounting Type Special version
A PF Double Acting Magnetic = Standard female rod 125 0005 0200 T = Anodized aluminium tube IS Stainless steel rod
AP) Double Acting Magnetic M = Male rod (NO QFA) 160 0010 0250 round profile with tie rods

With Double Rod End 200 0015 0300
250 0020 0320
0025 0350
0030 0400
0040 0450
0050 0500
0060 0600
0080 0700
0100 0800
0125 0900
0150 1000

Intermediate or higher strokes are
available upon request.

Strokes (mm)

@ (mm) 5 10 15 20 25 30 40 50 60 80 100 125 150 200 250 300 320 350 400 450 500 600 700 800 900 1000
125 A A A A A A A A A A A A A A A A A A A A A A A A A
160 A A A A A A A A A A A A A A A A A A A A A A A A A D
200 A A A A A A A A A A A A A A A A A A A A A A A A A
250 A A A A A A A A A A A A A A A A A A A A A A A A A

97



Serie Actuators

(JAIGNEP

ACCESSORIES FOR CYLINDERS ISO 6431 - 1SO 15552 - ISO 21287 INCLUDING SCREWS

VRL
PISTON ROD LOCK

VFT
JOINING FLANGE

VFL
FLANGE

Aluminium Aluminium | , Steel Steel @
q: ’ | Inoxm
Code 9 Code [} Code (%} Code e Codem [}
VRL032 32 VFT 032 2 QFLO12 1216 | VFLO32  VFLI032 32
VRL 040 40 VFT 040 40 OFL 020 20 VFLO40  VFLI040 40
VRL 050 50 VFT 050 50 OFL 025 25 VFLOSO  VFLI0S0 50
VRL 063 63 VFT 063 63 VFLO63  VFLI063 63
VRL 080 80 VFT 080 80 VFL08O  VFLI080 80
VRL 100 100 VFT 100 100 VFL100  VFLI100 100
VRL125 125 VFT 125 125 VFL125 - 125
VFL160 - 160
VFL200 - 200
VFL2SO - 250
VFL320 - 320
Qcp VPC \'/¢] VCF
LOW-RISE PEDESTAL LOW-RISE PEDESTAL LARGE LOW-RISE PEDESTAL FEMALE HINGE WITH SELF-LUBRICATING BUSHES
—"
+
- Steel Steel ® Steel Aluminium e
- Inoxm Inoxm
Code 19 Code e Codem [} Code 2 Codee Codem 9}
QcPo12 12-16 | VCP032  VCPI032 32| VCBO32NE £ YRR eHos b
QCP 020 20 VCPO40  VCPI040 40 | VCBO4ONE 40 VEr 040 VEF040 “0
QCP 025 2 VCPO50  VCPI050 50 | VCBOSONE 50 VERDS0 VEH50 o0
VCP063  VCPI063 63 | VCBOG3NE 63 VEROes VEHees o
VCPOBO  VCPI080 80 | VCBOBONE 80 VEF 080 V080 80
VCP100  VCPI100 100 | VCB100NE foo | VEFT00 - VCFIT00 1
VCP125  VCPII25 125 VERIs e 15
Ve B VCF 160 VICFI 160 160
VP00 - 00 VCF 200 VCFI 200 200
VCP2S0 - 250
QM VCM VCH vCD
MALE HINGE WITH SELF-LUBRICATING BUSHES  MALE CLEVIS BRACKET FEMALE CLEVIS BRACKET NARROW FEMALE HINGE FOR SQUARE JOINT
WITH ARTICULATED HEAD DIN648K
Aluminium e
Aluminium Aluminium e Aluminium e
Inoxm
Iron « Iron & Iron &
Code ? Code e Codem Code ¢ 9 Code o Code ¢ ? Code e Code @
QCM 012 12-16 VCMO032  VCMIO32  VMzoaaNE 3 | VEM032 o VCHZO32NE 32| VCDO32 - VCDZO32NE 2
OCM 020 I VOMOI0  VOMIOH0  VOMZOWONE a0 | VCHO40  VCHZO4ONE 40 VCDO40  VCDZO40NE 40
M 025 b VMOS0 VMOS0 VCMZOSONE  so | VCHOSO  VCHZOSONE 5 | VCDOSO  VCDZOSONE 50
VOMO0B3  VOMIOES  VOMZOGINE 63 | VCHO063  VCHZO63NE 63 | VD03 VCDZO63NE 63
VOMOSO  VCMIOSO  VCMZOSONE s | VCHOBO  VCHZOSONE 80 | VD080  VCDZOSONE 80
VOM100 VOMI100  VeMZI0ONE 100 | VCH100  VCHZ 100NE 100 | VCD100  VCDZ 100 NE 100
VOM 15 VOMIT2S  VeMZI2SNE 125 | VCH12S VCHZ125NE 125 | VCD125  VCDZ125NE 125
VOM 160 VOMIT6o  VOMZI6ONE 160 | VCH160  VCHZ160NE 160 | VCD160 - 160
VOM200  VCMIZ00  VeMZ200NE oo | VCH200  VCHZ200NE 200 | VD200 - 200
VCM250 - VCMZ25ONE 250 | VCH250  VCHZ250NE >0

98



Serie Actuators

(JAIGNEP

VPS

PIN ANTI-ROTATION FOR NARROW FEMALE
HINGEVCD

,-ﬂ’i?ijq

vcs

NARROW MALE HINGE WITH ARTICULATED
HEAD DIN648K

VADZ

SQUADRE JOINT WITH ARTICULATED HEAD
DIN648K

XCN
INTERMEDIATE HINGE

Aluminium e
b Steel e Inoxm Steel J Steel
Inoxm Iron ¢
Codee Codem 9] Code @ Codem Code * 4] Code (4] Code ]
VPS 032 VPSI 032 32 VCS 032 VCSI 032 VCSZ 032 NE 32 VADZ 032 NE 32 XCN 032 32
VPS 040 VPSI 040 40 VCS 040 VCSI 040 VCSZ 040 NE 40 VADZ 040 NE 40 XCN 040 40
VPS 050 VPSI050 50 VCS 050 VCSI 050 VCSZ 050 NE 50 VADZ 050 NE 50 XCN 050 50
VPS 063 VPSI 063 63 VCS 063 VCSI 063 VCSZ 063 NE 63 VADZ 063 NE 63 XCN 063 63
VPS 080 V/PSI 080 80 VCS 080 VCSI 080 VCSZ 080 NE 80 VADZ 080 NE 80 XCN 080 80
VPS 100 VPSI100 100 VCS 100 VCSI 100 VCSZ 100 NE 100 VADZ 100 NE 100 XCN 100 100
VPS 125 VPSI125 125 VCS 125 VCSI 125 VCSZ 125 NE 125 VADZ 125 NE 125 XCN 125 125
VPS 160 - 160 - 200 VCS 160 - - 160
VCS 200 - - 200
VCNT VCNL Vsl VAS
INTERMEDIATE HINGE INTERMEDIATE HINGE FOR SMOOTH TIE-RODS SUPPORT FOR INTERMEDIATE HINGE SQUARE JOINT
Steel Steel Steel Steel @
: Inoxm
Code () Code ] Code @ Code @ Codem @
VCNT 032 32 VCNL 032 32 VSI032 32 VAS 032 VASI 032 32
VCNT 040 40 VCNL 040 40 VSI 040 40-50 VAS 040 VASI 040 40
VCNT 050 50 VCNL 050 50 VSI063 63 -80 VAS 050 VASI 050 50
VCNT 063 63 VCNL 063 63 VSI 100 100-125 VAS 063 VASI 063 63
VCNT 080 80 VCNL 080 80 VSI 160 160 - 200 VAS 080 VASI 080 80
VCNT 100 100 VCNL 100 100 VSI 250 250 VAS 100 VASI 100 100
VCNT 125 125 VCNL 125 125 VAS 125 VASI 125 125
VCNT 160 160 VCNL 160 160 VAS 160 - 160
VCNT 200 200 VCNL 200 200 VAS 200 - 200
VCNT 250 250
VPE FC TF TS
PIN WITH SEEGER YOKE WITH LOCABLE PIN ROD ENDS SELF-LUBRIFICATING SNODABLE YOKE
o o Steel ® Steel ® Steel Steel
Inox m Inoxm
Codes  Codem o Codes  Codem 2 Code o Code ' o
VPE032  VPEIO32 32 FC020 FC1020 M8x1.25  TF020 M8x1,25 TS020 M8x1.25
VPE 040 VPEI 040 40 FC 025 FCI025 M10x1.25 TF 025 M10x1,25 TS 025 M10x1.25
VPE 050 VPEI050 50 FC 040 FCI 040 M12x1.25 TF 040 M12x1,25 TS 040 M12x1.25
VPE 063 VPEI063 63 FC 050 FCI050 M16x1.5 TF 050 M16x1,5 TS 050 M16x1.5
VPE 080 VPEI 080 80 FC 080 FCI080 M20x1.5 TF 080 M20x1,5 TS 080 M20x1.5
VPE 100 VPEI100 100 FC 125 FCI125 M27x2 TF 125 M27x2
VPE 125 VPEI 125 125 FC 160 FCl160 M36x2 TF 160 M36x2
VPE 160 VPEI 160 160 - 200 FC 250 - M42x2 TF 250 M42x2
VPE 250 - 250 FC320 - M48x2 TF 320 M48x2
VPE 320 - 320
™ DA
MALE ROD ENDS NUT FOR RODS
Steel % g Steel
Code @ Code ]
T™M 020 M5x0.8 0DA00 0051 C37ZI M8x1.25
TM 032 Méx1 0DA00 00 51 C9ZI M10x1.25
TM 050 M8x1.25 0DA00 0051 D5 ZI M12x1.25
TM 080 M10x1.5 0DA00 00 51 E3ZI M16x1.5
T™M 100 M12x1.75 0DA00 00 51 F2 ZI M20x1.5
0DA00 0051 G8 ZI M27x2
EDA0000 5116 ZI M36x2
EDA00 0051 L0 ZI M42x2
EDA00 0051 DG ZI MA48x2

99



foj AIGNEP Serie Actuators

Reference Standard

1907/2006 2011/65/CE 97/23/CE SILICON
REACH " " (PED) FREE

1SO 6431 VDMA (from 32 to 100)

1SO 6432 (from 20 to 25)

1SO 15552 (from 32 to100)

Serie @ mm Stroke
MLCUB 0050
4 MLCUB Guide unit “u” with self lubricating sintered bronze 012 0050
O MLCHB Guide unit “h” with self lubricating sintered bronze ggg g}gg
O MLCHC Guide unit “h” with recirculating ball sleeves 032 0200
® VLCUB Guide unit “u” with self lubricating sintered bronze 040 0250
® VLCHB Guide unit "h” with self lubricating sintered bronz g:g gigg
® VLCHC Guide unit "h” with recirculating ball sleeves 080 0500
100

Intermediate or higher strokes are
available upon request.

@ (mm) Strokes (mm)
50 100 160 200 250 320 400 500
12-16 40 [Ye) 40 *0 o
20 40 #0 40 40 o
= *0 #0 40 40 o
32 e e e ° ° ° ° °
"0 e e ® ° ° ° ° °
%0 ° e d ° ° ° ° °
6 ° e d ° ° ° ° °
80 b ® ° ° ° ° ° °
100 ° ° ° ° ° . o o

100



@ AIGNEP Serie Actuators
Reference Standard
1907/2006 2011/65/CE 97/23/CE
REACHY " (PED)
LETE
Bar Pressures
1 bar (0.1 MPa)
¢ 10 bar (1 MPa)
Temperatures
jl\ - 5°C (No freezing)
i +60°C
Serie @ mm Stroke
012 040 0005 0040 0175
016 050 0010 0050 0200
020 063 0015 0075 0250
025 0020 0100 0300
032 0025 0125 0350
0030 0150 0400
@ (mm) Strokes (mm)
mm 5 10 15 20 25 30 40 50 75 100 125 150 175 200 250 300 350 400
12 A A A A A A A A A A A A
16 A A A A A A A A A A A A
20 A A A A A A A A A A A A A A
25 A A A A A A A A A A A A A A
32 A A A A A A A A A A A A
40 A A A A
50 A A A A
63 A A A A
Reference Standard
1907/2006 2011/65/CE 97/23/CE
REACHY + (PED)
AGHE
Bar Pressures
:\ o 6 12 16 20 25 32
5 ‘min 15 1 0,5
Q| max 7
Temperatures
ﬂ\ - 5 °C (No freezing)
i +60°C
@ (mm) Strokes (mm)
Serie ©mm Stroke ™ 10 20 30 40 50 60 70 8 9 100
6 A A A
D010 zoiiiiii
[C G 0 2} 16 A A A A A A A A A A
006 0010 0060 20 A A A A A A A A A 4
012 0020 0070 25 A A A A A A A A A A
016 0030 0080
020 0040 0090 32 A A A A A A A A A A4
gig 0050 0100

101



(.J AIGNEP Serie Actuators
Reference Standard
1907/2006 2011/65/CE 97/3/CE
REACHY + (PED)
LELE]
Pressures i Temperatures
1,5 bar (0.15 MPa) jl - -5°C (No freezing)
¢ 7 bar (0.7 MPa) i +60°C
Strokes (mm)
Serie oo SOk omm 15 20 30 40 50 75 100 125 150
6 A A A A A
CG o 4 0010
12 A A A A A A A
006 0010 0075 16 A A A A A A A A
o2 oo s 20 A A A A A A A A a4
016 0040 0150 25 A A A A A A A A A
020 0050
025
ACCESSORIES
Stroke adjuster at extension end Stroke adjuster at retraction end
> ()
8 2 .
° S
e S e
o (e}
s =
Code @ Code %]
CG04 006 SX05 6 CG04 006 DX05 6
CGO4 008 5X05 8 004008 Dx05 8
CG04.01 SX05 1 CG04 012 DX05 12
CGO4 016 5X05 16 CG04016 DX05 16
CGO4 020 5X05 20 004020 DX05 20
CG04 025 SX05 % CG04 025 DX05 25

Bar i Pressures i Temperatures i Reference Standard
0.5 bar (0.05 MPa) jl - -10°C | |
: 8 bar (0.8 MPa) +80°C L) 1907/2006 2011/65/CE 97/23/CE SILICON
| REAChY (PED) FREE
LELE]
RH SERIE - Rodless cylinder standard version
Serie @ mm Stroke
RH  Rodless Cylinder 016 @ (mm) Stroke (mm)
Cushioned Magnetic g;g 16 100 to 4400
040 25-63 100 to 5700
050
063

102



w AIGNEP Serie Actuators
RHV SERIE - Rodless cylinder with “V” edge slide system
Serie @ mm Stroke
RHV 0 2 5 0100
RHV  Rodless Cylinder 025 From 100 to 5700 mm
Cushioned Magnetic 032
040
050
RHL SERIE - Rodless cylinder with linear guiding system
Serie @ mm Stroke

RHL 0 3 2

0100

RHL  Rodless Cylinder 032 From 100 to 5700 mm
Cushioned Magnetic 040
050
063
ACCESSORIES
RCP RCP RCN RCN
FOOT FOOT SECTION SUPPORT SECTION SUPPORT
- “e * =
oD \“
Code @ Code ] Code @ Code ]
RCP 016 16 RCP 032 32 RCN 016 16 RCN 032 32
RCP 025 25 RCP 040 40 RCN 025 25 RCN 040 40
RCP 050 50 RCN 050 50
RCP 063 63 RCN 063 63
RCNG RCNN RCOL
MOBILE MID SECTION SUPPORT MOBILE MID SECTION SUPPORT ARTICULATED CARRIER
Code 4]
RCOL 016 16
Code 4] Code ] RCOL 025 25
RCNG 016 16 RCNN 016 16 RCOL 032 32
RCNG 025 25 RCNN 025 25 RCOL 040 40
RCNG 032 2 RCNN 032 32 RCOL 050 50
RCOL 063 63

SERIE DSH - MAGNETIC SWITCHES FOR RODLESS CYLINDERS

DSH

MAGNETIC SWITCHES - REED - 2 WIRE

Code

DSHOR 2F 25
DSH3 R 2F M8

-\ EMI

216 mm @25 mm @ 32; 40; 50; 63 mm

DSH
Characteristics Code
PVC-2,5MT DSHO H 3F 20
PVC - M8 CONNECTOR DSHO H 3F M8

MAGNETIC SWITCHES - PNP HALL - 3 WIRE

Characteristics
PVC-2MT
PVC - M8 CONNECTOR

103



foj AIGNEP Serie Actuators

Bar i Pressures : Temperatures
1 bar (0.1 MPa) jl - 0°C(-20 °C with dry air)
- © 10 bar (1 MPa) - +80°C

¢ Reference Standard

1907/2006 2011/65/CE 97/23/CE SILICON ATEX
REACH Y + (PED) FREE 94/9/CE
LETE
Serie @ mm Rotation
XRM  Male rotary cylinder with angle 032 90°
regulation +/-5° 040 180°
XRF  Female rotary cylinder 050 270°
with angle regulation +/- 5° 063 360
080
100

| Pressures i Temperatures =) | Reference Standard
 1bar (0.1 MPa) - 0°C (Notfrozen) 19072006 2011/65/cE
r (0.8 MP L +60°C 97/23/CE SILICON
: 8 bar (0.8 MPa) REACHY “ (PED) FREE
Serie @ mm
010
020
030
050
070
100

i Pressures n i Temperatures i Reference Standard

P 0 14 18 20 jl - -10°C © E

) 15 ] { +60°C L) 1907/2006 2011/65/CE 97/23/CE SILICON

LR REACH Y < (PED) FREE
max 7 10 : frats

Serie @ mm Stroke
RTO 3 S
010 090°
015 180°
020
030

104



@ AIGNEP Serie Actuators

i Reference Standard

i Temperatures
16 20 25 JL -10°C
i +60°C

: 1907/2006 2011/65/CE 97/23/CE SILICON
it ' | REACHY o (PED) FREE
7 : LEUES
Serie @ mm
Double Acting Magnetic 010
016
020
025

! Pressures n i Temperatures . i Reference Standard
- -10°C o §
& o ﬂ + 60 °c L) 1907/2006 2011/65/CE 97/23/CE SILICON

min | 15 1 : :
5 ’ | REAChY " (PED) FREE
< max 6 6 H LETE]

Serie @ mm

GR O 2 F

Double Acting Magnetic 010

i Reference Standard

. Pressures Temperatures
1 bar (0.1 MPa) jl - -10°C
i 6 bar (0.6 MPa) i +60°C

1907/2006 2011/65/CE 97/23/CE SILICON
REACHY' + (PED) FREE
LB
Serie @ mm
Double Acting Magnetic 010
016
020
025

105



foj AIGNEP Serie Actuators

¢ Pressures i Temperatures © Reference Standard
 1bar (0.1 MPa) jl -loc 1907/2006 2011/65/CE
r (0.6 MP, { +60°C 97/23/CE SILICON
 6bar (0.6 MPa) REACH +/ (PED) FREE
Serie @ mm
Double Acting Magnetic 010
016
020
025

Pressures i Temperatures : Reference Standard
- jl - -10°C f
2 i +60°C 1907/2006 2011/65/CE 97/23/CE SILICON
2 bar (0.2 MPa) ' i RFAChY + (PED) FREE
6 bar (0.6 MPa) =
232 +80
1 bar (0.1 MPa)
6 bar (0.6 MPa)
Serie @ mm
Double Acting Magnetic 025
032
040
050
063
080

DTo1 3 oo 3 oo 3 b2
MAGNETIC SWITCHES - REED - 2 WIRE MAGNETIC SWITCHES - PNP HALL - 3WIRE MAGNETIC SWITCHES - REED - 2 WIRE MAGNETIC SWITCHES - PNP HALL - 3WIRE

- 1
i i34m | i34m L “‘ L “‘
8 & 2,55:0,1 i 2,550,1 i
— — L —
04,25+0,1 04,25+0,1
Code Characteristics Code Characteristics Code Characteristics Code Characteristics
D101 R2M PU - 2MT DT02 P 2M PU - 2MT DCOTR2M PUR - 2MT DC02 P 2M PU - 2MT
DTOT R M8 PU - M8 CONNECTOR D702 P M8 PU - M8 CONNECTOR DCO1 R M8 PUR - M8 CONNECTOR DC02 P M8 PU - M8 CONNECTOR

106



Serie Actuators

(JAIGNEP

DCo4 DTEX

MAGNETIC SWITCHES - PNP HALL - 3 WIRE

DCo3
MAGNETIC SWITCHES - PNP HALL - 3 WIRE

&

MAGNETIC SWITCHES - PNP HALL - 3 WIRE

A~
3,05+0,1 3,05+0,1 5.4
L] L] SR
285201 7‘*7 _ 265201 7‘*7 _ 3.4105
F F A
04,2540, 04,25+0,1
Code Characteristics Code Characteristics Code Characteristics
DCO3 P2M PVC-2MT DC04 P 2M PVC-2MT DTEX03 P 2M PU - 2MT
DC0O3 P M8 PVC - M8 CONNECTOR DC04 P M8 PVC - M8 CONNECTOR
DSL1 DSL4 Bracket for DSL FOR MINICYLINDERS ISO 6432
MAGNETIC SWITCHES - REED - 2 WIRE MAGNETIC SWITCHES - PNP HALL - 3 WIRE AND CYLINDERS A95 SERIE
I
& & ol
.5.4203_ _5'42“_ ||| ¢ J,ll |
i E jA \ |
3.4:03 3.403 P—
{ t £
Code Characteristics Code Characteristics Code 4]
DSL1 C 225 PVC-2,5MT DSL4 N 225 PVC-2,5MT MFX 008 8
DSL1 M8 PVC - M8 CONNECTOR DSL4 M8 PVC - M8 CONNECTOR MFX 010 10
MFX 012 12
MFX 016 16
MFX 020 20
MFX 025 25
AFX 032 32
AFX 040 40
AFX 050 50
AFX 063 63
DSH2 DSH4 Bracket for DSH FOR MINICYLINDERS ISO 6432
MAGNETIC SWITCHES - REED - 2 WIRE MAGNETIC SWITCHES - PNP HALL - 3 WIRE
5.4:03 5.4:03
E j 1 E j 1
3.4:(3 3_4;«:
Code Characteristics Code Characteristics Code @
DSH2 R 2F 20 PVC-2MT DSH4 H 3F 20 PUR -2 MT MFH 012 12
DSH2 R 2F M8 PVC - M8 CONNECTOR DSH4 H 3F M8 PUR - M8 CONNECTOR MFH 016 16
MFH 020 20
MFH 025 25
DSNO DSN1 Bracket for DSN FOR CYLINDERS WITHTIE RODS
MAGNETIC SWITCHES - REED - 2 WIRE MAGNETIC SWITCHES - PNP HALL - 3 WIRE
¥ ¥ i i
] - ] - "ﬂ
7Y . 7Y - '
s
Code Characteristics Code Characteristics Code (4]
DSNOR 2F 20 PVC-2MT DSNT H 3F 20 PVC-3MT DSN2 XF 032T 32-100
DSN2 XF 125T 125-160
DSN2 XF 200T 200-250
PX DC
THREE WIRES EXTENSION SENSOR DC ADAPTER
—
Code Length Code Code
PX 2000 PUR 2MT DC 00001 DC 10001
PX 5000 PUR 5MT

107



AIGNEP

AIR TREATMENT UNIT

i Application

+ Pneumatic Automation

i« Compressed Air Circuit
« Compressors
- Compressed Air Pipeline

Bar i Pressures Temperatures i Reference Standard
. 15 bar (1.5 MPa) JL - -10°C | | :
: {4+50°C LaP 190772006 2011/65/CE 07/23/CE
REACH Y ...{ (PED)
SERIE FRL MINI
TO10 MINI
FILTER Code Size Thread Filtration Flow Rate
= FILO 1/8 20 um 800 NI/min
II FILO 1/4 20 um 800 NI/min
R Code Thread Fi;t::;i:n Co:)::lhear:]s;te
Y N T — — s N [
TO010 R 2] (0] (1) 000

02=G1/8 1=5pum 1 = Semiautomatic
03=G1/4 2=20pum Manual
3=50pm
TO15 MINI
COALESCER FILTER Code Size Thread Filtration Flow Rate
— T015 002 401 000 FCO 1/8 0.01 um 450 NI/min
'I' T015 003 401 000 FCO 1/4 0,01 pm 450 NI/min
Filtration Condensate
o Code hi=ad grade exhaust

3 e N TN s e N [ N
= T o015 o/ (0 3 4 (0 (1) 0 (ollo
02=G1/8 4=0,01 yum 1 = Semiautomatic
03=G1/4 Manual
T020 MINI
REGULATOR Size Thread Regulation Flow Rate
G 1/8 0+ 8 bar 600 NI/min
T02 1/4 0+ 8 bar 600 NI/min
. Code Thread Beoulation
range

s N )
0 (0o 3
02=G1/8
03=G1/4

|
N
o
o

+4 bar
+8 bar
+12 bar

oo
© o o o

A wWN =

108



Serie FRL

(JAIGNEP

T070 MINI
QUICK EXHAUST REGULATOR Code Size Thread Regulation Flow Rate
T070 002 030 000 REG.SRAP.0 1/8 0+ 8 bar 600 NI/min
T070 003 030 000 REG.SRAP.0 1/4 0+ 8bar 600 NI/min
Code Thread Beoulation
range
02=G1/8 1=0+2bar
03=G1/4 2=0+4bar
3=0+8 bar
4=0+12bar
T080 MINI ;
WATER REGULATOR Code Size Thread Regulation QH
T080 002 030 000 WATER REG. 0 1/8 0+ 8 bar
T080 003 030 000 WATER REG. 0 1/4 0+ 8bar QN DIELAND
Code Thread Beouiation
range
02=G1/8 1=0+2bar
03=G1/4 2=0+4bar
3=0+8 bar
4=0+12bar
T030 MINI
FILTER REGULATOR Code Size Thread Filtration Regulation Flow Rate
T030 002 231 000 FRO 1/8 20pm 0+ 8 bar 600 NI/min
T030 003 231 000 FRO 1/4 20um 0+ 8bar 600 NI/min
Code Thread Filtration Regulation Condensate
grade range exhaust System
02=G1/8 1=5pum 1=0+2 bar 1 = Semiautomatic
03=G1/4 2=20pum Manual
3=50pm
T040 MINI
LUBRICATOR Code Size Thread Flow Rate
i T040 002 000 100 LUBO 1/8 700 NI/min
T T040 003 000 100 LUBO 1/4 700 NI/min
Code Thread illcacing
System
B 02=G1/8 1=Manual
1 03=G1/4

109



Serie FRL

(JAIGNEP

T100 MINI FR+L
Code Size Thread Filtration Regulation Flow Rate
T100 002 231 100 FR+LO 1/8 20pm 0-8 bar 260 NI/min
T100003 231 100 FR+LO 1/4 20um 0-8 bar 260 NI/min
Filtration Regulation Cond Oil loading
Eode hisad grade range exhaust System System
02=G1/8 1=5pm 1=0+2bar 1=Semiautomatic 1= Manual
03=G1/4 2=20pum  2=0+4bar Manual
3=50pm :
T200MINI F+R+L
Code Size Thread Filtration Regulation Flow Rate
T200 002 231 100 F+R+LO 1/8 20 pm 0-8 bar 280 NI/min
T200 003 231 100 F+R+L O 1/4 20 um 0-8 bar 280 NI/min
Code Thread Filtration Regulation Condensate Oil loading
grade range  exhaust System System
02=G1/8 1=5pm 1=0+2bar 1=Semiautomatic 1= Manual
03=G1/4 2=20um  2=0+4bar Manual
3=50pm :
T400 MINI  F + FC
Code Size Thread Filtration Flow Rate
T400 002 401 000 FIL+FCO 1/8 S5um +0.01pm 370 NI/min
T400 003 401 000 FIL+FCO 1/4 S5um +0.01pm 370 NI/min
i
i
Filtration Condensate
hisad grade exhaust System

" Code

o/0 3 a4 (o (1

o/loo

1 = Semiautomatic

02=G1/8 4=0.01pm
03=G1/4 Manual
T450 MINI  FR + FC
Code Size Thread Filtration Regulation Flow Rate
T450 002 431 000 FR+FCO 1/8 0+ 8 bar 5um +0.0Tum 370 NI/min
T450 003 431 000 FR+FCO 1/4 0+ 8bar 5um +0.0Tum 370 NI/min
Code Thread Filtration Regulation Condensate
grade range  exhaust System
02=G1/8 4=001pm 3=0+8bar 1=Semiautomatic
03=G1/4 Manual

110



Serie FRL

(JAIGNEP

T010
FILTER Code Size Thread Filtration Flow Rate Exhaust
T010 103 201 000 FIL 1 1/4 20 ym 1900 NI/min S/IM
T010 104 201 000 FIL1 3/8 20 ym 1900 NI/min S/IM
T010 204 201 000 FIL2 3/8 20 ym 3750 NI/min S/IM
T010 205 201 000 FIL2 1/2 20 ym 3750 NI/min S/IM
T010 205 202 000 FIL2 1/2 20 um 3750 NI/min A
T010 307 201 000 FIL3 3/4 20 um 6250 NI/min S/M
T010 309 201 000 FIL3 1" 20 um 6250 NI/min S/M
T010 309 202 000 FIL3 1" 20 ym 6250 NI/min A
. Filtration Condensate
CoCE S8 [br=ad grade exhaust System
02=G1/8 1=5pm 1 = Semiautomatic
FRLT —» 03=0 yg 2=20pm Manual
FRL2 0azeVe 3 SOum e FL2 - FL3
Rty (only for FiL2 - FIL3)
05=G1/2
FRL3 —» 07=G3/4
09=G1"
00 = Without end Units
T015
COALESCER FILTER Code Size Thread Filtration Flow Rate Exhaust
T015 103 401 000 FC1 1/4 0.01 pm 700 NI/min S/IM
TO15 104 401 000 FC1 3/8 0.01 um 700 NI/min S/IM
T015 204 401 000 FC2 3/8 0.01 pm 725 NI/min S/IM
T015 205 401 000 FC2 1/2 0.01 um 725 NI/min S/M
T015 307 401 000 FC3 3/4 0.01 pm 920 NI/min S/IM
T015309401 000 FC3 1" 0.01 um 920 NI/min S/M
. Filtration Condensate
Gerils Size [hread grade exhaust System
— 4=0.01 ym 1= Semiautomatic
FRL1 > 8131 = 8 % Manual
04=G3/8
FRL2 —» 05-G1/2
07=G3/4
FRL3 —p> 37=230
T020
REGULATOR Code Size Thread Filtration Flow Rate
T020 103 030 000 REG 1 1/4 0+ 8 bar 2050 NI/min
T020 104 030 000 REG1 3/8 0+ 8bar 2050 NI/min
T020 204 030 000 REG 2 3/8 0+ 8bar 3200 NI/min
T020 205 030 000 REG 2 1/2 0+ 8bar 3200 NI/min
T020 307 030 000 REG3 3/4 0+ 8bar 6200 NI/min
T020 309 030 000 REG 3 1" 0+ 8bar 6200 NI/min
Code Size Thread Reotlaticn
range
FRL1T —p 8538:};& 1= 0s2bar
04=G3/8 2=0+4 bar
FRL2 —p 8438;% 3 =0+8 bar
05=G1/2 4=0+12 bar
05=G1/2
FRL3 —» 07=G344
09=G1

00 = Without end Units

111



(.J AIGNEP Serie FRL

T030
FILTER REGULATOR Code Size Thread Filtration Regulation Flow Rate Exhaust
T030 103 231 000 FR1 1/4 20 ym 0+ 8bar 1650 NI/min S/IM
T030 104 231 000 FR1 3/8 20 ym 0+ 8bar 1650 NI/min S/M
T030 204 231 000 FR2 3/8 20 ym 0+ 8bar 3000 NI/min S/IM
T030 205 231 000 FR2 1/2 20 ym 0+ 8bar 3000 NI/min S/M
T030 205 232 000 FR2 1/2 20 um 0+ 8bar 3000 NI/min A
T030 307 231 000 FR3 3/4 20 ym 0+ 8bar 4500 NI/min S/IM
T030 309 231 000 FR3 1" 20 um 0+ 8bar 4500 NI/min S/M
T030 309 232 000 FR3 1" 20 um 0+ 8 bar 4500 NI/min A
Code Size Thread Filtration Regulation Condensate
grade range exhaust System
02= g ”?1 1=5um 1=0+2bar 1=Semiautomatic
FRLT 82} —G3/8 2=20pum  2=0+4bar Manual
03= g yg 3=50pm 3=0:8bar 2= Automatic
FRL2 —p oe=g3s 4=0+12 bar (only for FIL2 - FIL3)
05=G1/2
FRL3 —» 07=G3/4

09=G1"
00 = Without end Units

T040
LUBRICATOR Code Size Thread Flow Rate Exhaust
T040 103 000 100 LUB1 1/4 2600 NI/min M
T040 104 000 100 LUB 1 3/8 2600 NI/min M
a T040 104 000 200 LUB1 3/8 2600 NI/min A
T040 204 000 100 LUB 2 3/8 5600 NI/min M
T040 205 000 100 LUB2 1/2 5600 NI/min M
T040 205 000 200 LUB2 1/2 5600 NI/min A
T040 307 000 100 LUB3 3/4 8200 NI/min M
T040 309 000 100 LUB3 1" 8200 NI/min M
T040 309 000 200 LUB3 1" 8200 NI/min A
T040 309 000 300 LUB3 1 8200 NI/min M2L
. Oil loading
Code Size Thread System
02361/8 1 =Manual
FRUT 8?1 = 8 ;;g 2 = Automatic
03=G1/4 vacuum operated
FRL2 —p- 04= g ?;g 3 =Two steps sensor
05=G1/2 manual (only for LUB3)

FRL3 — 07=G3/4
09=G1

00 = Without end Units

TO50
SHUT OFF VALVE Code Size Thread Flow Rate Drive
M = Manual T050 103 000 010 V3V 1/4 1850 NI/min M
T050 104 000 010 V3V1 3/8 1850 NI/min M
T050 104 000 020 V3V 3/8 1850 NI/min EP
T050 104 000 030 V3V1 3/8 1850 NI/min p
T050 204 000 010 V3v?2 3/8 3000 NI/min M
T050 205 000 010 V3v2 1/2 3000 NI/min A
T050 205 000 020 V3v?2 1/2 3000 NI/min EP
T050 205 000 030 V3v?2 1/2 3000 NI/min P
T050 307 000 010 V3v3 3/4 5200 NI/min M
P = Pneumatic T050 309 000 010 V3v3 1" 5200 NI/min M
T050 309 000 020 V3V3 1" 5200 NI/min EP
T050 309 000 030 V3v3 1" 5200 NI/min p
Code Size Thread SreRifelia

driver system

1 o/lo/lo 0/10]

1= Manual
2 = Electropneumatic
3 = Pneumatic

* EP = Electropneumatic
Standard without
solenoid

02
FRL1T —Pp 03
04

FRL 2 04
—>
05

05
FRL3 —» 07
09=G1"

00 = Without end Units

112



(JAIGNEP

Serie FRL

T060

SOFT START VALVE Code Size

WITH QUICK EXHAUST T060 104 000 002 APE 1

sed T060 204 000 002 APE 2
T060 205 000 002 APE 2
T060 307 000 002 APE 3
T060 309 000 002 APE 3

NB: According to the Directive ATEX soft start valves cannot be used in potentially explosive environment.

Thread
3/8

Drive
EP

EP
EP

EP
EP

Flow Rate
1600 NI/min

2050 NI/min
2050 NI/min

3400 NI/min
3400 NI/min

Code Size Thread Driver System
02=G1/8 2=El i
FRL 1 92=81E lectropneumatic
04=G3/8
FRL2 —p ngg;jg
05=G1/2
05=G1/2
FRL3 —® 07=G3/4
09=G1"
00 = Without end Units
T100 FR+L
Code Size Thread Filtration Regulation Flow Rate Exhaust
T100 103231 100 FR+L1 1/4 20 um 0+ 8bar 1100 NI/min SIM
T100 104231 100 FR+L1 3/8 20 um 0+ 8bar 1100 NI/min S/IM
T100 204 231 100 FR+L2 3/8 20 um 0+ 8bar 2500 NI/min SIM
T100 205231 100 FR+L2 1/2 20 um 0+ 8bar 2500 NI/min S/IM
T100 205 232 100 FR+L2 1/2 20 ym 0+ 8 bar 2500 NI/min A
T100307 231 100 FR+L3 3/4 20 um 0+ 8bar 4300 NI/min S/IM
T100309 231 100 FR+L3 1" 20 ym 0+ 8bar 4300 NI/min S/IM
T100309 232 100 FR+L3 1" 20 um 0+ 8bar 4300 NI/min A
Code size Thread Filtration Regulation Condensate Oil loading
grade range exhaust System System
FRL 1 g% = g %% 1=5um 1=0+2bar 1= Semiautomatic 1 =Manual
04=G3/8 2=20pm  2=0+4 bar Manual 2 = Automatic
03=G1/4 3=50um 3=0+8bar 2 =Automatic vacuum-operated
FRL2 —» 8? = g ?;g 4=0-12bar (only for 3 = Two steps sensor
05=G1/2 FRL2-FRL3) manual
FRL3 —® 07=G3/4
09=G1"
T110 V+FR+L
Code Size Thread Filtration Regulation Flow Rate
1110103231110 V4+FR+L 1 1/4 20 um 0+ 8bar 800 NI/min
T110104231 110 V+FR+L 1 3/8 20 um 0+ 8bar 800 NI/min
1110204231 110 V+FR+L 2 3/8 20 um 0+ 8bar 2100 NI/min
T110205231 110 V+FR+L 2 1/2 20 um 0+ 8bar 2100 NI/min
1110307231110 V+FR+L 3 3/4 20 um 0+ 8bar 3500 NI/min
T110309 231110 V+FR+L 3 1" 20 um 0+ 8bar 3500 NI/min
q q q Oil Shut-off
Code Size Thread F|Itra(tj|on Regllatiog Chondensate loading  valve Driver
grade range exhaust System System System
FRL 1 83 = g Vﬁ 1=5pm 1=0+2bar 1=Semiautomatic 1=Manual 1 = Manual
04=0G3/8 2=20um  2=0+4bar Manual 2 = Automatic
03=G1/4 3=50pum 3=0+8bar 2= Automatic vacuum
FRL2 —p 04=G3/8 H e (only for operated
05=G172 A=0:12bar b)) FRL3
05=G1/2 3 ) 3 =Two steps
FRL3 —» 07=G3/4 sensor
09=G1 manual

113



Serie FRL

(JAIGNEP

T200 F+R+L
Code Size Thread Filtration Regulation Flow Rate
T200 103 231 100 F+R+L 1 1/4 20 um 0+ 8bar 1000 NI/min
T200 104 231 100 F+R+L 1 3/8 20 pm 0+ 8 bar 1000 NI/min
T200 204 231 100 F+R+L 2 3/8 20 um 0+ 8bar 2400 NI/min
T200 205 231 100 F+R+L 2 1/2 20 pm 0+ 8bar 2400 NI/min
T200 307 231 100 F+R+L 3 3/4 20 um 0+ 8bar 4250 NI/min
7200309 231 100 F+R+L 3 1" 20 um 0+ 8bar 4250 NI/min
Code size Thread Filtration Regulation Condensate Oil loading
grade range exhaust System System
FRL1 8% = g Mﬁ 1=5um 1=0+2bar 1=_Semiautomatic 1 =Manual
04=0G3/8 2=20um  2=0+4bar Manual 2 = Automatic
FRL 2 8‘?{ = (G-i ygf 3=50um 3=0=8bar 2 =Automatic vacuum-operated
> 0:Zeis 4=0+12bar (only for
05=G1/2 FRL2-FRL3)
FRL3 —®» 07=G3/4
09=G1"
T210 V+F+R+L
Code Size Thread Filtration Regulation Flow Rate
T210103 231110 V+F+R+L 1 1/4 20 um 0+ 8 bar 1000 NI/min
1210104231110 V+F+R+L 1 3/8 20 um 0+ 8bar 1000 NI/min
T210204 231110 V+F+R+L 2 3/8 20 um 0+ 8 bar 2200 NI/min
1210205231110 V+F+R+L 2 1/2 20 um 0+ 8bar 2200 NI/min
T210307 231110 V+F+R+L 3 3/4 20 um 0+ 8 bar 3900 NI/min
1210309231110 V+F+R+L 3 1" 20 um 0+ 8bar 3900 NI/min
. Filtration Regulation Condensate Oi_l Sh“t'°_ff
Code Siz8 UGIGEE grade range exhaust System I;;‘:'e':g valsvyestl)el;lr:ler
02=G1/8 1=5pm 1=0+2bar 1 =Semiautomatic 1 = Manual 1= Manual
—p 03=G1/4
FRL1 04=G 3;3 2=20pm 2=0+4 bar Manual 2 = Automatic
03=G1/4 3=50um  3=0+8bar 2= Automatic vacuum
FRL2 —p 04=G3/8 W 0- (only for operated
05=G1/2 4=0+12 bar
05=G1/2 FRL2-FRL3)
FRL3 —®» 07=G3/4
09=G1"
T300 F+L
Code Size Thread Filtration Flow Rate
T300 103 201 100 F+L1 1/4 20 pm 1350 NI/min
T300 104 201 100 F+L1 3/8 20 um 1350 NI/min
T300 204 201 100 F+L2 3/8 20 pm 3200 NI/min
T300 205 201 100 F+L2 1/2 20 um 3200 NI/min
T300 307 201 100 F+L3 3/4 20 ym 5000 NI/min
T300309 201 100 F+L3 1" 20 um 5000 NI/min
A Filtration Condensate Oil loading
Code Siz8 [hesac grade exhaust System System
FRL1 8% = 8 }ﬁ 1=5pum 1 = Semiautomatic 1 =Manual
’ 04=G3/8 2=20pm Manual 2 = Automatic vacuum-operated
03=G1/4 3=50pm 2= Automatic 3 =Two steps sensor manual
> i 0 step! a
FRL 2 04=G3/8 -
0:Z2i5 (only for FL2 - FL3)
» 05=G172
FRL3 07=G3/4
09=G1"

114



(JAIGNEP

Serie FRL

T400 FIL +FC

Code

T400 103 401 000
T400 104 401 000

T400 204 401 000
T400 205 401 000

T400 307 401 000
T400 309 401 000

Code

Size
FIL+FC1
FIL+FC1

FIL+FC 2
FIL+FC 2

FIL+FC3
FIL+FC 3

Thread

Size

1

1/4
3/8

3/8
1/2

3/4
1

Thread

Filtration
5um+0.01 um
5pm+0.01 um

5um+0.01 um
5pm+0.01 um

5um+0.01 ym
5pm+0.01 um

Filtration
grade

Flow Rate

600 NI/min
600 NI/min

660 NI/min
660 NI/min

910 NI/min
910 NI/min

Condensate
exhaust System

4/ (o] 1]

03=G1/4 4=0.01pm 1 = Semiautomatic
FRLT —» 02-G3/8 Manual
—» 04=G3/8
FRL2 05=G1/2
FRL3 > 97=03/4
T450 FR+FC
Code Size Thread Regulation Filtration Flow Rate
T450 103 431 000 FR+FC 1 1/4 0+ 8bar 5um+0.01 pm 600 NI/min
T450 104 431 000 FR+FC 1 3/8 0+ 8bar 5um+0.01 pm 600 NI/min
T450 204 431 000 FR+FC2 3/8 0+ 8bar S5um+0.01um 660 NI/min
T450 205 431 000 FR+FC2 1/2 0+ 8bar 5um+0.01 um 660 NI/min
T450 307 431 000 FR+FC3 3/4 0+ 8bar 5pm+0.01 pm 910 NI/min
T450 309 431 000 FR+FC3 1" 0+ 8 bar 5um+0.01 pm 910 NI/min
. Filtration Regulation Condensate
Code Size Thread grade range  exhaust System

1l o 3

4=0.01pm 3=0+8bar

1

1 = Semiautomatic

0/lo/0]

FRLT - 03=G 14 Manual
04=G3/8
FRL2 —> 05-Gin2
07=G3/4
FRL3 —p 97=03/
ACCESSORIES FRL
T500 T510 T525 T535
CONNECTION PLATE CONNECTION UNIT BOUL FOR AUTOMATIC CONDENSED EXAUST BOUL FOR AUTOMATIC OIL LOADING SYSTEM
T500 000 000 000 FRLO T510 102 000 000 FRL1 1/8 T525 200 002 000 FRL2 T535 100 000 200 FRL 1
T500 100 000 000 FRL1 T510 103 000 000 FRL1 1/4 T525 300 002 000 FRL3 T535 200 000 200 FRL2
T500 200 000 000 FRL2 T510 104 000 000 FRL1 3/8 T535 300 000 200 FRL3
T500 300 000 000 FRL3 T510 203 000 000 FRL2 1/4
T510 204 000 000 FRL2 3/8
T510 205 000 000 FRL 2 1/2
T510 305 000 000 FRL3 1/2
T510 307 000 000 FRL 3 3/4
T510 309 000 000 FRL3 1"

115



Serie FRL

(JAIGNEP

T505
ENDS UNIT

T520
BOWL FOR FILTER UNIT

T530
BOWL FOR LUBRICATOR UNIT

¢ .1 0

T540

FILTER RING DEVICE

ot |

T505 102 000 000 FRL 1 1/8 T520 000 001 000 FRLO T530 000 000 100 FRL O T540 000 100 000 FRLO 5um
T505 103 000 000 FRL1 1/4 T520 100 001 000 FRL 1 T530 100 000 100 FRL1 T540 000 200 000 FRLO 20 um
T505 104 000 000 FRL 1 3/8 T520 200 001 000 FRL 2 T530 200 000 100 FRL 2 T540 000 300 000 FRLO 50 um
T505 203 000 000 FRL 2 1/4 T520 300001 000 FRL3 T530 300 000 100 FRL3 T540 100 100 000 FRL1 5um
T505 204 000 000 FRL2 3/8 T540 100 200 000 FRL1 20 um
T505 205 000 000 FRL 2 1/2 T540 100 300 000 FRL 1 50 um
T505 305 000 000 FRL 3 1/2 T540 200 100 000 FRL2 5um
T505 307 000 000 FRL 3 3/4 T540 200 200 000 FRL2 20 pm
T505 309 000 000 FRL3 1" T540 200 300 000 FRL 2 50 um
T540 300 100 000 FRL3 5um
T540 300 200 000 FRL3 20 pm
T540 300 300 000 FRL 3 50 um
T545 T560 T580 T550
COALESCER FILTER OIL FEEDING DEVICE REGULATING PLUG UNIT VENTURI UNIT
= ’ 3 =
= &
T545 000 000 000 FRLO T560 100 000 000 FRLO T580 000 000 000 FRL O T550 000 000 000 FRLO
T545 100 000 000 FRL1 T560 100 000 000 FRL 1 T580 100 000 000 FRL1 T550 100 000 000 FRL 1
T545 200 000 000 FRL2 T560 100 000 000 FRL2 T580 200 000 000 FRL2 T550 200 000 000 FRL2
T545 300 000 000 FRL 3 T560 100 000 000 FRL 3 T580 300 000 000 FRL 3 T550 300 000 000 FRL3
T570 T590 DIS00 FILO4
REGULATING DEVICE SHUTTER + FILTER UNIT AIR DISTRIBUTOR SINTERED FILTER
i B S a ‘
e = ‘5
# . ‘ i"#-“rl
E om0
$ ' — %
T570 000 010 000 FRL O 0+ 2 bar T590 000 100 000 FRLO 5um DIS00 001 100 NE FRL O FILO4 003 805 SC FRLO 5um
T570 000 020 000 FRLO 0+ 4 bar T590 000 200 000 FRLO 20 um DIS00 108 000 NE FRL1 FILO4 003 820 SC FRLO 20 um
T570 000 030 000 FRLO 0+ 8 bar T590 000 300 000 FRLO 50 pm DIS00 208 000 NE FRL 2 FILO4 003 850 SC FRLO 50 um
T570 000 040 000 FRLO 0+12bar T590 100 100 000 FRL1 5um DIS00 308 000 NE FRL3 FILO4 101 005 SC FRL1 5um
T570 100 010 000 FRL1 0+ 2 bar T590 100 200 000 FRL1 20 um FILO4 101 020 SC FRL1 20 um
T570 100 020 000 FRL 1 0+ 4 bar T590 100 300 000 FRL 1 50 pm FILO4 101 050 SC FRL 1 50 um
T570 100 030 000 FRL1 0+ 8bar T590 200 100 000 FRL2 5um FILO4 201 005 SC FRL2 5um
T570 100 040 000 FRL 1 012 bar T590 200 200 000 FRL2 20 um FILO4 201 020 SC FRL2 20 um
T570 200 010 000 FRL 2 0+ 2 bar T590 200 300 000 FRL 2 50 pm FILO4 201 050 SC FRL 2 50 um
T570 200 020 000 FRL2 0+ 4 bar T590 300 100 000 FRL3 5um FILO4 301 005 SC FRL3 5um
T570 200 030 000 FRL2 0+ 8bar T590 300 200 000 FRL3 20 um FILO4 301 020 SC FRL3 20 um
T570 200 040 000 FRL 2 0+12bar T590 300 300 000 FRL 3 50 ym FILO4 301 050 SC FRL 3 50 um
7570300 010 000 FRL3 0+ 2 bar
T570 300 020 000 FRL3 0+ 4 bar
T570 300 030000 FRL 3 0+ 8 bar
T570 300 040 000 FRL3 0+12bar

116



{9JAIGNEP Serie FRL
REGO06 REGO09 REG16
REGISTER SPRING MEMBRANE UNIT CLAMP BRACKET
REG06 005 401 SC FRL O 0+ 2 bar REG09 001 700 SC FRLO REG16 005 000 NE FRLO
REG06 005 402 SC FRLO 0+ 4 bar REG09 101 700 SC FRL 1 REG16 105 000 NE FRL1
REGO6 005 403 SC FRL O 0+ 8 bar REG09 201 700 SC FRL 2 REG16 205 000 NE FRL 2
REG06 005 404 SC FRLO 0+ 12 bar REG09 301 700 SC FRL3 REG16 305 000 NE FRL3
REG06 105 401 SC FRL 1 0+ 2 bar
REGO6 105 402 SC FRL 1 0+ 4 bar
REG06 105 403 SC FRL1 0+ 8bar
REG06 105 404 SC FRL 1 0+ 12 bar
REGO6 205 401 SC FRL 2 0+ 2 bar
REG06 205 402 SC FRL2 0+ 4 bar
REG06 205 403 SC FRL2 0+ 8 bar
REGO6 205 404 SC FRL 2 0+ 12 bar
REG06 305 401 SC FRL3 0+ 2 bar
REG06 305 402 SC FRL 3 0+ 4 bar
REGO6 305 403 SC FRL 3 0+ 8bar
REG06 305 404 SC FRL3 0+ 12 bar
MANOMETRES
MANO1/MANO02 MANO03/MANO04 MANO5 MANO06
MANOMETER BACK CONNECTION MANOMETER BOTTOM CONNECTION MANOMETER BACK CONNECTION, MANOMETER BACK CONNECTION,
PANEL MOUNT WITH BRACKET 3 HOLES CHROMED FLANGE
MANO1T N2 020 000 0+ 4 bar MANO3 N2 050 000 0+ 6 bar MANO5 N2 020 000 0+ 4 bar MANO6 N2 020 000 0+ 4 bar
MANOT N2 050 000 0+ 6 bar MANO3 N2 040 000 0+ 12 bar MANO5 N2 050 000 0+ 6 bar MANO6 N2 050 000 0+ 6 bar
MANOT N2 060 000 0+ 10 bar MANO4 N2 040 000 0+ 12 bar MANO5 N2 060 000 0+ 10 bar MANO6 N2 060 000 0+ 10 bar
MANO1T N2 040 000 0+ 12 bar MANO5 N2 040 000 0+ 12 bar MANO6 N2 040 000 0+ 12 bar
MANO2 N2 050 000 0+ 6 bar
MANO2 N2 040 000 0+ 12 bar
PR02 [ New ]
PRESSURE SWITCHES
2 PNP + Analog Output (1~5V) 2 PNP + Analog Output (4~20mA) 2 PNP + Copy Function
i P DC(+) (Brown) < DC(+)(Brown) - DC(+) (Brown)
- %4 % % | ouneae l X Ly Analog output l ERERINT l
= - {Orange) =
Y Y] ‘. o ]ﬂ' g |1 0UT2(White) = g | L« x o[fﬂg&ack) = g | | o OUT2(White) =
" 5[ | Analog utput DC S OUT2(White) DC k< Copy function o
L (Orange) 1249 o 1249 el i
DC(-)(Blue) ) DC(-)(Blue) DC(-)(Blue) )
MOUNTING BRACKET PANEL MOUNT ADAPTER + FRONT PROTECTIVE LID
PR0O2B1 PR02B2 PR02B3
.
o

425

117



AIGNEP

Distribution system for compressed air,
inert gases and vacuum

MOVE THE AIR POWER

. Laodi il Catalog®
Rlch‘elg:t“catalogue

118



AIGNEP

Fluid Solenoid valves

e
Kata ellu
pemande de catalogué
solicitud de catdlog®
> o de catdlog® * L

Solicitagdo

i

L -
e

Kl

| -

119



AIGNEP






(+JAIGNEP

(JAIGNEP

. AIGNEP SPA

. Via Don G. Bazzoli - 34
: 25070 Bione (BS)

¢ ITALY

§ T:  +390365896626
: F: +390365896561

aignep.it@aignep.com

(AIGNEP

: AIGNEP IBERICA SA

: Pol. Ind. el Tortuguer “Can Prat”

: Naves 23y 24 08691

¢ Monistrol de Montserrat - Barcelona
: SPAIN

: T: +34938284736

i F: +34938284432

: aignep.es@aignep.com

(JAIGNEP

: AIGNEP DO BRASIL COMERCIO DE

: COMPONENTS PARA AUTOMACAO LTDA
- Rua Campos Mello, 185

. Vila Mathias - 11015-011 - Santos/SP

: BRASIL

© T +55132138-4049
©F +55132138-4052

aignep.br@aignep.com

(JAIGNEP

i AIGNEP USA LLC

: 7121 Loblolly Pine Bivd
. Fairview, TN 37062

P USA.

DT +1615771-6650
i F: +1615-771-0926

aignep.usa@aignep.com

(AIGNEP

: AIGNEP AG

¢ Industriestrasse 22A
: Ch-2545 Selzach

: SWITZERLAND

i T +41323420909
S F: +41323420011

aignep.ch@aignep.com

(JAIGNEP

: AIGNEP FRANCE SARL

2, Avenue des Ameéthystes
: 44338 Nantes Cedex 3

: FRANCE

© T 4330272242650
P F: +330272242651

aignep.fr@aignep.com

www.aignep.com

(JAIGNEP

AIGNEP China

General Agent

Wouxi Dajie Technolgoy
Wouxi,Jiangsu,China.

T:  +86 510 8540 4448
F:  +86 5108540 4498

aignep.cn@aliyun.com






